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1. (el mef]
Attention all first year students: Life at a university can be DE MAMSO|A: chst e §lo] & = T olX of
demanding and even stressful if you do not know what to AIBHR| 25 U2 AEYAE YIS e QELICH a2iA
expect. That is why the Students Affairs Office will be offering ShAl MBIS0ME M2 SH(7F ARKE7| ot 2o
a special Freshmen Orientation this weekend before the 8 UYY eRlgolMdS JiEE o-ULICE FAloh=
semester begins. Students who attend will get to meet the SIMSS Zt 2 Rut SHMXER| 5| PAY 2 ZmA
head of each department, members of the Student Council, ot 2l ofShA At 20| S, 12|1 o2f20| st
representatives from campus fraternities and sororities, and Moz ERR sh= HEHE HIH FT= ARISS g 4
other guests who can provide helpful information about what QBLICE ESH CHA HE| L CH2 At SHALE QUO{ AlQIAM
you can expect as a university student. We will also hold a 2207z M2 ZleliE 4 A= 7137t 2 AYLICE of
dance and other social events so that freshmen will have a H Qz[RlE|0|Me Saf, 3|
chance to fraternize with one another. With this orientation, arst|ct
we hope that
(a) freshmen will be adequately prepared for their college (@) AUYMSO| Ce MEs & ZHsP|S
experience (b) AMUYS0| XHele] Mgt Of2f =|ofl chalf & Olshat
(b) freshmen will understand better about their majors and A =7I1E
future careers (c) BE Aldo| 259 HEE &2 JI8IE ZIIE
(c) all freshmen will have a chance to vote for their (d) MYdS0| Sl fI3|9| HAlS =57 I1E
representatives
(d) freshmen will be aware of rules set by the Student Council
[ai&] tist dlds et 2z|H|0[MS JhAIGiCh= SXI0|Tt BiZiol= 2Wed @2|QE|018S JHzloh= SX0] S0{710F St
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[27] 24] (o) SEEX| 42 Ligolch [Zo 4] AlgUd o 2a|AE|olM OfLy
(c) HESERE =22 = A0IX| tEsle A2 UESHOES
OpLCH, eS|
(d) TEe 2 2 25 oLt B4 g2 OfLh 7t
[of2l] demanding X|LIZ! BlE representative tHEX} fraternity ESH At 22 sorority {5t At 28

fraternize 2IZSHXICH adequately ZESHA

2. [tiel me]

In a novel attempt to help curb Shanghai’s jaywalking
problem, the city’s officials have recently enacted a program
that . Last year alone, about 700,000
volunteers helped direct traffic at 500 crossroads in the city.
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Because it is still the city’s police who act as crossing guards ME| AEXOI nE oM Q&2 5l AIREAKIE Z=5|
and oversee the volunteers, the extra number of guards = A2 EAQ ZHO|ZE 0] FIIAQI UAIFE0| AEN
does not actually provide much more monitoring, but the oz Yo Atz Fix| Kt ULt o] Z2aoll= 7Hct
program has another major benefit. “Once you are involved, 2F ZFo| o ASto| Alel EAIXF Ma Chunleis “UEt
you keep the rules in mind,” Shanghai official Ma Chunlei 0] 230 | WE TS A ot 2t
explained. “The next time you cross the road, you will glance 0 MHACE ‘TR0 22 HE = ASSRE 24 2 A
at the traffic lights first.” Ma said the most important thing Ut Maol ofstH 7Ha 525t H2 0| AFASAKIE0]

=)
X|d 7k5d0| =0t Elck= Ao|ck

was that these volunteers are now more likely to follow oz £ HHs

crossing laws.

(a) encourages citizens to report jaywalking to police (a) Al2IS0| Rt &S AFol| Must=S Xelot=

(b) allows citizens to be a police officer for a day (b) Al2IS0| YUY AZF &S SI== o=

(c) make citizens observe the crossing laws (0) AIRIE0| =2 HHE X)7|=2 sh=

(d) allows citizens to volunteer as temporary crossing guards (d) ARIS0| YA IS =R XM SAIS == =
[aH] S 2 ZHIE silZ5H| ol &stolollM XH SAIKIS0| ZHE =2 £2 wEE X7|=E o= Z2aUs ZRRiC=

LHZOolCt, BIZH H SAKIE 2ot ZES &

IZloll= 22 MK o| Sojslof BiLt, mRIo| B AploRRE| X}
x

[27] 2M] (o) R gEts Must= A0| otLlet HAlske A [Zo 74]  Hslolo Rt &
olct, SC 2t X AL
(o) Y BHO| == A2 OfLCh 28N g1t
(c) 2= HrE X7 U 2233 XpHel =5 38X g1t
2 OtLct

[o12] curb HHSICt  jaywalking &t @ enact AIASICI  observe £46iCt  temporary ZAIXC

[chel mtef]
A health study has revealed that alcohol consumption at an Aol oigt st Aol 2l ofgl Ltolel X7t
early age . Children who drink by the age of = AAo| ZeiRoh 124t 13
12 or 13 are more likely to suffer employment problems, abuse Al Ltolof £x2 sH= 010|S2 AQI0| EHE ff
other drugs, and commit criminal and violent acts once they & 22X, o= gE, Hd =2 #3 59 =XME A
reach adulthood. Students who had heavily used alcohol by the = ItsMo| o ECf, 78R D= 232 of S
7th grade are 19 times more likely than nondrinkers to be MES H| SF sHMECt 0iF EXS SLE 4B &
weekly smokers or hard drug users and 4.5 times more likely to JEsA0| 198)Lt 1 HEE o SEE 45HiL} =0t
commit thefts. Furthermore, youthful drinking is associated with A HAH SF= Hoj= 15t st MF 2l A
academic and social problems in high school as well as an sl 2xet 200 =Hto| ASH ZXIE Loz 0|
increased risk of behavioral problems into the early 20s, at least.  Z7}== ZiQt Aol Ik
(a) has a considerable effect on a student’s mental health (a) BB YA 2120l Schst Fekg 7|zt
(b) often causes social problems in one’s teen and adult years (b) ATl golvloll AlElM 2XE S5 op|etd
(c) is likely to cause numerous health problems (o) AL4 U2 2XE Loz JtsHo| Ut
(d) leads to social problems that appear later in adulthood (d) &o17| =8| AF=l™ 2H|= 0|0 Ich

(31 Of2lo] & FAUO| YRS HEYF YoTl= MBI BAIS THRD It Wizils eiwol Zubt Sojslof staz, Flof KA
o Chsst 17 ZS BRY 4 9l 82 120 Bt 97 2t 35 Nt ¥ 4ol Yoz 4 U 2HES HAlst
T Qlosz (b7t 71 A Folct
[27] 24]  (a) 2132 WRO| Ohck, (2ol 74]  ofglole] ¢mg N
() 1244 2R} Ol AfBIR 2RIZ xgstn ck 12 ~1340] 279t 1 Y
() 4217] # ofLiz} spoRM W JEE OR 781N R4 E 859 1 B
1 9oz ein Zi FMAE ETE 4 gt BAd 250 g3
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(o2l consumption A%

Are you one of the many people who have experienced
problems in the past with facial cleansers and
moisturizers? We have all been there. If you are tired of
cleaners that are too weak or astringents that are too
painful, try Cleanse-Out! Keeping facial pores clean is
essential to preventing blemishes, acne, and similar

abuse 2&3}ict

weekly smoker 3=

problems that can lead to scarring. However, most facial

cleansers

natural moisturizers to prevent itching and dry skin. So,

. Only Cleanse-Out combines
the chemicals most effective at unclogging pores with all

with Cleanse-Out, you will get clear, healthy, and

comfortable skin.

(a) do not have moisturizing substances

(b) use harsh chemicals that dry out your skin

(c) make your skin more itchy and irritated
(d) do not conceal unsightly acne scars
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[0f2l] moisturizer 2&X|  astringent ©&X pore & blemish Z& acne (=5 unclog ZOHZ glOHCH
itching 7848 conceal &7ICt  unsightly 27| £8t
D. [mAHel 52 dief]

My coworkers are all nice people, but it seems like every Mo XA EREL D E2 ARIS0|XR M= =0t s
night | go out to dinner or to bars with them. When | first XS AAE 5lALE 22 OfA = U2 ojYZo| sH= S ghct
started working here two years ago, | really liked doing this H7F 2 & o] ZollM 22517 ARRIS o, 0|2 oi23 X
and getting to know them. However, a few weeks ago | LA MZ20f chalf ot 7h= 0] ZEUELICE 28 M= 2
heard that the world-famous “Cirque du Soleil” was coming S0l MAMeZ FEEE EHZY MAAYIE O] 0| S¢std
to town. | had been wanting to see it for some time, so | 2Ch= Al EQUGLICH 2EECH X7F 1 HORHE Z017]
bought a ticket for this past Thursday. These plans went 2ol X =52 #E FoiEUCh 2Lt o] A= YRt
down the drain when, on just a moment’s notice, my 7| ERE0| Y H IE AIEES MRE il SIAE EiE
coworkers wanted to go out that night! | decided to skip the LIcH X A2 =X 7|2 sl S22t 87 of23la, X

show just to go out with them, and now | regret it. | am

beginning to think that

(a) my coworkers are ruining my life

(b) my coworkers did not like the Cirque du Soleil
(c) I am spending too much time with my coworkers

(d) I cannot get a refund for this ticket
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[sHAd] SESU &S A LIZP| flolf A0 B HOH A4S ZIQICk= LIEOICE BTt S012 22 0] Yoil thet 20
o Mzto|e2, AE HIIGt A2 S3JUCk= 2D SESI IR XI5 0128 Uk W8S a6 ()7t 7HY SHIE
ol
[27] 24] () SES0| AMS Y= SEHERI 4212 20 [Zo 74] 2% =2t AE
Al Btokg 4 glct Y s=s3 ol2d
(o) 401l Chet S=E9| MZh2 AF=IX| LUCE ZXetel Al=Els MiE
(d) ASEX| %2 LHE0lC, Aelg 2olet Ae =38
[o12] go down the drain #X22 S0bICH  ruin Y7tEa|ct
(chel met]
Throughout the history of western civilization, the status of M7 28 AAolM, ofE mefolel X|¥=
domestic cats . About 5,000 years ago in %5000 Mo mr o|RE0
ancient Egypt, cats were efficient at hunting rats and mice that M 10 222 T2 U SFQ FE F8Xe=2
frequently fed on grain stocks. Eventually, a cult of cat worship AIBHCE OFEIL] T2k0| &b olAl0] A7{in, 0] gjAle
developed, and it lasted for more than two millennia. Later, in 2FE oY XIEEACH Fof BM RIoIA= nol7t
medieval Europe, cats were believed to be endowed with S0re9| Bg 2o Bttt oARY| mEof, 10|=
powers of black magic, and they were thus hunted, tortured, SN DEYstn s|MERICE Act 1U0IE 7|12 AL
and sacrificed. Furthermore, those who kept cats were e olnfets EolE 2ot no|et el AR Fote &
suspected of wickedness and were often put to death along It HRUACE A7MIZ17E =lofMoF Yol O s
with their cats. Only in the 17th century did cats finally gain the Se2lo = FAel 22| Zol = zlZetn TSt of
reputation they enjoy today: that of a mere animal that is a et S22 QIFeD Qlct
handy and friendly house pet.
(a) has varied greatly depending on the era and society (@) AlCHet Arlof w2t 2| Xto[7F RLACH
(b) has always been one of hunters of pests (b) =2 S=5 e AL AU
(c) has been one of divine and merciful agents (0) dlgst X t
(

(d) has been less lofty than that of other house pets

[aH&] ac oI-E, SMAIE, Bt TU0|S2| Yol tiet LHEolct #izt
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[27] 24]  (b) 2o OIFYEO]| nRfo|of Hgtz AUl o (2ol 4]
£ MtHollME HREA] HF =R LUACE
(c) 11 OIFE 11folel fldolct,
(d) SMIAICHE] fieo|ct,

[o1&]] domestic ZE cult AY  medieval M9 endow 20450
of

wickedness &, 24 lofty nZot

(cHel mtef]

Currently, the United States is widely viewed as the most
economically advanced and dominant nation on Earth, and this
is supported by its abundance of natural resources, high
standard of living, and the fact that its currency is the standard
for the majority of international trading. Nonetheless, the United
States is not an independent economic power. Despite all of its
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advantages, the U.S. is primarily a nation of consumers; in fact,
its domestic consumption is far greater than its actual
production. In the end, it is up to other nations to produce
affordable goods for Americana consumers. All of this indicates
that the world’s foremost economic power

(a) has exceedingly low rates of imports

(b) is significantly dependent on international trade

(c) actually lacks the material to produce its own goods

(d) exports most of the goods that it domestically produces

[5HAd] =2 ZXA o= 4ot 0j=50] Mitoh= YECH fsk=
Ol= X7t S01710F Bict Xt=9] AHIXIE flsliil= B 29
Zot= o] glct metd g udof eEsitk= a2l (b)7

[27] 24]  (a) MBS S0HREE 9] Hlg0| =& Aot [Be 7]
(c) ®=R7t SEaiCt Liet T,
(d) MArZO| Mrtn ooz E21 B7(o|ck

[of2l] dominant F=XQ! abundance 258 currency S5t
indicate L{EtLCt

8. [chef mey]

A popular belief is that women are far more talkative than men,
but how accurate is this? Psychologist Campbell Leaper of the
University of California Santa Cruz conducted a review of
research into the topic spanning from the 1960s to today and
saw that there are many factors that complicate the belief. For
instance, during decision-making tasks, men were more
talkative than women, though not when discussing themselves
or communicating with children. Men also dominated the
conversation when communicating with the other gender, and
Leaper theorizes that this could be the result of men traditionally
being conditioned to dominate socially. Overall, the study
suggests that in certain situations

(a) men are as talkative as women

(b) men do not like talking to their own gender
(c) men actually talk more than women

(d) social roles prevent men from speaking
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[27] 24]  (a) ZO| B2 =7} 2ot EEfe 4 Qe 247t [Zo 4] Hyo Hojl et A7
qlct BhQl H7
(b) 22 Mdyl2| LS E=2 ¢t sitte U82 Ue 40| 2ol o B2 o
Lt A0fot=Xl= SHalx| o4t NGRSO
(d) XIEf&Ql At w20l ol Kot
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9. [thel ey

To all users: We would like to inform you of some current DE OIS THatel AFol| s o2 Histol cha &
changes that have been made to your accounts. As you 2{=2|DAL BT OMAICHA|D| 5EX XNsl= st m4S0|
know, five years ago we founded Academic Network Ma| o7 K=ot st HEYIAS 230 21 Ha2|5HA|
International Online in order to provide college professors FE22 g4 4 AUESE Academic Network International
with quick, convenient, and free access to our research OnlineE HESIAEUC T2iLt Ma|7F ZE6lof sh= =
materials and links to academic social networks. However, 2fol Fazkof| FH|ZIX| LU7| 2ol = =
we were not prepared for the amount of online traffic we DS ALOIE HO|0IEE &loF SfLiCt 0|2 Qs Sx| X3
would have to manage, so we must start updating this 7t 6K Rt 2 HIg0| e AYLCH M= ol
website every month to keep it running smoothly. This will oA HEE MHIAS XMSatn, OI8ALE Xs|7t X|&A
require money that we currently do not have. Because we o2 2YE 4 QUJ|IZ dHistm Uctn Mo =2
feel that we provide you with an invaluable service and you
would like to keep us up and running,
(a) we will compensate for damage resulting from online traffic (@ ASl= =etel YEgo= oIt nshs Hae AU
(b) we have reduced the size and scope of materials online (b) Msl= 2ol Atme| it MRS SAUSU
(c) we must stop the service for a while to update it () M= UHOIES @fall AMHIAS HAI STHOF BILICH
(d) we must start charging user accounts monthly fees (d) Msl= OHE OfEAL A-0 R3S FufsHof Bl
[ah&] X=2E MIsk= & AIEOIM OI8XINIZ AE B Alete 3XIgt= UE0ICh F&gel Sotof o7t o] X Lot &
HIOIEZH HestH, olof= XF50] HRSICt Liet QUCH DIXIZE 2FoIM MHIAS A& |XIBHCHD o2 BIZH= (d)
QF Z0| A 0I80l 232 Rueitl= WE0| S0{71of Sttt
[27] 24]  (q) SSEX| %2 LHSOIC [Ze 7d]  MOIE AE HE 3K
(o) X2E EQCt= E2 it AIO|EQ| gt
(c) MHIAS 7% |/XISHISE HIZfCh Fict H&ek St
puI=le]
G| account A% traffic M2 A52F smoothly %24 compensate 2A5ICH scope 29
10. [thel mtes]
The Federal Trade Commission recently wrapped up its SEIZET I TR Jk! ol that &
hearings on . These talks have been held =352 or2z| x|QCt 0/ Aloj= ZREIRHMIE 9}
in cooperation with the Competition Policy Center and the Berkeley 71& & # NIE{Q] H2ioz HACH Of7|A L
Berkeley Center for Law and Technology. They covered 1S9 E5{0l tHEt of2f AlRHS CIRUCH, 39 71&9]
several issues regarding patents for inventors, including the AE o] ARSS] E8M J2|1 M 7| JHEe| sihle =
markets of patents and technology, the efficiency of these ZIAZ = E5 xx0| ZSHEQICH 0] OFX|2 AlRt0| X2
markets, and suggestions for adjusting patent policy to 3]9] =R QtHOIQ=| Ol= W2 H|EIISO0| HEI} Fix|
encourage innovation in developing new technologies. This SIAl Ol SiEl EF{E{0] AMMNS F|SHetctn 27| wf2o|ct
last issue was front and center at the hearings, as many
critics are afraid that the government is currently restricting
innovation and thus competition with its current patent laws.
(a) revising patent laws so that the government can closely (a) SalH2 Mot HE7t MER 7182 o 70| 2
monitor new technologies 2lstl st= A
(b) protecting inventors and their patents from being abused (b) SIMS0] HHIIRE 052 EGIE 286k= 4S8 Y= A
by corporations (c) YHIIS Alolof| .f L2 SiIs ol £
(c) revising the current patent law to promote greater sliES JHdek= A
innovation among inventors (d) Ed1 S =0l dEIIIA| M2 2&ek= A

(d) compensating inventors adequately once they have
secured a patent

Diagnostic Test A7
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11. [chel mtef]
Attention all students: Next week the university will be DE SHMA: TS 2= X3| tHatoAl=
_ . This past summer we set a record for S ZiQLIC} 0[H 02 st HM3l= 512 i L 49| 7|
the number of donors in a day, and we are hopeful that EX7} Holsle 7|12 MO, o Cles 513 Aol
even more students will donate for this upcoming drive. ol O e stMs0| 7|55 |12 5lYstn A&Lct Aofsin
Anyone who wishes to participate may report either to the MO St St Algt ofzloll Qe 2HRX| E= U HmHA
lounge beneath the student cafeteria or to one of the o =XIE TIZXIE JIM LW FUCh DE Sloisl 480|
ambulances parked on the quad. All blood types will be IH55lH, BE JIBXIES o7 YA EAGID o7 U A
accepted, and all donors must fill out a medical form and off AsHOF BILICH 1 Sofl= &ofst StMSo|AH AL0| HlZ2
sign a waiver. There will be snacks provided for = Z4QILct,
participating students afterwards.
(@) holding its quarterly blood drive (a) 2718 S HHIS HAl
(b) raising volunteers to collect blood from students (b) SHUS2TEH FAS Do= XASAAIE 25
(c) giving seminars on emergency medical procedures (0) S& ZI= MID|LIE Al
(d) performing blood tests on students (d) stS0lA 2 HIAES HA|
[at&d] tistel e 2&2 Qtisk= 20ICt BlZfol= thsto] o0 Y= St=X|7t S017t0F BiCh we are hopeful that even more
~ this upcoming drive22E RIS 2oE= 2&0[2t= ARME 2 4 QUM all blood types will be acceptedS Saf
oiE VISXE 2ol Qs AE & 4 QL
[27] 24] (o) fMS0| SIS dl= AOIX|, EAS ZO= Xt [Ze 74] mist oi" 28 2l
# SAIE sh= A2 Ot 2ot old 23
(c) =X %2 WEolck A MLl
(d) U HAk= BFX| Y=Lt 9| Mgt
[o1&l] donor 7|EX} donate 7|&5iCH drive (22 S2) 25 quad QtE  waiver 7| SA, YAl quarterly £7[2H2)

procedure Ex}

12. [the) mpeq]
AIDS drug approvals underwent a dramatic transformation in oloj= <lokE &1 19880 &Rl HatE ZHAUCH A
1988. Then, there was only one AIDS drug — AZT — and Ol= 0llo|= XIEM2 AZTat= QU ottt UACH, 2
activists argued that a new drug should be approved as soon =752 M2 XI2H7| 7Ks8h wWa| &91=/0fof Stota
as possible, as long-term studies on new drugs could take FERIED Ol M2 QJokZo| 2ot &M It Azt
too long and deny drugs to patients in dire need of treatment. 0| 42 22 Z2| X222 Z=AS| ZRZ st= XIE0| 2
Thus, new standards were set for these drugs, which were HE 4 Q7| W2OICH m2bA 0[2(8t 2ol thst M2
given high priority: in this case, researchers examined 7|120| MF=E, o= MBS 20 = Z0[%UCt 0]
whether the medication could increase the number of 4P HTPRYES oof=0| A M= CD4A-MEE BV}
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disease-fighting CD4-cells. If it did, it would be approved ANFI=XI2 ZAASIRICE Orer J2ictH o wa| £010] £
more quickly. Protease inhibitors, a later class of drugs using Cf, 30i| 0] 7|&Q XMEe €2 ciBsIS A XM= i
L

this standard, proved effective and reduced AIDS-related k=mnizsEll)] Eau - 90UC SU7R| ofjo]= = Afgt
deaths by two-thirds in the mid-90s. The success of these 2 329 271X ZAAZIC 0[2{3t ollo|= X=X H32=
AIDS drugs established standards that . 7122 Mt

(a) decreased the amount of time spent on developing drugs (@) &2 7igsi= Ol E= ARIE JaAPI=

(b) expedited the approval of other high-priority medication (b) ZIMHRI oFF9l 1S =2 X2lsh=

(c) made it more difficult to put AIDS drugs on the market (c) Aol ollo]= oS UisE Hs O ofEdH ttes

(d) allowed protease inhibitors to be used in other AIDS drugs ~ (d) Ef#2alis4 AMKE CHE oil0|= 2fof 47 sk=

[aH4] olo]= 2o &2l XM=& 7HEate oflo|= 2| &Qlut Alo| O Wetsich= WEo|t BIZHol= o] XM=& JH&ate ofmst
SE HEJA=X7E E0{710F St HEEAF Thus FIE AWEH M2 7|F0| MR AE & 4 JA2H, it would
be approved more quicklyS Sl Expt o Webiss o 4 Aot m2tA] &£210] w2 Ma|=Ucks (b)7t 71 MEst
golct,

[27] 2M]  (a) 2 7HLo| ofd of &0l0f| Zel= ARIE &L [Zo] #4]  ofo]= 2 &¢I
(c) AR &S o Wel Uiz =IRACH AlzZtol S <2 ZE
(d) =AUl EefteLt, &2 Ext 2o =8 HA M > B4 7t HERE AL

(o] 3 AUXE 274 E0F
[o121] undergo ZiCt transformation #& dire 7185t  priority 2449 inhibitor SXIX|  expedite 2| FI5tCH
13. I[thel mpef]
Scientists at Fred Hutchinson Cancer Research Center have Fred Hutchinson ¢ ¢iH4llE|Q] WSS E C17te| L
made an interesting discovery that may shed light on risk- ol thell Y2iE 0|2 L7is 3ok 22 AN 1
taking tendencies in humans. In recent studies, they have =2 neuroD2 RAXIE HEXC| W] ER0ICH= At
found that the neuroD2 gene is crucial to the development of S Y= HENE ZEN 7|9 & E5| 2HSE A

_o'\_w
rir
e o

the amygdala, an almond-shaped area of the human brain F2E B9| Lof o 2R0|Ct BSKES HoA

0
that houses emotional memory — particularly fear. The F2t neuroD2 |REAPE 2E5 FE HUE HES 3Ch
scientists tested normal mice and mice with a deficiency of ofph 7| S &7l EF Ao =E=US o, YA
the neuroD2 gene. When exposed to a certain tone coupled Ql FE2 B2 3321 BWSIX| Ao, Ze L2E
with a mild electric shock, normal mice would crouch down ET= 272 we 12 FaY3ich 12Ut neuroD2
and stop moving, afraid that they would receive a shock upon  FXpp X5t (FE HEHO| 220| & L FE2 A
hearing the tone; however, mice with less of the gene (and 22 52 402 SA2 HEX|= Ut o) ZHut=
underdeveloped portions of the amygdala) did not freeze neuroD2 |EIXE7 HojzEct
their movements as often when they heard the tone. These
results indicate that the neuroD2 gene
(a) is a key reason why people avoid danger (a) AlHS0| YIEE Hlok= 2 0lRe= A2
(b) can actually keep people from acting impulsively (b) AHES 55X ASS M2 a2 + JUZ
(c) is evidence that mice and humans are genetically similar (c) Fek QIZto| RHsiMoz HiXsltt= BHYS
(d) promotes aggressive behavior in humans (d) Qlzte] BAXMRI AMSS ZXIAZIC= AS

[ah&] IZto] Rt HTE RTXIE F S Sdff Ligitk= WEOICH Biztol= 2y A9 Aupyt S0{710F Btch on

risk-taking tendencies in humans& Saff A&2| F
2 Llst=S siEcth= A3 i8R njR0{=0t g2

[27] £4]  (b) 55X YST IHL! WSS T2 Jolct (2ol 4] D ezet KA
(0) 22 RIS JHxID oL} KHstEoR bia Sz 24 QR A
B Xl o 4 9tk 2 Sot M
() 2Izl0] It WSS ohA| U=Z szt z=
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[of=l] tendency 2% gene RTXL amygdala (4Ak|9)) HEX|

For the most part, airbags are crucial in preventing injuries to
drivers and passengers. Nevertheless, people should be aware
of all the facts about airbags. Most often, abrasions to the face
and arms, and other non-permanent or non-incapacitating
injuries are unfortunate but necessary effects of airbag
deployment, which protects against more serious injuries from
an accident. However, other documented airbag-related injuries
include fractures to limbs, severe facial injuries, blindness,
severe brain damage, and, in rare cases, decapitation. Many of
these injuries could be prevented by using currently available
knowledge and technology. When these resources are not
applied by manufacturers,

(a) drivers must rely on other protective measures

(b) drivers are better off without airbags in their cars
(c) airbags can inflict unnecessarily harmful injuries
(d) drivers should be careful when operating a vehicle

[ah&] offofuint TRt £AS A
d0l= ofZA 2 A7t gl

2 4 AeBZ, G2 ()7t Hoh

=
tofl £0{710f BtCt. injuries are unfortunate ~ airbag deployment &

house £&35lICt deficiency Z& crouch &3z2[Ct

CHEE ofof#t2 2XXIt s249| Bds YXlsk=tl &
Lt A ot a2t AIFE2 ofofto] st 2E
AbE OloF BiTE 71y S8 e20 2ol Huty 3 1
Qo] YAl B 3 S0 S 0lAX| o= FY 52
ofoid Hxjoff mE E4M Az, Az Q1% G2 A
23t BdE 2ot ot a2 BoE thE ofof 2
FHoRE MX| EE Hzet ofH Ry, Y, Az &
&4, J2|1 EE FRE = ZEH0| otk o Fd2
Sxl f2lof AT TIES 2&siH B2 4<% 0/
AR 4 UTh MEZYREE0| 0 XML} 7lEes &St
x| oH,

(a) 2RISR LHLER CHE 25 o] ofx[sHof Sttt
(o) 2TXIE2 Ao offofo] gl= Mol o Rt

() oojtie B SHRE 242 LUAZICH

(d) 2TXIE2 2Tl & FofHoF Strt

2 ARE 2 7] Leln QUo) X2l 71ER a2 a= el 2t 0] 71&0| MEEX| 2
Z o

ne

7{E ofoftl £4S ¢

[27] 24]  (a) oflofof 2= Lh80] 22 =Holct, [Zeo 74]  ofofey 2 24
(b) ollofuiel BXIE CHR1 UL ofof glofof §F Zolstot & ey
Ch= &2 glct UM Ttse 2y
(d) oflofuint Aagle YR Zisolc NI
[of3l] abrasion Z14 non-incapacitating 272 PHSXI %= deployment HiX| fracture Z& limb AtX|
decapitation 2 Ztt inflict (5l 52) 5ICt

15. (=&

The ninth-century Irish legend of St. Brendan'’s fantastic
journey to the mythical Isle of the Blessed may have actually
happened. While the story is widely regarded as a religious
allegory, Brendan'’s “Isle of the Blessed” could have really
been America. , some historical evidence
indicates that in his travels to the New World, Christopher
Columbus was actually inspired or even guided by the
legends of St. Brendan. On the eve of his great voyage in
1492, Columbus wrote: “I am convinced that the terrestrial
paradise is in the Island of Saint Brendan, which none can
reach save by the will of God.”

(a) However
(b) In fact

(c) Instead
(d) Otherwise
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[sH] < BrendanOl2l= OMI7| OIYHE AP SBHABCH UM 0|22 LS & ACks WEO0|Ch Biztel oll= 02
5t FHIR0| L2, Holle 2 A9 0jtiE 20| 4 Brendan222E|l S 82 S77t MAIEC) watA giztoll=

FHE 2 d¥cts JLES ol TLAF S01710F Bt

[27] 24]  (a) & LIS dtiEle WES LIERY o £Ct (22l 4]
(c) o 2%9| thete MAlGtAL SIS Hete
o
(d) & 2Foll Bithel= Aol thet Z0tE LEHACE
[oi3l] mythical A49| isle & allegory A% terrestrial X|[A42
[ESAH

Boomer’s special stereo speakers are ideal for providing
the fullest and clearest sound. We offer speakers in all
shapes and sizes for either your home or car stereo. Our
models have sophisticated designs in all driver types: full
and mid-range drivers, woofers and subwoofers, and more.

, we design top-of-the-line speakers for iPods
and other handheld digital music players. We also
specialize in custom-made speakers. For a full catalog and
description of all services, please visit our website at
boomrattlerattle.com and find the stereo speakers perfect
for you.

(a) Additionally
(b) That is to say
(c) Accordingly
(d) still
(]

AH[RQ A0 Cfet Zo|ct g1ZF ¢ol= XISK

(271 24] (o) &

sophisticated MZi=l
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@
o
=}
«Q
[0]
ot
ajo
10

Oil paints have been a popular and effective means of
painting for centuries, and most of the world’s masterpieces
are painted in oils. However, the use of oil paints has both
advantages and disadvantages to the artists, which they
might want to consider before choosing to paint with oils. For
instance, because oil paints consist of pigment that is
suspended in oil, they can take much longer to dry than other

t
mZ{oll thet LHEO| Li=Ch THE 372 AAHE F7iz2 g1

[29 74]

woofer XS& ALl

4 Brendan?| 0| thg &7 7ksM
A Xt=

SHHA0A 01 e

save ~2 HMelstoE=

& An|Z{ol thet LHE0| LI, Folls S 7171°F HZ0| 7kset &

St ooz Mool £2 LEth= (a)7t B0l ECh

AHRS ADH B3

RSAIR ALl

20t 77| @t AL

HIE 2 Afo|E oty

50|

top-of-the-line Z|7=° handheld A&

we 2He oY S Q| U= Fatd 2 7|1go|
ASH, HERo MAX Z=2 Ralz IRt 12
L Refol= T 2ol 2% V| 2ol sPiE2 7
SHE J2|7] ol 2 dzfshof sict oS S0, 7t 22
2 7|5 etofl MA7E SO0IUY| mizoll Cre S7Q A
'} of==dl Alzto] @2 Zel=d, 2= ¥ 7t Za
ch Ol= a7t =s 2tdot=t AlZiol o 224 Z2ict
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types of paints, sometimes weeks. This means that more time AMEE Qlojst, o 7Sl SAA
oJ

Horr

is required for an artist to finish his or her work, which can be Ct 2Lt 0] =HEQ| BIHE HXMH L5h= Ut Of
an annoyance to some. However, the flipside of this is that 27 LH o2 £29| J2HC} il MAS Q) 9X|
once dry, oil paints hold their luminous colors longer than Sl @ 7|7+ SO K| Qk=C}

other types of paints, and resist wear for a very long time.

Q: What is the main idea of the passage? Q: & 29 FHl=?
(a) Oll paints are durable but expensive. (
(b) Most professional artists prefer oil paints. (b) ch=22] &
(c) QOil paints are long-lasting but bothersome. (
(d) Old masterpieces remain until now because of oil paints. (

[3HA] oo AX ol THXof| chsl MHstn A= 20|Ch they can take much longer to dry than other types of paintsS E5ff
71 SE0| Yetof 20| AEE22 HASCHE AE Y 2 UX[ZE oil paints hold ~ a very long time22FE 20|
@ BEECH= AH0| USS L 4 ULt w2t (o)7t 7+ MAS golct,
[27] 24]  (a) Rt 229 7HH2 A=K AUCH [Ze 74] fstel M
(o) R&t BZQ ME=E LI2X| Lotct Fste| o
(d) Z%f0| HoRli= CHE 0187t /g & QUeH, 2 Kol HH
off AZE LIE= OfLCt
[0f2l] masterpiece Z%f pigment AMA  suspend L £R5ICH  annoyance =31712|  flipside BIHH

luminous #Lt= wear Of=2

18. [chel oten

The high infant mortality rate in Sub-Saharan Africa is an issue of Afstet ol otLa|7to] =& R0t AIUEE FAA =2

o=

great concern to the world community. Every day in Africa, 2,400 Jtol 7ict2t ZAlAz2lo|ct ofma|FtoME ofe

babies are stillborn and another 3,100 newborns die within four 2,400 Efop} FAMEH 3100ES| Aot M=
weeks of their birth. Mothers very rarely have access to medical AZs OHO| APRESICE AREL ZAF IPEO0|LE ALS0f Of
facilities of any kind during and after birth, making the birthing O 29| o7 AIH= He HIE 4 SU0A, E4t
process far more dangerous and leaving children vulnerable to IpHo| EWN O fIsta otolS2 Holl Zel7| gk
illness. Given the thousands of deaths that take place daily, there O Z0| o7 Ho| AlUsictn MZESHH  Algh 20l
are surprisingly few causes. Premature birth and common S agst o2 Xoh zAm &8 2ol ofLe|7|
infections account for 87 percent of newborn deaths in Africa. AAOF APZE 40| 87%S REXIBICE JHR J712X9Q1 X|
Even the most basic medical attention could prevent the majority ZO0to2E 0| Aol HEES ofdlstn S0t Al
of these conditions and drastically reduce the infant mortality rate. £2 34 Y 4 ULt
Q: What is the passage mainly about? Q: 0| 29 FHI=?
(a) Dangers of having a baby in Africa (@) ofZ2|7tol A Of0|E H= Al fI
(b) Newborn deaths in Africa (b) Of=e|7to] AlAof At
(c) Causes of high mortality rates in Africa (c) of=Zel7tel =2 AldEe| 22l
(d) Poor medical conditions in Africa (d) otZ2|7te] Y= H o= Y
[ah4d] Atetet Ol ofzZz|7tol Aol AlYE0l MEfet |2l Soil thet oo, 2 2F0oil topicOl MAI=0 HlwA &7 e &
S 4 Aot A 29| infant mortality rate= 27| (b)2] newborn deathset 22 20|t
[27] 24]  (a) OIOIE = A KAHIQ g2 4R dBHXO0] [Zo 4]  AMolzt old X|Ho| ROt MUE
0, 0] 22 tldot AIYEQ| AlZtdol 70| & AYE AEf
=GP el
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20.
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account for ~2| 10| Zct

(cHel mpet]

A beautiful lawn can be a great source of pride for a
homeowner, but it requires periodic, but diligent, maintenance to
stay healthy and full. A method used by professionals is to
simply seed one’s lawn with new grass about every five to
seven years. This first requires that the old lawn be removed, of
course, which can be done through the use of herbicides. Once
this old grass is gone, new soil and seeds can be placed right
on top of the old lawn. Be sure to water the new seeds
immediately, and keep watering them once to twice a day, every
day. Pretty soon, you will find a lush new lawn springing up from
the soil.

Q: What is the main topic of the passage?

(a) Performing long-term lawn care
(b) Removing an old, dry lawn

(c) Applying herbicide to a lawn

(d) Putting in a new lawn with ease

{5t 20ICt A method used ~
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QefE FT7F AE Kf2(ol HAE 4 ASLCE M2 &
2 Mol ZAl 22 1 i oF B L =22 50
Of Bilch J2iH 2 EYo|M £olEs H|Sst £
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Q: 0] 29| FH=?

(6) A7I7t RCIE & B
(o) 224! oot 2| M4
(o) RITlol] AEH| wal7|
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[oi2l] periodic 7|52l maintenance 9X| seed MZ %2/t herbicide M=K lush £2, Adst

spring up £0t 22Ct

[cHel med]
Dear Editor,

| am writing in response to last week’s article on women in the
tech industry. | take offense at your suggestion that women
cannot be as competitive as males in the industry. |, myself, am
a manager at one of the country’s most profitable tech firms. It
was not easy to rise through the ranks at this company, | will
admit; but over the years | have earned my high position
through hard work and dedication to the company. \Women
should be encouraged to enter the technology field, as they
bring new and innovative voices to the table. | sincerely hope
your article has not discouraged any young women from
pursuing their dreams.
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Sincerely,
Linda Epstein

Q: What is the letter mainly about?

(a) Climbing the corporate ladder in the tech industry
(b) New roles for women in the workplace

(c) How the tech industry treats women

(d) Competitiveness of women in the tech industry

[at4] 010| Jle MY ZES RHHOR HH JINS HiEE
Malz 433 4 00|, 0140| of B2 Ha

Linda Epstein =&

Q: ol Exle] FA=?

20t SlAolN 715p]
o{gol M2 ofE
ol 010 e o

=otofl Mo ool Zaes

é)/
PN
B
- 1Q

G2

[P
W o ox mH

ol &

o
N
AT

=
)

r

[27] 24]  (a) 22019 ZE LI MEAR0|Ct [Zo 74]  oye 7l Y TIE
(b) ZIZofl chet YerEel Ris0|ct 7|ALofl CHEt BT
(c) A= ¥ UEoict XtAlof 0jof7 |
7|Alof CHEt oA
[of3l] take offense 3tE LTt competitive 2742 U= dedication 314 pursue F+otCt

21. [thel el

Wellspring Academy is a private school that specializes in
educating young people with disabilities. Our philosophy is
that all students, regardless of their handicaps, deserve the
utmost in support and attention as they pursue their basic
right to a quality education. At Wellspring, we do more for
our disabled students than any public school. We take a
personal approach, first identifying each student’s needs
and then creating a program of study that is tailor-made to
the individual. We have roughly one teacher for every three
students, which allows us to give children the one-on-one
attention they deserve. So consider sending your child to
Wellspring. At Wellspring, we make a world of difference.

Q: What is the main idea of the advertisement?

(a) Disabled students should study with students with similar
problems.

(b) Private schools are the best solution for students with
disabilities.

(c) The school is equipped with individualized educational
programs for disabled students.

(d) Public schools rarely do enough to educate the disabled.
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[oi2l] philosophy &3t handicap 20/2] approach T tailor-made %% one-on-one 1Cff 19|

22. [thel o

Among the most overlooked artists of the Impressionist
movement is the painter Alfred Sisley. Born to English parents
but raised in Paris, Sisley studied alongside many of the future
champions of Impressionism, and his works appeared
alongside those of Monet and Renoir at the Paris Salon.
Though celebrated in his day, Sisley likely fell into obscurity
due to the rather timid nature of his paintings. He seemed
unable to realize the full potential of the Impressionist
movement, and the timidity of his style likely caused him to be
outshined by his peers. His subjects were very traditional —
almost always landscapes — and he painted them with a
relatively bland palette of colors.

Q: Which of the following titles best suits the passage?

(a) The Unnoticed but Great Artists of Impressionism
(b) The Most Famous Painter of French Impressionism

Qldm 2S0IM 7HY ZtobE o=t Alfred Sisleyzt
= stolch P20l 2R0|AM EfoiL; mR2jofAd X

2t

Sisley= $ QAT L7} S B SIS B
Zeym, Jo| HESS 12| WA/l Ruiet 2470}
29t B FAISIOIRICE 9] Aloll K5I YRIB,
Sisley= 19 ol Ll A48t S4 20| o
I x| YT Ok AT 259 RS 58S Y
A ROl 2 2otm, Aue Acue 2ol SREw

42 =x| 2ol 10| FAl= S HEA FAQ
Zat X8 0l=%m, AujxoR uus Mz g
aaict

(
( od5olel 7
(c) Common Defects of the Impressionist Movement (c) 2T 252 38X
(d) Shortcomings of an Impressionist Painter (d) B Qladmt Si7to| =
[aHAd] QMO D22 kK| QIFEX| 2o QIAZO| 317101 Alfred Sisley0ll Tt LHR0ICH, 2 57| Though celebrated ~

nature of his paintings2 2 SEZIOLL AASH AEIY T20]| QIAEEX| RJICID LIS, Z2 0] 317t9] HEES 0[0F|

ofal = AolBz, g2 (d)7t Eoh

[27] 2M]  (a) Sisley= LIS RYZICL 2{cist ole7t= Ot [Z2o] 4] QMZF9| 57t Alfred Sisley
AL, JEE SRl AIE
(o) 7re RS 272t 2 4= gl Sisley 232| =
(c) 2&=2lel Zx7t of et sirtel ZHlo|ct,
[012] overlook 7tatstCH  impressionist QIATC|  celebrated X5t obscurity 258 timid Xt Q=
outshine ~ =Lt 245iCt  bland 71d gl=

23. [ue Yzl

Although classified as carnivores, red foxes have a very
diverse diet that also includes “plant matter, such as fruits, as
well as scavenged food. ©@Few other mammals display such
broad food preferences; the red fox is as content to hunt for
berries as it is to hunt and kill animals as large as deer. At the
same time, red foxes are known to scavenge dead animals
and, ®in urban areas, the garbage of humans to find a meal.
The red fox’s varied diet is just one of many similar survival
mechanisms. It is also common for red foxes to hide food in
several secret locations to sustain themselves during times of
shortage. In addition, @they are extremely possessive of their
food and never share it with others.

Q: Which is correct according to the passage?
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(a) Red foxes are social animals that share food. () F2 o= SAle LHH= ARl sS0lc
(b) The red fox is rarely found in urban areas. (o) F2 Ki*= =Al XS0 H7| ST
(c) Few mammals have diets as diverse as the red fox's. (c) A49l ZRRO0| 2 U CiYst AHS JiX|n
(d) The centerpiece of the red fox's diet is scavenged food. olC
(d) &2 OR9 F2 SAI2 SAl M2|7|ct
[ah4d] =2 029 AlYoll Chiet 20|ct F2 o= TAYo7| 2o Alg2nt 17|E 25 MFBiC) Few other mammals ~

KAl =
food preferenceE EH, 0| Z2 CIYh AlGs 711 S22 E20e A8 Y £ U282 (o)t ol =t

(7] 24]  (a) SAlOf thSt Aol s BRI S=c (2ol 4] B2 ool Mg
(b) Al KIOIAL 471 9ish M27|S Si=rtn 3 A
ooz, =Al X HRES ¥ 4 Uck 20| 7ot e
(d) 4101 SHOIX AT /x| Y9ttt 20| B

[o13]] carnivore 4 52 diverse CIYS scavenge (M2 17| S2) A0} slloict  mechanism 7|
f Q%

sustain RA[SICH  possessive AR=0| ATt centerpiece =25t A

24. (Mg AR 3]

Women in the country of Nepal suffer great hardships under the ™ MES o ALE &M oA A 1oz 1
current social order. Compared to men, they carry far more E gh=r} LhNTE H|mEHA GAOIS EM o B2 At
responsibilities yet enjoy far fewer rights in society. As in most S| 9|2t QXIBH & 4 Ql= Ral= M O of
countries, women in Nepal juggle multiple roles, including those 28 7Y U o2 oy, T2 D21 A2
of mother, housekeeper, and wage earner. However, these LEXE mES Ch4o| A cokstct 2Lt oA
roles are made even more difficult by the conditions under B2 0A0| Y SIEE URYSHE AEloz O g
which women are forced to work. They earn far less for their E0{ZIC} 0|58 HMECE S0 CHEH CHrb= &M A
labor than men do, and are often forced to work much longer On O MAIZE UStE=E 2 Hh=rf 0|2M ofAdo] A
hours. This makes it highly impractical for women to pursue any A0l WRO|Lt SNE FHoH= S i e, 1
kind of meaningful education or advancement, which keeps £2 5l MUZ9| 2o olEstn BERZE At
them dependent on their low-wage jobs and trapped in their X X190 HSA Bt

humble social status.

Q: What keeps Nepalese women from pursuing education? Q: U o452 A HRo| usS WX Rok=71?
(a) Nepalese men do not allow the women to learn. (a) U HXE2 o] HIRES oi2fotx| Y=Ct.

(b) They are dependent on low-paying jobs. (b) XUF 2l =Hoil 2AZ5tCH,

(c) They work long hours and earn very little. (c) EAIR Hotn == 7l X HiCt

(d) They have no interest in advancement. (d) EAloil 2ol SAct,

[ai4] HIZ HME9 4ol Zlo| MEMo=z Wrt= LIEOICH This makes it highly~ meaningful education & 2&& BH (&S
2 GHSE0 o 71 AlZke YalX|et AF2 &7 B=rh 0|2 Qs wRs 2e 00l HX| = AOITh metd 22 ()
7h Ect

[27] 24]  (a) A=K 42 LISOIC [Ze 74] U odSe nE M
(b) Bt 7kX| 0|72t CHE1 UCH Chyeh Ags o
(d) 22 Sall & & Q= Aol (GRald==Rle]

H2 A=A X9
[01%l] juggle (¥ §2) Aelstth  impractical HI3&%21  advancement EA| trap 7}5Ch  humble 22, HIHS

A6 Answer key



25. [ME AR 3]

Medical research shows that poor sleeping habits may lead not only O3t 0| OI5tH EX| UL 41 ZIS m|ZHot
to exhaustion, but also to weight gain. The connection between ofL2} HE B7t2 0|0f& 2 ot LTI 2279
sleep and weight has to do with two major hormones in the brain and A= Lo F JIX| £2 F221t 0|§0| LofLt E
how well balanced they are. Ghrelin is a hormone that stimulates S aE=Tlet 2 Qlot a#2(Ghrelin)o| Hiw
hunger, driving people to eat, while another hormone, leptin, 2 A=l SAS Bl ol E220[21H g 52
suppresses the appetite. People who get four hours of sleep or less 20| AEl(eptin} A= Ax[SiCt, 2o 4A2F 0[5
per night are likely to have an imbalance between these hormones. o] £MHE F5l= AIME 0] S22 A0|Q #&0| 71
The brain will produce more ghrelin, and the production of leptin will A7) £oh He o 3o O2AS ARSI #E AAL
decrease, meaning that the brain naturally encourages these people 2 Z0|A =i, KfHAZ| T ARZ0| BAHCH of o]
to eat more than they normally would. This finding further S = SiCh 0 A= AZ SX(0 Qlof Mol =
underscores the importance of sleep to maintaining good health. NS RSt

Q: How does a lack of sleep affect weight gain? Q: #H B2=0| HS S7I0f o s F=717

(a) It leads to exhaustion, which discourages eating. (@) TIZaHA AIALS SHX| 4 BHCH

(b) It causes an imbalance of hormones in the brain. (b) Hol sE= =deS 7M=L,

(c) It increases people’s appetites, causing them to digest better. (c) MHE9| AlRS BIIAAHA o & AstetH| BiCh

(d) It decreases the body’s ability to control urges. (d) 72 ZHsl= M| 522 AAAZICH

[sh4] SHAZ0| 2E551H S22 S2dYCR HIES X=6ke 2= 2H|7F 716l AlZ0| s0{HTh= HE0|Th Tt M
2 32 2rd ¥ 2 QI8 MiE 3715 7tNMet, MEIX| 7t24| 01 JHY & AEst A2 (b)olch
[27] 2M] (o) T2ECHE S22 200 2 ATt [Zol 4] «H1 SFAQ A
(c) AE2 B AstE o & AZItks o182 S22 2Hlet 28 AR
eict BHIE S22t A
(d) Al=0t 2H0| E7Fs8lkl= A Mol Fey
[oi2l] exhaustion &%l stimulate XF=5ICt  suppress +Z2Ct  appetite A2 imbalance 27
underscore ZX5iHC}
26. (g =l
Dear Admissions Committee, st fIEsl s
| am writing this letter on behalf of Jane Hill, whom | have had Xz M7F OIMIZER| 2 482t EH2E 7K1 7122
the pleasure of teaching for almost four years, to recommend Jane Hillg tHAlstod 2HE chste Z=2a20) st
her for your graduate program. Jane has been a great asset to 7| ¢Jalf 0] X M QUBLICH “JaneS SAf wLf &
our drama department, as ®she has always sought out ways to =0 Fo{e gHe AQb| mjRol, 22| 25| 2
get involved in campus affairs. ®She served as president of the  XpMo| Zlof E&LICE @O E 242t S22 2 S|HZES
drama club for two years, @during which time she wrote several =G| @0] 7[2t0 2lE FHot El2E F H 4T 0f
plays of outstanding quality, two of which were performed by £ £ HE SFS0| 0 ME3Foz ZHi&Lct a4
her peers to great acclaim. Due to her dedication and hard of SiilMo|T 2 St Ef==2 =0}, Ojzfof 2 LS & A
work, | expect great things of her in the future, and believe she Ol2t 7|cH5t Qlen, OdE o sty 6= mz o
would be a blessing to any graduate program in theater. OIME =X X7t =l2)at P&Lct
Sincerely, Buck Addison =&
Buck Addison
Q: Which of the following about Jane Hill is correct accordingto ~ Q: £t & Jane Hillof st dHo=2 AUX|oh= A7
the passage? a) Jane Hill2 ¢1=sts0| 5|&0(QdCt
e Erio 1 55 o IBHCL

o

(b) Jane Hill focused on writing plays, avoiding other activities. c) Jane Hille =& S¢E =o| At

d) Jane Hill2 5259

g
rr

(

(a) Jane Hill was president of the drama department. (o) Jane Hill2
(
( 2

Th

o
s

(c) Jane Hill's plays have been performed. ch

(d) Jane Hill is respected by her colleagues.

I
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27.

(4] Jane Hillo|2t= stE Cfsta o
M LIRIRISBZ ()= 229 UiEah LX[BHt

[E7] 24]  (a) TSRt ot = 29| H0IULCL [Be
(b) CHE 5= ol S & + Uk
(d) & =~ Stz Areolct

2 on behalf of ~= UiHo asset At pee
[o12l] behalf of ~2 CiHEst0d t ARt
[MIS AR 3t71]

Organisms belonging to the genus Prototaxites were among
the most bizarre organisms of the prehistoric world.
Prototaxites inhabited the Earth from 420 to 370 million
years ago, at a time when complex organisms were first
taking to land. Prototaxities bore an appearance similar to

that of a tree trunk with no limbs, standing as high as 26 feet,

but was composed entirely of millions of small, thin tubes
coiled tightly around one another to form a kind of trunk. For
a time, Prototaxites was classified as a plant, but as
evidence emerged that the organism did not survive on
photosynthesis, the more popular view arose that
Prototaxites was actually a giant, primitive fungus.

Q: What finding suggests that Prototaxites was not a plant?

(a) It existed from 420 to 370 million years ago.
(b) It reached heights of 26 feet.

(c) It did not rely on photosynthesis.

(d) It was made of hundreds of thin coils.

r 52 acclaim Zilf, Z

st H= =20
Jane Hill2| €& WY
FHek= Ol

SE)

=21

blessing &=

&8 RIIME AL
=

Prototaxites%0i 48t
7|1|5tct, Prototaxites=
Tofl x|Fof
o HEfE moct Prototaxites
At2tH 74E§9 ZtX17 2

f M2 SEshA Zdm e
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Q: Prototaxites7t A2
49 2HBHAOIA 3 7HEHA
=0| 26IETK| RItCH

Lot
M

(a) 4
(b)
(c) Eegoll SIESHA| ¢
(

(©
d

4> o

EH JHo| QFS o2 AL}

)
)

2 FME|QUCE Prototaxites= I
LS otx|

Lt

oot 13 ma ol FHsHs Lhgel BRIt Jane Hil0] & 3122 13 S| S250)

FAICH R71H & 7

49 24RHANIM 37X
2z

a1
=]

=

P XMge2 X

= 20IEZX|
7|2t HI=otX|2t,
o] u]

[ai&] Prototaxites2t= MAIAICHS] R7[M7H AlZ0] ofLat A2 2 #&EACHE LIZO0ICE Prototaxites”t o AE0| OFIXIE
=10 eoz Azgoltn AgE BEE M 3™ =t Prototaxites was classified as a plant, but ~ on
photosynthesisE EH ZEME 5HX| Yooz AlSZ BFSH 4 Qich= AMAO| LI} QlCh

[27] 24]  (a) M AlZ]0fl chst Lhgolct [Zo] 4]  Prototaxites &2 EX
(b) 712t Alg BR= M= 27 glct AALAIZ]

(0) g2 ot Al BRe ME 27| sltt el
3o 2%

(o121 genus (ME 2% H4) &  bizarre 7|28t prehistoric MAF AHe]  inhabit AAISICE  bear ZHXICH  coil & 2
emerge LIQC} LIEHLICE  photosynthesis 284 primitive ®AIXQl  fungus #&

[LHE LX)

Perhaps more than ever before, @parents are taking an 1 0L MECHE @2 5= 010|9| D[S FAst=0| X=X09l
active role in the shaping of their children’s future. osk2 st Qlct J2iL MEIES A9 Wr|EEH Br ot
However, experts say that so-called “helicopter parenting” OlOIE0H E2 YstS F7|HCHE 0L Hsis Frin Us
®can do children more harm than good. “Helicopter ch. ‘d2lgE 2Ez'gln 2= 0lfe ©Y0IS0| tHEE9| Al
parents” are called this because @they spend much of their 7t2 0l0|E Z=Q0llA HEl =M ZAlGHT 010|E2] =S X|
time hovering over their children, observing them and Alst7| miZ0lct olE st uas2 X9 Mg o
directing their actions. For instance, college professors 1 Aofghe SfRER2E2E X FMEE 2=t o A2sH =
often receive phone calls from parents who wish to find out AR Boj} XpAIS0| g7 QAS =9l5t7| Qs 1207

A18 Answer key



what grades their kids are making. Even worse, some HeE ofttu oict shdnt A2 =8 F=E Higez ¥
parents have been known to call their children’s employers 712 87|z 17| R0, 0] 22 UL 2AeSs o £

to discuss pay raises. Such interference can backfire, since Qlrt,
students and workers are often judged on their level of
independence.

Q: Which of the following is correct according to the passage? Q o2 § 29 U8 Yxlst= A2?

=9| Oj2Hofl chelf A&stx| =Ct
M%OHH\ 2 =20| Ec,

Oﬂ Ols Eot Hh=Ct,

‘Qx{o\ A OlC
=l

= AT

(a) Helicopter parents are not concerned about their (
children’s future. (

(b) Helicopter parents are sometimes helpful to their children. (
(

(c) Children are judged on the actions of their parents.
(d) Parents can be too active in their children’s lives.

(3] ‘%ﬂa\ia 2o ol 'jquI 3i0] T CH2 Uk 01052 Q1Mo LS HIXOR Hestol SYHS FIRA| 23t A

[27] 24]  (a) 00159 214 Toil JHUBiCh [Zo 74] el 22Ol U5 WAl
(o) =20] =X| Yd=Ct= 20| 29 =X|o|Ct, dajEH 229 Mo
(c) 227t 7Hde 42 XtAlofAl £0]2o] Sot4 A4S ot A
S QUoLf, dutstE 4 Q= A2 obC, ESEShl R i
! hover WECt  direct XIAlSICH pay raise &2 Q14 interference 74 backfire ({2t A1t &ICt
independence =4
29. [M= AR 3]
In the late 19th century, writing in secret codes became a fascination 10M7] ZHE HIZ A& ARRO| LU CfE Afoof
among the general public. This was due in large part to the N 2 27|12 gt ol AY BEE 25 si=0|
emergence of detective fiction, which often made use of code- SZEISE 0 Alchel EFE AN mi2lH| o] AMoj
breaking as part of the story. One of the simplest and most used = Y= of=0] Cigt Lol Li=Ch CHESolA
methods of encryption among the public was called pinprick J1EE ZICHEiHA d2| AR E o5 A=Y 2|
encryption. This involved taking an ordinary newspaper and making StLteE His 78 ASCh Ol Yut MR2o| EX
tiny holes beneath specific letters which, when put together, formed 2X Lol 22 LYHS e o2 xFRig
a secret message. This method was ideal in England, where HIY MAIXIE DHECH 0] HHS E5| AlRo|
newspapers were not required to carry a postage stamp. It is said H AQIZ MX| Qote T FZO|A OAX0|S!
that secret lovers used this method often to communicate with one C}, Y HRIE2 M2 =2 H2tst7| flah of &t
another in secrecy. He X5 ABC

Q: What was one cause of the popularity of codes in the 19th century? Q: 19M17[0] 257} QEt5HH = fo1e?

(a) The appearance of pinprick codes in newspapers (a) A2ol Hs 7Y Yol S
(b) The difficulty of decoding secret messages (b) v D1|A\x| si=ol ofie
(c) The popularity of detective stories (c) &

(

(d) Free postage on English newspapers

[eH&] 19M|7

[27] 24] (o) YBTH SUF 3 His 7Y YsTt MO (2o 74)  19M7] 2iEol 98
(o) oIZEix| 22 thgolct 2 AN 2
() Bis 7Y Y57t RSt 0R0[0, AUs AL B8] AIRE His 7Y U5
S © olg ot 50l 82
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[o1&l] code &S fascination 0= detective 882 encryption ¥&st pinprick HE2 WS

postage stamp < AQl L in secrecy H|Zz|of

30. [ug 2]
Everyman is a late 15th-century English morality play, ©written (OE2[eH2 154|7| FHto| HMEIOH Zoz @A}
and performed all over the country by a group of priests. The S0| A1 H= MAN|M SHet A=0|ck =2 39|
play tells the story of Everyman, who is summoned by God to be =30il tiet AEts 27| fe A ez AstE of=e
judged upon his death. Everyman realizes that he has focused ol olof7IE SHECL 0|22 KHAQl Q1Mo
too much of his life on money and goods, and struggles to rid =1t TAo| 4R ESFCH= AMME 7D, AIS Dy
himself of his sins before going to see God. The play, ®like all 2 71| Hof XpAle| ZE M| el ofRAct ort= A
other morality plays, was intended to teach its audiences a MEOF 2t OFEIIXIZ 0] 2 HEUA nEe 7t
lesson: good deeds will get you into heaven, while riches will not.  =x|2| oiC}, HI2 Mot =S 61 20| 7t= HHH,
®@Though there is no record of the play’s original author, evidence  2xj= F=20f 7tX| 238icH= Z0|ct @AH=9| A=xtof|
does show that it was produced quite often for seventy-five thet 7152 gIX[EE O ¢1=20| 752 B Xt MO
years, making it ®one of the most enduring morality plays of its QICH= I LIQEAM @7 Al 74& @2 2= &
time. Mzloh = = 5iLizt =AUt
Q: Which of the following is correct according to the passage? Q: tg & 29 uE drlste A27?
(a) Everyman has had a long run until now. (@) oll=22[)2 OFEIEX| ZeiE1 ULt
(b) Morality plays were for entertainment. (b) ===52 225 ffst A0IUCE
(c) The play was frowned upon by many priests. (0) B2 gEAPH HS0] HMS HIHL
(d) No one knows who originally wrote the play. (d) OtF= =0| HXKIE RECE

[ah4d] 1BM71e] G2 A2l (olE2(e)ol LHE X Aol thet Lth=olct H=IXS0| HEet H=0IXI2t Though there is no

record of the play’s original authorOflAf 2717+ S=5101X|= RECHD LIIICTZ H2 (d)o]Ct,

(271 24] (@) OIRIRE] SR 5 B sl UUCE (2ol 4] 15M71e] 913 (oll2aley
(b) Bzt 32 e 7| 98t H3olc %zl g
() MEIAIS0| B BIS%ionE 1S0| HYY Bt %30l mE
8 e130/ct %3 yot =3

rid 2l0HCt  sin Z|  deed &?| enduring F£20!

[72]
C
3
3
o
>
b
rl
ol
=

[ofl] morality =5  priest AtX
frown =OMEsH S

31. [ue ¥

In 1998, art collectors Karen Light and Marcus Pefia 1998 0l& 427t Karen Lightet Marcus PefiaE 0|2
opened an art gallery in Seattle to display their unique oM B2 XSS =55 HINEN olg »ES T
collection of outsider art from all over the United States. 57| s AlOHEO| Dlane FQICH OH|IMEX o< ol2t=
The term ®“outsider art” refers to works created by people 80l= FA 1S UX| 22 MZ0| HEB 2ES RIF6HH,
with no formal training, and includes many types of folk art Toolo| BHE o &= otz L BI0|SE0| ofof &5
as well as art by the disabled. ©Karen and Marcus began C}. @Karenit Marcus= Z/g52 X[&Q| P&0&E +8o=2
their collection with folk art from the Deep South, but over AZRIXIEE E0 Z2X SMR AR XI97HK] 38 SR
the years have expanded their searches to include the rural ~ @Garde Rail2 0= SMEfHS A0 52 0zHozE
Midwest. ®Garde Rail is the first gallery of its kind in the A B 0j&T0|0, @0|=9] Aoty Yot gl= HIMEA o
Pacific Northwest region of the United States, and “one of =30l siLtz, Az SESH MAIZo|Ct

just a few outsider art galleries on the West Coast, making
it a truly unique establishment.

A20 Answer key



Q: Which of the following is correct according to the passage? Q: 08 & 29 W8z Lxlete A2?

(a) The Pacific Northwest is a hub for outsider art. (a) SMEHEY X|%2 HIMZA] D& SHo|ch
(b) Outsider art is made by those with no art education. (o) HIMEN 0|&2 0l& WIS HHX| 25t ARIS0| B A
(c) Karen and Marcus began collecting from the rural olct,
Midwest. (c) Kerenzt Marcuse MAIE +EE SME AlZ XIF0IAM
(d) Karen and Marcus collected their art from the West NES IS
Coast. (d) KarenZt Marcuse EHEY CIRIXICHOIA Ol&2S &+
ok
[sh&] HITZH ozl Folet O TAf et tES TR QUCH HITZH ofs2 JAFe usd 2| 42 A0 BE AF,
= -IL

[27] 24]  (a) 3aXI7F ofL|at A i Dlzto] 7! X|<olct, [2ol 74] HIXMEH ollz TAl
(c) 20N TS AIRfRHCE HIMEN ozl 2o
(d) Astitoll MAIS SRACt AE 28 XE
Zizjz| A
[of2l] display MAstCt  formal B2l folk art PI&E  rural AIZ2l hub &4

32. g 2zl

The rising price of commodities is putting a great deal of strain AL 71740] OIA0| JHEZO| AL HES Za Qo &
on developing countries. As the price of oil and food continues 7tet Al JHA0| A& 22FHM JHEZ0A 21Z20]40]
to rise, inflation becomes a serious problem in these places. aziet EAZE =3 QUoh 22 TPl PaMeE] 2
Many families find it difficult to get the basic necessities for ot 712 2458 Toh=dl ogize 1 U=dl, “ol=
everyday life, ©®as wages have not risen to meet these higher =2 J1Ao| 20 20| @EX| %7 WEolch ALt
prices. In addition, developing nations attempt to keep the NeZS2 fle =2l V5 BHE S0 AY 3
food supply at ample levels by ®importing more and @raising =2 4uyst £Z70=2 Xk oA Qo 0|2ZM TR
taxes on exports. This makes it difficult for other countries of Algfg x| flofl Algf »eoll ofEsk= O =7t
dependent on food imports to get the food that they need. The SOl ofA¥X|R ATk 0] Zuz o B2 £ 2/Pt 1
result is that global trade is slowing due to the growing =T =X FH0| E20{SA Lk

isolation of exporting countries.

Q: Which of the following is correct according to the passage? ~ Q: tS & 2°| U&u Yxlst= 227
(a) Jobs have been hard to find in developing nations. (@) H==0lM =S F= 2ol ol ARICE

(b) Most countries are importing more than ever. (b) HE29| =7h= 1 ol MEn= s S
(c) Wages are not rising to meet inflation. (c) 2Z0| QIEa0]&

(d) Developing countries are increasing food exports. (
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n
>
62
rr
[ml

[aH&] QIS2f0[do] S ol thall LR AUtk EE9| 7140 J&3Helt 250] 22X ot 4o o2igs 1 At

[27] 24] (o) HYE0| ol g5 ol =Ho| SEFA T, [2o 74]  QlZojMe Fe
(b) S =217 Yol +AZ0l THY BEXle ¢ 28 1A d5
- gl A ERC 42
(@) H==2 +& HME =0 #5232 20/ UCH MIAI 2o] FA|

[o1&]] commodity Z+Z  strain 28 ample 528 isolation 1

Diagnostic Test A2



As a writer, | find that inspiration for stories can occur at Z7t2 A L= 0]0F7|0f CHEH ¥zio] o met= s
almost any time. Unfortunately, it is not always possible to 4= QICHE HE UYLt SGIAIT S 02 M2 Azt
remember all these new ideas until | get home to my work 2 o Mo =aE W7K| J7|Setn = AL Ets
desk. This is why | began to carry a small notebook in which | gict o[ 0|R=2 Mzio| HRE wjoich H2E & 4 o
could jot down ideas as they came to me. Over the years, | A A2 £8E AL Chu7| ARRIC K| 32t L=
started pulling out that little notebook at random moments, Eds| g2 x| 23S 1f 1 A2 LEZE 02 mL}
when | did not feel especially inspired, and writing down FHZ TEGIH M7| AIRBHCE 0[Z40] 7191 LiofA| ¢
observations of my surroundings. This has become my most T 8% =t HUct o] HZE ¥ Y SO ARSt
useful tool as a writer. These writings may go unused for A %S m= UXDE ofE HHS M=h 20| TR
months, but if | do need them to help me write a scene, they 40ll= MY5| fSsiXc
become useful indeed.
Q: Why did the writer choose to carry a notebook at all times? Q: 2Pt & EE XU D CHAE 0|R=?
(a) To write down random observations (@) OFF miLf &5 IS X17| sl
(b) To organize his ideas better (o) Mzts o = Hzl5t7| sl
(c) To record his ideas before he forgot them (c) Mzht 242 dlojH2]7| & 71=2517| h
(d) To write stories whenever he felt inspired (d) 0| MRE wf 0/0F7|E & 4 U7 Aok
[ah4d] ot Z71o] olop|E Salf tlRel SRS 0lof7 st T S220l= Y| M2t HMS 47t glof SHIX|L, +HE 7t
X1 CHHEM HI2E AR 0|22 U2 =30] =0t Yolct matd of HES Selel B a7t 88 S1 Citle
0IR7t ()2t AMEE & & ATk
[£7] 24]  (a) 22X 0lR7F ot 1 2| CiE M2 =2 [Zo 74] oz 524
£ ATk Aol == HES doiHE
(b) HRE= 22 XM= X0IX| 422 Helsk= A H=2E 57| AlEfg
2 Ofch, 2o K84
(d) oloF7| XIHIE &= A2 OfLIct
[of3l] inspiration &2 jot down &0{ =Lt random 2A2|9| observation #Z  surroundings &9 A
34. [x=]
A pair of Siamese twins in the United States has been 14N7te] 7ICIR2R 448 B Quio|At Elof w20 |29
successfully separated, according to the team of surgeons +F WS07t dB8Fo= 2=tk st WSole 7k&ol
that performed the difficult 14-hour procedure. The twins MEH GHoIIXI7F 2{UKRAT 1 Afojofl st 7He| HY|, &
were joined together from the chest to the hip, and shared 712 ZRF=M| JAIS2 0] 7H2 = JHE =alshof gict o]
an organ between them, the liver, which doctors also had 0= WS0l= 2alot7t EW o ofigls Lt 30| OPL‘
to separate into two pieces. The American twins also ZX(0F 20{Ql= HE20| 0|52 BUCEH Af AS0[= 240t
benefitted from the fact that they were joined only by a ZM0]| BF H MEE S| SIS 0152 £K&RH0| &AX 18|
bridge of tissue, rather than bone or cartilage, which can be  2¥=(x| 238 tf XtZ Qtof A ZgHEct,
far more difficult to separate. Siamese twins are a rare
occurrence, happening in only one of every 200,000 births.
They become joined inside the womb, when the fertilized
egg fails to separate completely.
Q: What can be inferred from the passage? Q: 29 UE0IM FE2 & U= A2?
(a) It is not always necessary to separate Siamese twins. (a) of Ws0l= & 22/ et itk
(b) Siamese twins are increasingly common these days. (b) 2 US0l= 2F LEEQI HAO|CK
(c) Surgeries on Siamese twins are still relatively rare. (c) f ASololl CHet +52 OFEIIX|E =20,
(d) Siamese twins usually do not share organs. (d) &f YS0l= tiol F71E SRoIX| Y=Lt

A22  Answer key



[atAd] o Wsolel EF 2 0 200 e LISOICE 4 WE0l= iR =27 Y4stH, 012 E2 ¢ ¥S0lE 2elote 52
5t Zi0Ick et a2 XHlE E87 Yoldths AMME F2E 4 202 (o7t Zol =,
[27] 2M]  (a) 22 Eege g Lt [Zeo 74] 0= & 4S0l9 &
(o) E2 Z22rD Liet Uct g3 22
(d) 2 WS0l= S0 M2 20{eaz, gy Sh= Zg 22 ¥ 29 8014
202t & 4 gt AP HE0[0] A
[o1%l] surgeon 2/1t9JAt  procedure Xt liver 7t bridge HZ tissue =X| cartilage =2 womb A=

fertilize +~FAI7|Ct

35. [x2]

Tourists wishing to travel from the United Kingdom to France have AZ0IlM Z2AZ ofEisiiE HEMSHA=E E It
a number of options. The fastest way to get to France, of course, X| MEeHRoO| QIct @
is through the Channel Tunnel, which can be two-thirds faster than
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the ferry that crosses the English Channel. If passengers plan to s Hue=

bring their cars, they may take the special “car trains.” For a fee of AZolatH EY KISxt Gif £ 2 42 Qo 2
49 euros, you can load your car onto the train and take a one-way 49REE H SXiof| X2 Ao HE=Z oy HES
trip through the Channel Tunnel. Space is limited, so booking g 4 Qo Zzto] Mt=loiled ol2| g A
ahead of time is recommended. For passengers who wish to leave 2 #BiCh X2 S of&ish S2H0A| 71& Z22 M
their cars behind, the best option is to take the Eurostar passenger B2 50922 mj[7(a] =1 HHe[oh 25 (A
train, which provides quick and convenient round-trip service to = NZsl= SERAEN YXIE Ef= Ao|Ct

Paris for a fare of just 59 euros.

Q: What can be inferred from the passage?

S

(a) Round-trip service is cheaper without a car. (
(b) The Eurostar train is more comfortable than the ferry. (
(c) Travelers can drive their cars through the tunnel. (
(d) Round-trip tickets through the tunnel are cheaper than the ferry. (

[aHAd] =0t THAES QIt= HHXISS et wE STHof tist LIS0ITE Xtk &7l siEle == 0|5atH 49R22| = i,
£ 98RE7t S0, &t 8l0] REAEIE 0|83 822 0lsstH 50727t EC0t Wath (a)= SHHE FE0|t
[27] 2M]  (b) Ha2lsiths W& Qlout Hotske vlush g [2o 74] g 4 oA = uE pH
2 gick SHA Ef2 2 i 01
(c) AI2 Al 2Msich= 82 glen, Rt2 7IXto| AtsAt St Al 0 2Ly
10 o e = U SZAE} 0|2
(d) 8] 70| MA=l0] UX| teo2 HlmEt
qict
GE| Channel Tunnel & 5l EI'E  ferry ¥=M  roundtrip &= G fare 2

36. ==
As a graduate student, | can remember spending countless CHSHAA AIE, Lhs A 4 glo] B2 AlZtS ISt 28
hours laboring over the works of great literary scholars. | never 7to| Zm MERME A 7|Yettt L= a2EA R
could understand how such brilliant people with such wonderful ~ A2tS 7181 ZAGH ARZIS0| off J2|= 2AFF| X2 =
ideas could write books that were so downright dull. | brought 2 & 4 Q=X olshE 4 QAT Walter Benjamine)
these same preconceptions to the table when | first read Walter |2 00| 22%S X2 QU2 ME 0]t 22 MeIA
Benjamin’s latest collection of essays, and thankfully, Benjamin £ Zt7 Q[Qi=0|, T7= Benjamin2 Li7F 25t 0|2
changed the way | looked at literary theory. His writing is crisp 2 He BHS HSAZAFUCL 19| 22 Halste S|
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and interesting, and for the first time ever, | found myself
unable to put down a work of literary theory. Benjamin speaks
to his readers like an impassioned college professor, engaging
them in his research and immersing them in his
groundbreaking conclusions.

Q: What can be inferred from the book review?

(a) The book predictably fails to entertain its readers.

(b) The author did not expect to enjoy Benjamin’s book.

(c) Benjamin’s theories are good, but his writing lacks style.
(d) Benjamin’s book is like no other work of fiction.

2300, U Moz 238 ol A
At Benjamin® E4ZQI st w
SXIZ AAlo] 70| BOjSOf ARAlo| B

250t Btk
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Q: & oA F2 4 Ql= He?
a)
b)

( A2 oMH2 SXIE £77 st AnRich
( 9|
(c) Benjamin2| 0|22
(

Zolst2lat 7|cHHR| ke,
EE5x0t Zofl AEIU0] gict
=

ESin u = =

B[l

S

7= Benjamin

d) Benjamin2| &2 Cf

[5H4] 28} 0I2M0] g2 1 UH %%OV Walter Benjamin2| 23 0|2AME Y1 ZES BIRiCh= LIEOIC | brought the
same ~ at literary theoryOilA] A0 211 QUIE HA TR0l 7|CHE ZX| 210 BenjaminQl M2 SRUCH ooz g2
()7t =c,

[£7] 24]  (a) 220l= of¥zt el O Mg Z4F 2 it [Ze 74] 28t 220f| et 24
(c) Xofl chst FTtat Lok QlCt 7|1= 28 AE0l| st A%
(d) AH0] otL]zt 28t ol2Ao|ct 28} AF0f| cfst A

Benjamin2| 2201 chet Zef

[of2l] labor TM5CH  downright =%$t  preconception ™71  crisp HaH§ impassioned HEXQ!

immerse 25A7|Ct  groundbreaking SiAIH01  predictably OIATHZ
37. [z2]

Animal migrations can be stunning to observe, whether as
flocks of birds flying south for the winter or salmon swimming
upstream to spawn. For the animals, these migrations serve a
number of purposes that are crucial to the species’ survival.
There are several types of migration. Birds travel thousands of
miles each year to seek warmer climates when their food
supply becomes scarce. Animals that live high in the
mountains may migrate to lower altitudes when their habitat
becomes covered with ice and snow in the winter. Some
species are simply nhomadic, and continually migrate from
place to place without any specific direction.

Q: What can be inferred about animal migration?

(a) Migrations take place in the winter.

(b) Mass migration occurs when food runs short.

(c) All animals migrate according to specific patterns.

(d) Snow threatens the survival of animals in higher regions.

[aH] =

=2=0
==9

0l=0f tist LiZ0|C, these migrations serve ~ the species’ survivaltl] LI2IQIS S2E2 MES 2l
7|1E F

o
sttt Txitiel S20| U2 =2 W 0ISEIT oo, AT £0| 2S0| ME0 SHE 7|

M 227t 720l YBo2 HopIE, 07t 42 €| 9
i 42 74e3 SaPIE, 529 ols2 IS A2
Eo12 ol @ 4 Utk SBOA 0121 0iS2 FO| ME
of ZEEe of2f Jix 28 U8t H0IT OISO
7R BRI UL M AR 30| BEHXIS o o
B 715 A0F A IUS ORI, =2 Mo A= S
22 7201 MM} €83t 0= Holy| Altstel
2 9l 0[SEiC), Offt B2 CAd| WYS F0l, S
B W Q0] SN B FAOIN CIE FAZ 0SB,

[£7] 24]  (a) 0157t H20l2k dojtctn £ 4 glck [2eo] #4] S22 0F
(b) Cholsofl gt Lh82 &= 4 ich 712 W AFE QIR olF
(c) &iet 8lo] olssl= =501 tigt Lgol Ck = % ISS mlotr| {Igt olF
AT =X0] gl= 01F
[oi2l] migration 0|5, 0|S stunning =2t flock H|, 22| spawn AfZtSICH  migrate 0IF6iCH  altitude 1=

habitat M4/X| nomadic gZst=
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The Battle of Stalingrad was perhaps the main turning point of AERZITole MEE ofote STOIA EAISH K2R M|A
World War Il in the European theater. (a) The attempt to take thEel 2 MEH0IUS Aolct (a) KET0l MREA
Stalingrad alone diverted a million German soldiers to the S El2o| MEEIHAM, ASRITeiE S ZHoe T
Russian front as European forces were resisting German 5l7| Qs HHRE o] =QI 012 piAlo} MAMOR ZiTh
encroachment in Western Europe. (b) Caught in a fierce battle (b) 2IAlO} ZCh OfLl2t 1943E =55 HAgne Z{st
not only with the Russian army but also with the unforgiving Al MEXEE SUFE2 gle & ASRIOIES Wty |n
winter of 1943, the Germans were unable to secure Stalingrad At FARDE o220ty Al ECt () £ =Y =A|
after eight months and lost a good portion of their forces and ol ZIsH=! £t g

morale. (c) Bombing Germany’s cities was also a major factor in
the Nazis’ defeat, as it cut off supply lines and broke the morale
of German civilians. (d) Furthermore, the defeat at Stalingrad left ZZof
Germany unable to fend off an invasion from the East and West.
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[27] B4]  (a) ARHET2tE MR AJZo] TSt LHEO|CE, [Zo 4] M7l 2%t thE ARRITElE NS
(o) TIE| ZIghof CHat Lol =YU0| 2{AloF TMo= Sfet
(d) TEo| Zatet Atoll Cheh Lh8o|ck =Yatol miol
AEEOetE FEo Hef
(GE)] divert Z2|Ct encroachment &= morale Al7| defeat il supply line 824 civilian 217! fend off LTt

39. [=21® 52 mief]
In a recent speech at the Kansas City Federal Reserve HRIAAE] HAHbZEH[2E 5[olo] £Z ZUHO|M Carl
Conference, economics professor Carl Walsh argued that low Walsh st uee= ®7|2tel = F2|2 ofziof 2l
interest rates over an extended period may lead to future Z0[M0| € 4 rtm FEEICE (a) 0IF HL=H|H|
inflation. (a) The U.S. Federal Reserve Bank has tried to calm CO|AE= Sixf 2alol X220 et 0IXIE FHAM
such fears by paying banks interest on the money it holds in 0] 22 S22 TFAIZ|IH =35tn Uct (b) 0=
them. (b) The U.S. Federal Bank sets the value of currency by oHeredie 0|2 L 28| £X6tAL AI2S £26t01
either investing or withdrawing money from American banks, E3lo| JIXIZ M5l 0= 29| tfE AUl XIZ
which in turn determines how much banks loan out and how 3|M AMAS AFBIY (C) 28 =2 F1 Y=2e=
much money circulates. (c) This move would likely prevent banks 0212 27| mj20f 0 22 Zil= XI20| +&6H=
from releasing this money into circulation because they would be 7 %S 4= Qlrf. (d) 22{Lt 0[2 o= &e ¢
making money from holding it. (d) However, there are many S0 =AZ|T Qlck Walsh mae= FHEM|, 0l
pitfalls with this strategy, Walsh claims, as it depends on whether Hi2 2&0| HA|of thE HI2E 22|LLfo 47|
or not banks raise interest rates on loans at just the right time. 20|t
[at&] 22 Z2 F2I2 Qlet QI1Z2{0|80] titlsk= 0] HYEHI2SO| ti|AS CiR 1 ot LoX| 282 %2 S2/ol tigt ol
2GS =5t UKL (b)= SHFH ANM 0] AEd2eel AL olop|stn ALEZ 2o =X W SE1} 0122
X| =Lt
[27] 24]  (q) S2IE O XSgezM 280] =2 o BRsin [Zo 74] o4 ZH| 289| olg T
Ul Sfth= siaxolct =2 0l20] QZ20lMs =afet 4~ U2
(c) #I2l siiEMoll e X F1olCt =l oIXIE XIget
(d) ¢ siZHMe] ofet=l= EXIFOICH 20| thE OIXE =Y & US
E! interest rate 0|Xk2 Federal Reserve ¢idf &H| 28  withdraw QIZ35ICt  circulate 22151t pitfall &%
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Pictography is a form of writing that uses representational, ASEX} B7|H2 BEX0|0

pictorial drawings, and it serves as the foundation of most
ancient languages, such as cuneiform and hieroglyphics, and

SI=|

0|5 B lojo| 7|RE

Sz, 7I2xiel MRSt 22 O
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TH#EF
SN

01
Cl. (a) MotAlofet
f

some contemporary languages, too. (a) In the earliest SOIAoF =7 2FolA X042l 7|s=
civilizations of Western and Eastern Asia, written symbols were A0 S 2101 MHESXIQL AMZES LIEHH = AE
based on pictographs — pictures which resemble what they HOIZXt0 7|Htstn Tt (b) o] HES= 7IEH
signify — and ideograms — symbols which represent ideas. (b) 5000ERE =7| It SF0IM A=A 7[&M
Such symbols were used in ancient China beginning in 5,000 2,000 3d0l= HOIZXt AARIC= LMHY| mhZof
B.C. and developed into logographic writing systems around ZZ0E XI5 OtAO} HOIS L5 ASEXt0f 7|x56t
2,000 B.C.; thus, Asian languages that borrow Chinese symbols A ERALE (c) B=0= B2 THE TS0 7| 2k
are also based on pictographs. (c) The Chinese language 28t 7hset 28 Q| 7SS JIX|n QUL (d) A2
contains several thousand symbols that can be combined to A= &3] ofZa|zt HE otdl27l AotLote] 2
form many different words. (d) Pictographs are still directly used At Sle U2 250N 202 2™ AR5 Lk,
as the written languages in some non-literate cultures in Africa,
the Americas, and Oceania.
[ah4d] SR HIIH0| MY S S| ojoll OJF! Fekoll s AEstr UCL S22 S=017F HEEAe] Al o2 L]
= oLt LHX| 22 25 LA 27|Hol| et AHeld| Bisll ()= S=01 Xtxoll tiet 43S ot ok
(271 24]  (a) =719 2Kt HOIZX 0] ot LHZolC [2o] 74] o¥ 22Xt ®H7IY
(b) =015 o2 S0 YF=2Xtoll chalf HHstn CHE olof AAlQl 7(8¢
Uck o 2Xt 718t 21o]
(d) OFEZIX| OI2=1 U= HHFZXI0| Ciet LHE0lC T o 2Xte g
CHE X9 & 22Xt
[o12] pictography % 2xt E7|¥ representational E3i5l=  pictorial 1222 LIEHH  cuneiform 27| 2xt
hieroglyphic 4% 2xt signify 20/5tCt  ideogram ®2| 2X}  logographic #0{ 2X2

non-literate =Xt ALE 0|9

A2E  Answer key



Section I
Chapter 1

1 _Fast Reading

Mini TEPS 1.(c) 2.(b) 3.(c) 4.(d) 5.(a 6. (b)

1.(c) 2. 3.(a

Mlnl TEPS ..................................................................................................

1. [Part1 thel mel]

*Bible llluminated, the latest attempt to bring the Bible into the
modern world, is a 300-page glossy magazine containing the
whole text of the New Testament in a popular translation. It also
includes a number of images to accompany the scriptures,
including urban flooding, a Nigerian slaughterhouse, a girl eating
noodle,s and a dog in a limo. “Some people will feel it is
dumbing down,” says David Ashford of the Bible Society, an
organization that exists to “make the Bible heard.” However, he
explains that early versions of the Bible also had pictures in
order to attract a wider audience. “At first the Bible was a
collection of scrolls, then illustrated handwritten volumes. When
printing was invented, they were produced in Latin with
pictures.” Therefore, ironically,

(a) the images found in the original Bible are provocative

(b) Bible llluminated is a movement to contradict the original
Bible

(c) the non-traditional format is actually similar to the original
one

(d) there were no images in the old Biblical scrolls

d42 ddsotds =
lluminated>= A°of &M 22 THE &=
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(a) =7 M0 Yeizl= o[0|XIE2 X=EHo|C

(o) <Bible lluminated>= %7(2] MAS 2Xste 2
s0|ct

() HIMSHQ! Hel= AXMZ =7(9| HEHRL HI=aTt

(d) 712 MM FR0t2(0l= olo|X|7h SRt

= CHefet HtiA ARRlE 20 SIiXQl Ao = XifsiAMsto] A= L7ket Aol thet 20ICt, However, he explains ~ attract
a wider audienceE EH, =XA5S Y X002 x7| HZ0f 0[0|X7H Z=0 AUASS Y 4 AL th| <Bible
lluminated>&= AHEIS E8tetn Qth= FoA HZo| =7| FElQ HIxsle 2, e (o)o]ct

[27] 2] (a) 7] 449 0|0|X| EF= UGEX] LU [Z2o 74] (Bible lluminated) 2S2Z M2 474 Wzt
(o) Bt BtheEl= 27(olch 259 EY
(d) Loxjofl X3l Moz £22 Iz ago| A 2SO0 st gl

i)

AACE,

Must Know

250/ 9p|

*Bible llluminated , / the latest attempt to bring the Bible into the modern world, / is a 300-page glossy magazine / containing

the whole text of the New Testament in a popular translation. — 5=0{= Bible llluminatedO|H, 2| the latest ~ modern world=

F0l2t SZe=z MLt
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2. [Part1 tHe| meH

In November 1999, Seattle hosted a WTO meeting where the
representatives discussed international trading rules. Onsite
public demonstrations arose against the talks, and

. Approximately 50,000 to 100,000
protestors from all over the world, including human rights
groups, students, environmental groups, and labor rights
activists, came to protest against exploitative practices by the
WTO. While “the majority were non-violent protestors, a few
engaged in violence and looting that led to the Seattle police
and National Guard declaring a state of emergency, which was
essentially martial law. This in turn led to curfews, arrests,
tear-gassing and even shooting rubber bullets at innocent,
non-violent protestors.

(a) public support for the protestors caused the WTO to hear
them out

(b) officials took heavy-handed tactics and cracked down on
free speech

(c) the WTO relocated to another city where protests were

1999 118, AliE2 2/8= tHES0| =A w o]
Oisll =Clok= MAIRA7IFWTO) slEgE AR HAl
olMe g0l Brtist= Al fI7F 0‘01”9'31,

A MAolM 2l EW\ St gt

=22 WTOS| 2FFQl 2l gitistk= AIME %%Ef

RS BIZ AYIAISOIRIR URE =2 Al9iZ
=
=

0|11 oftE XIRlSHOm, 0|2 sl A0S 22 d=u &
fI=0| =7t HILAEHS ME=d|, Ol 22Ae=z /Y
ZO|RACt, 0| miFoll Faueh B|ZFE ARIAHSOlIA7EK] 0FZ!
=8, MZ, 2FE YXIo| nRE 549 Fefo| o|HC.

(a) AISIXIOf Chet CHSS2| XIXI2 WTO LHERISS Al9|
X1g9 278 S

(o) B2ISS YrIRel M2 Tz

forbidden
(d) the protests subsequently spread to other areas throughout
Seattle
[ai&] AOHE0IA S=! WTO 2|gof Bioist=e AIRIXIES OE7 TI3M=X0f tiet LIS0IC), BiZto] ZakE 2%9| Onsite
public demonstration2 EH, YIZtoll= AIR{ofl Chet LiZ0| S01710f SiCt, REES EH AOIE FZt &I=F0| Xl

ojAs EatKoz Holske HIZARISVIX] TG LHE0]

ez g2 ()|,

[27] 4] (@) BB XIXI0l i3t 8L it (2ol 74 AlokS WTO Slehat Alg Flgt
() BAE S7I% 2T S5t 73 2 Bieh Al
() AOKS LHOIA AI9IZ FIREHODY, AI9I7H BH3CH =24 AI9lof chat g

Must Know

“the majority were non-violent protestors = majority= 2 242 A5 M0|H, FAIXQ!I 2H|L okLte] HEH JHMZ A9l Qolg

R G EHE Mol

3. [Part2 tfo| mel]
Dear Mom and Dad,

| have been *having a blast here at camp for the past few
days. In fact, | cannot believe that | was actually afraid of
being gone for a whole week! Yesterday, my cabin leader took
us on a hiking trail up through the woods here, and we saw all
kinds of animals like deer and rabbits. | have also been busy
practicing at the archery range and swimming in the camp’s
enormous pool. Tomorrow night, all the cabin leaders are
going to have a big cookout, and at the end of the week is a
big dance for everyone. It will give me and all the friends |
have made here a chance to hang out one last time. | will see
you next week!

A28  Answer key
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Love,
Arnold

Q: What is the main topic of the letter?

Armold 22!

Q: 0] HX|| FH=?

(a) The boy's friends at the camp (a) 20 A2 TS
(b) The troubles the boy has had at camp (b) 2E0| ’:.“EOM 7= 2NE
(c) The activities held at the camp (c) BN of= ESS
(d) The place where the camp is located (d) B=7F fixfet g4
=] Arnoldat= AH0] oA B HX|o|C, Aol 27| M Fe{RioLt st 252 E7/1HAM & XU rt= hE0]
Cf HX| Tt 2 Zmo| 50| AN B2 EE ()0l
[27] 24]  (a) MRAISE SEER0|| &A| HgEC [Zo 74] HZoM 2 HX]
(b) &S7et= olMRIZ2 & XL QT AL Ho|US
(d) 2ol AF=X| L= LiZolck o ot Q= ES
oo &5
Must Know
having a blast — blaste ‘S8, 24’ S& 2|0[5IX|2 have a blaste MOIUE AlZke EUCH & 2jojo|ct,
[Part 2 LK UXI]
For Sale: A 2005 Used Office Printer. This is one of the 20054 & &1 MRAE D2IES TOHELCE JD 214 SIAt
latest and most sophisticated models released by the JD O FAS0|H 71E M2 R AMMESCH S o M5
printing company, sold here for much less than a brand Al TOSiLCt o] Z2IEj= e=A m@,\ Al 7|50] Qo
new model. This features @a photocopier and scanner, and A J7|sE ZFD QUX[EE @Maco|Lt 1999E 0| 7159
it has fax capabilities, too, but @the fax function is not ZEEOl= A 750| KRR 2&LCH AT EESH|
supported by Macs or any computers made before 1999. T 22 729 AIRAIM ©67HEE ALESt Z10|7] R0,
©The printer was only used for six months in a small office 7{9] AjZ40|L} OFRIZER] QILICH ®7(HS 200220 |X|2F =5
before it was put into storage, so it is practically brand new. SAF RSB o XM LIRS 555-908-40052 2t
®The asking price is 200 dollars, but | am willing to ESSINI=]
negotiate. For more details, call me at 555-908-4005.
Q: Which of the following is correct about the printer? Q: OF3 & ZelHol tigt d¥e=z Yxlsk= A2?
(a) It can only scan and copy documents. () 2743t 2M SAF 7152 ECt
(b) Its price is permanently set at $200. (b) 7tA= 200210l LF 0] UCk
(c) It has been used for several years. (c) £ St ALZBEIUCt
(d) It is compatible with Macs except for fax function. (d) WA 7|52 NLlotH Maczt SetElC)
[aH4d] S Z2IE9| Tof Z10|C 2A|, AL, TAO] 7|50| UKD the fax function is not supported by Mac2 2 0|01
HOF MacOld= TA 7158 £ 4 Qe e & 4 QU Ol & A 2/9| THE Jlsih= S20| Etk= 2olez, o
2 (d)7+ =lct,
[27] 24]  (a) 1999 0|F2] MacO| Ot ZHFEOME WAE [Zo 74] Zu =ZgH o gu
Elct, ZelE 7|5 & St
(o) 7H42 &4 7tsaltt AL 712t
(c) 671 8ol MX| 4L 7t4
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5.

[Part2 £E]
Dear Mr. Helpful,

| work at an office in the downtown area. Ever since |
began three years ago, | have had no complaints, and |
have been getting along well with all my coworkers. Then,
about three months ago, we hired a new guy who is very
bright and nice, and he had a fairly solid resume. Well,
®then | got a good look at his performance. He constantly
talks while everyone else is trying to work, and he never
turns in his assignments on time. ©| do not want to get
anyone in trouble, but something needs to be done about
this kind of behavior. Any suggestions?

Sincerely,
Toby

Q: What can be inferred about the writer of the passage?

(a) He feels that his coworker should be more professional.

(b) He is able to ignore his coworkers’ talking in the office.

(c) He wishes that his coworker would leave the company.

(d) He does not want the new guy to associate with other
coworkers.
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HYOZ =T 4K xR o Aol el B7t =XI7H E
25t A Z&UCh 01% 7 sfiof 7te?
Toby 28
Q: 22olof tisliM FE2 + U= A27?
(@) 2= A& S=27F o MEIICHRIoF ettt 7l QACk
(b) 2= 2& =27t Yotz AS FAIR 2 ULk
(c) 2= 19 =27t NRAE mHLE Hi2ta QU
(d) 2= ME2 20| o2 251 ol2ele XS Aot
|

O

o

[ai4] ol Lot =l= 21 S=0i tiet 20ts E2ot= HX|0|Ch 2¢20|= then | got a good look at his performance0i| A
=2 £ UK I 59 LFAQI Holl 20t0| Tk CHE AFS0| €S 6t ol AL +0E B IS Mo EUX| Retct
1 Agtt Aoz Hot 20l S22 Y2 Uisks Ef=0l 2XI7t AT 2kstn QUCH wheth] g2 (a)olCt
[27] 24]  (b) EXle S2EL & GS2CtD LRI [Zo 74] S=of st 0l Mg EHX|
(c) S=Tol7l ot Il =11 oX| Ctn oo Y
2 HXE FE0|ch N22 5829 8%
(d) 22 Sall ¢ =+ gl= UiEoict M22 S=20f ofst S0t
B. [Part3 =2|x 52 o]
Despite Secretary of the Interior Ken Salazar's warnings about  L§2% Ken Salazar7t Al
the explosive growth of bark beetles that feast on pine trees, SHXOl 712 ANS0|E 275
some environmentalists and scientists claim that the beetles SHIES LIRE0| AlNzR=
actually help forests. (a) *After the beetles kill mature trees, LIRZE0| Ct X[2t LIRS =01 & £
the soil becomes more fertile as nitrogen levels increase, U] B7tetHM H2
sometimes tripling, so the growth rate of surviving trees OJX|Z LtH LI2o| ME20| 7151 EIEr (b ) F‘iOﬂ
increases when the infestation ends. (b) The debate about O3t =2S 220 020N =L Qo2 Me2mn Q=
bark beetles has recently become a major issue in the United o, 0] M ARIofAM LIREC| Aol 37| mj2o|ct (c)
States, where the insects frequently infest national forests. (c) LI2E2 £5t MRl LIRS 2Ejigloz =28 &rt
Beetles help by breaking down fallen trees, as well. (d) “They (d) YAZA Ofste] mESIXI0l Ken Raffa BiAl= LIS
are valuable in terms of nutrient recycling, and they introduce Z£2 HURo| xigte HolM 1 S5, ATt L2
microorganisms that further break down the wood,” said Dr. £ 2&liol= nME SUIHIE 22 SUCH 2t L3t
Ken Raffa, an entomologist at the University of Wisconsin.
(] LIRE0] ZHAQ1 kol thet 2oict, [ 2FoIM Floll Ix|et He BH LIRS X0l Fgol 22 :& g0l Ed
= AldE o 4 ok LRE0| 0|=29] F2 =4 7e2lek= ()2 W8S LRES ZEXC! Jefut= AV gl EOICh
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[27] 24]  (a) LIRECZ Qo LIF MES0| S7I8iCtn 3o
22 FHlet 5h= 27(0|c
(c) LHRES| SHA ot
(d) LRE2 38X das [teloh= tE7tel 2l
=0|ct,
Must Know

o

=] o o
U2 MES 27}
U= 23 2 NES

*After the beetles kill mature trees, / the soil becomes more fertile / as nitrogen levels increase | / sometimes tripling, / so the
growth rate of surviving trees increases / when the infestation ends. — sometimes tripling2 2| as &of| CHgt EAFFZ0|CH
TAHO| BItetER / H2e Ml Hi7ER| 7t SIHAT 2 OlshetH =si7t w=Ct,

TEPS QUIZ )vvveeeeeeeese e p.45
2 3 4ol e f7)0) s+E g 2t
(@) TtxIatcH (b) ZEsict (€) S4ts (d) ~ofl 7|c45tct
[stA
provoke= RUSICH 22 Uo7|tt & ou|E JHEIct S9/0{2& bring about, cause, prompt, instigate S0| RACk
4l =52 Eo| S'E otAlotol| s A=, 0l =0| =8 Rolct
(@ RLAIZI= (o) 22 =+ A= (c) BE=Ql (d) &FAel
[a4d]
exploitative= EFXOI XIS JHESHE 52| S20ICf, exploite SAIZ M0 THESICE 0l5ich AFfGi; S2f 2lnlg ZH=Ct. abuse,
employ, manipulate S0| S2|0{2 AMQlct
[of2l]

prevalent gaiot=, PtAShH=

0| &5 AAHR 0= HAE S| SEAZE 0L} St=0{ets

(@) =8 7ts® (o) S5t © M
[5H4]

compatible2 S2t 7ks3 YTshs, 862

[o12l]
application (AFE[2)) SEAZER

o|n|E ztm Qlct =2|o{2= consonant, reconcilable, accordantS0| QICtH
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2_Getting the Gist

Mini TEPS 1. (c) 2. (d) 3. (b) 4. (b) 5. (d) 6. (c)
1. (d) 2. (b) 3.(c)
Mini TEPS o000 OSSPSR p.48
1. [Part1 ol mef]
Zebra stripes are very useful. The wavy lines of a zebra AUELO| EALI= IR RB5ICE Y2EUS SZH BLl= =
blend in with the wavy lines of the tall grass around it. “Lions,  ¢[o| 71 29| 2Z L[} AQICt ALAS2 ABHO[Y| 1f=0f,
which are colorblind, cannot distinguish between the green =M 9l ZIAO| 21t SHIS o|R= BERLE RS 4 Qi
and brown grasses and the contrasting stripes. Furthermore,  7i[ct7} 42%0| HZ 2o zt d2do| ZQLyt X
when a zebra herd gathers, the pattern of each zebra’s ol CiE US| EFLIQF A0[7| ECh 0l= AXIE 2
stripes blends in with the stripes of the zebras around it. This  0of #i=2[=0 A m HEe 12 d220| 2 Q= 240
confuses the lion, which sees a moving, striped mass oLz 22l0l= &2Y Hojz|0]7| W20|ct, AXf= 2852
instead of many individual zebras. The lion has trouble 2 & A2+ ?AQEH MRS ztzto] distoz 20|
picking out a target and sees an amorphous blob of animals = YEUS0| FElrt YHGHK| 2 ¥2o=2 Holrt 0|2
moving every which way. This also makes it more difficult for — QIslf AFKIE2 22| 7t20 st HEUS =2HZ A0} T4
lions to target and track weaker zebras in the herd. In all ot7|7t O O{ZHYUTICE Ol2{Et RE HOlM, LEL &4
these ways, zebra stripes =
(a) confuse the lion with the clear contrast of the colors (a) SFoiat Mol ThH|Z AXIE 2371 Bict
(b) are not practical for concealing zebras in tall grasses (b) YELS0| 2! E Molofl &7[0ll= FOHE{0IX| LT
(c) serve as an effective form of camouflage against lions (c) ARXI0ll CHElote 8401 /1% Ho| Eoh
(d) help the animal identify other zebras and attract mates (d) Cr2 YU TR0t Mg f=ot=tl ==0| Ect
[ai&] LS Y| FLIt ALXt0l thefoh= £&8 A&20| Erh= LHEOICH S0l thAE 0|12= FELY FU= =89 71 251t
HIBt BUME Z=tl, Atz Mdlol2tA Ent YRS & TR 4 Qiot BiZtole YEYQ 22Vt ok= A0| S0
710F st2& g2 (c)oltt.
[27] 24 (a) AXb= 20t SEYO RFUE & 726K Roh= A0[X| Ay (2o 74] HEY R4
o] CiH|E FEX| Rot= A2 OfLICh =aint x@ol 71 2
(o) 71 2 Aojoll &2 2L Mz HX6l AIKE =371 Bict, ALXtoll chetsh= f1Eel #a
(d) 201l LI2X| = LhEolct,
Must Know
*Lions, which are colorblind, cannot distinguish ~ — ZAHBEALS] A&X RI0[CH AIKIES 25 MYol2k= 2|0jo[X|2t 0|2 Mgt
& S At Lions which are colorblind cannot distinguish ~2 HILH AIKIS2 Zaf A0 OfL|Lt AHYQI ARXEZL QlCH= 2fO|
7t ok M B-E 0[ZX MUY HAS HMokehar, ALK -2 MeAlol tist M2l 7Iss oot
2. [Part1 tHe| mel]
Dear Mr. Brannon, BrannonM| 5t
We at Clark and Gable Law Firms appreciate your application X3| Clark and Gable HE3|ALS| HE AR Xf2lof X
and réesumeé for one of the open legal clerk positions. Mt O|HME HLHZMA ZAISILICH QFEFZIAIE,
Unfortunately, we must inform you that L=gILC otel XpH e
While your qualifications were exceptional, we had many other 2 i HoLEX[ZE SR 2 S0 ZA Mo Z2 2l
qualified individuals who applied and only three positions to fill, MSO0| XI5 18E §HXE AFsh= Yo ZF
and the decisions about whom to hire were not easy. We S| LOISLICH BHE M =21 Ho| UCHH Al =
apologize for any inconvenience, but we will keep your resume 2|0, 85 ZA0| M2 ZP A= oidls] Hatel ol
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and application on file in case another position becomes Mot XIEME Eated AYUCE ez ot sthl= o
available in the future. We would also like to wish you the Z2 Mupt Q7|12 J|REct

best of luck in your future endeavors. )
QIAF Z2| ZEXt Linda Gable =&

Sincerely,
Linda Gable, Director of Human Resources

(a) you did not fill out your application correctly (@) XIEME Tt 7I1stx| LUSS
(b) the salary for this job is not very high (b) O Lxtz|o] S20| KL =X| YSS
(c) you do not have the skills we are looking for (c) ™37t tiete Ads 251 X USS
(d) we cannot offer you a position at this time (d) Ol10l M3let BAl gt 4~ SiSS
[aH4] TEXIA HE Seds SXlok= HX0|Ct BIZH YF Q] 2US MHEH appreciate your application and résumés
S5l X9 £AIRI0] XS Tt URUCHE ARE Y 4 o0 Unfortunately2 0|F0{ 20t 40| & x| E/USE F
22 4 ok £ gIZE Fofl S§ ARRIE XiMls| Lefleng g2 (d)7t Eok

[E7] 241 (a) 201 LK 2= W&ol (2o 74l & =84 Xl
(o) 201 LI = UZolrt, =84 84
(c) 22 B2 ALt X2|7F 37 ol =IX| Ut T FEIE = MR
O HUY| w20l St Zo|ct 4

3. [Part 2 the| met]

Food poisoning is a common and serious illness that usually AIZES 7 25 MAL OX2IS, TES QYT
causes stomach pain, diarrhea, nausea and vomiting. Listeria is SEIHME AlZbst AlHo|ch 2|AHIZ|0M=s AtmEizio)
a particularly nasty culprit, as is Salmonella, which poisons 20| Es| 1Az FH @elez 0| wiEol oj=ol
approximately forty thousand people a year in the US alone. ABE 7 40t Ho| AlES=0f| Z2Ich 0| A|HES
These germs can pop up from a number of places. During the 2 RN LIEE 4 Aot 582 =46k A,
slaughtering process, harmful bacteria from the animals’ S29| Lo e S22 BiE2lot 179 THE 7t
intestines can contaminate meat and poultry, and so all raw =2 QVAZ £ oW 0|2 Qs BE MuI7t @
meat should be considered as potentially contaminated. Shellfish &= 7540| Qlch= H2 {oldlof ot 54 HET
like oysters and mussels that grow near sewage discharge can o] XM Xfete Zo|Lt B 2L UzEE Lne
carry a multitude of infecting germs, too. In addition to this, MdE ERE 4 QUCt 0|2 HE0, ofsS=0t AXIof
household pets and even other people can spread such bacteria.  ARISE 0| Z2 EHH2[012 HEZ 4 QUCt
Q: What is the passage mainly about? Q: 0] 29 FH=?
(a) The effects of food poisoning (@) AlE=9 S
(b) The sources of food poisoning (b) AlE=2] RIS
(c) The place where listeria is found (c) 2lAH[2/ote] A A

(

(d) The symptoms of bacterial infections

(a4l ABEQ| Aol AEE0| Y 20l ittt 22 ¢ FXIE I12= 20| These germs can pop up from a
number of places®| YFE0A ABZ0] st AMME =S JZo=2 [j21 o, MFR0iM= AE59| Chfst 2
S |t

428 ORL M metM S W8S 7HY

[27] 24]  (a) ARl DXk FEB AZEAS HoICk (2o 7] MBS U 32
(©) 20f Liex| = golct 7 2ol giefz/o}
(d) MEAIBIC2M 20| =90 M= R
2 A= 2 sk
2 Z2 3 o B2 Y A
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4.

[Part 2 LHE ¥X

]

While declawing cats is seen as acceptable in America, @it is
considered inhumane and has been outlawed in many
European countries, with good reason. Unlike a toenail, ®a
cat’s claw is actually an extension of a bone in its paw, so one
is actually amputating these joints when declawing a cat.
©®Not only is the surgery excruciating, but the cat continues to
suffer during recovery, as it cannot use wheelchairs and must
still walk, jump, and shift litter around. Furthermore, this
amputation drastically alters the conformation of its feet, ©@and
the cat is also deprived of its primary means of defense
against predators if it ever escapes to the outdoors. *Also
reported by owners are dramatic shifts in a cat's personality
upon being declawed.

Q: Which of the following is correct according to the passage?

(a) Extracting a cat's claw has become legal in European

countries.

(b) The cat's claw is more closely connected to the bone than

a toenalil is.

(c) A cat’s claws do not act as its first line of defense against

hunters.

(d) Declawing has proven to be painless and harmless to

most cats.
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[ai4] no|9] LE MHE0| nYolofAl Hott sH227HE CHE 20Ith a cat’s claw is actually an extension of a bone in its
paw25E 1¢0|9| UER ULtNel HE0| OtLf2t ol HFol2te HE L 4 ez EHE (b)7t Fch
[27] 24]  (a) BEHRIXI 2HRIXE & 4 glout |Eolle 10| YE XA (2ol #4] 1Yo| YUE Mo 2™ Zat
=01 thet 2EH 0E0] U, T90| BHEQ| EX
(c) LE0| 2 Yoiteo] AZElof ULt += 3 IRE1ES
(d) 15282 S22l JA 12 $RE0| 20 *E 2 2RF 2 AN F&
~5 F 5RF 3 FAH &

Must Know

“Also reported by owners are dramatic shifts in a cat’s personality upon being declawed. — Also dramatic shifts in a cat’s

personality upon being declawed are reported by owners.0lA SAIF7F Yoz =X|E= 2%o|ct

[Part2 &2

©In predicting volcanic eruptions, scientists find assistance in
measuring chandes in a volcano’s landscape. Changes in
slope can be measured precisely by various electronic
mechanical “tiltmeters.” Similarly, minute changes in horizontal
distances can be measured by laser beams, and tiny changes
in vertical distances can be measured by precise leveling
surveys. However, these only record certain measurements.
More important is the proper analysis of present-day data,
which requires a basic understanding of the prehistoric
eruptive record and behavior of a volcano with geophysical,
geochemical, and geologic studies. ®@Such glimpses into a

A34  Answer key

Ottt 252 O|Foh=0l A, DSIAS2 Sl Xg H
3t ZH0| =30| H= XS LU FAHY| Hel= o
YTt 7| 71AQl BA & Agsl Hetel FEE 4+ U
ot ORDIXIZ, +EHY 72|19 0|Mgt #sk= 20(H Y
o2 ZHE 4 en|, fENYol 22 ek MTEt
& 58 ZAE 4 ot a2 ol2fet YHES £
SR(ES 7IEET O2 B2 A2 MY X=E HE
St BAMohs A, Ol= MARAICH ahM Z 7|1=3 X
T =22l8, X7 3l xIHet AFE HIRGH s 2SO0

&t 712Q1 olai7t TRst7| WE0|Ch eRStAto] MALA|



volcano’s prehistoric past are critically important because oj2fol sttt &s0f st ARl= Q= oIES sh|olle U
historic records extend over too short a time to permit the 2 7| ff=2o|ct
making of reliable predictions of future behavior.
Q: What can be inferred about the methods of predicting Q: sttt &5 olE wiHol tis x2S o~ Uz A=
volcanic activity? (a) RS2 st B M= QA ofSot=tl g2
— ; ; P SSE0IX| =HCL
(a) Scientists have not had much success in reliably predicting
eruptions. (b) 3HAO| HAL= HF HobA Dl2iel st 252 0lSch
(b) A volcano’s history is too short to use it for predicting its =t 018 =+ 8l
future eruptions. (c) XI¥ H3E Lotl= 7[20i TIT0| 5 SAUCt
(c) There have not been any advancements in technology (0) AI¥ BIS4E STat= A2 BRI, 2 ¥y Hes
detecting land changes. = St B892 g
(d) While helpful, measuring land changes alone will not
predict an eruption.

(] Sht 2SS olSots B0l 0[0] EXstRITH MAACHS| Stk &E XtE7t LofoF o MRIE Q= 052 & 4 Tt U
20|t} XY HelE S8 £ s 7|2 o B20 A7H7F 2o le, okx|et £ Such glimpses ~ future behavior
£ HH MAL AIS] XRE ERsITe Mg o U2 F2 (d)o|ch,

[27] 24]  (a) MAIACH Xt=2Q BA0| O ERoiCh= IERICR 3ol ol50] o [Zo 74] skt &5 ols gy

JH0IX| Roltt= ZES Maal UE = et S| Xl st =5
(o) SHAHO] SFARZE B2 20| OfLlat, SHt HALE LiEt= Xt27F 25 Ar=zol 24
stch= ojojo|ct, AAR AT X229 Hed
() H 20l X[ H3E SFote Be YHt= 0| Li2Ch
B. [Part3 =2|x 52 mjol]
The Global Positioning System (GPS) was originally ™ X7 X| mfet AIAR(GPS)2 22 ARl URE
developed to help the military in its duties, but new Qs L EAK|DE DIZE HAME M2 28 HHO|
applications for it in civilian life are continually being found. (a) A&siN S0{Lin QT (a) E2 FENM, AYN S5
Many police, fire, and emergency medical-service workers O|2 MHIA ZAXIES GPSE 0|8235104 H|AH A7}
employ GPS to determine the specific vehicles nearest to an LSt ol Iy e XS mefst=, ol MY
emergency, thus facilitating life-saving responses. (b) Also, X XYS S0lotAl Stch (b) £t EF7|= GPSRE
with GPS aircraft can quickly plot the perimeter of a forest fire AFZ0| 2HMSH = QIRIE AlAs| BAE 4 U7 W2
so supervisors can send fire fighters safely to key hot spots. o, Z=2e AMES sk £ M= g X2
(c) The GPS is made up of satellites orbiting the Earth, control 2 4 Q0 (c) GPSE AT H=s == U39 En
and monitoring stations on Earth, and the GPS receivers. (d) K70l A= SH 2 ME, a2 GPS A2 71y
Fleet vehicles, public transportation systems, and courier ECE (d) AlCH?t, M8 s S AAE HiES MBlAE
services also use GPS receivers to monitor their locations at 2840 AHME 2 A GPS +A17|1E olgdl ¢
all times for both efficiency and safety. XE FASH,

[aH&] GPS2| 0l8 2ofofl thet 20|tk A 22 2 topic0| GPS! A Y 4 UeH, 27t AN 1 ALE 20F7t S0{Lt
0 rt= UBE Y 4 Utk ()= GPS2 7+ 2401 ts 0[0F7[str 2B 2 GPSS| A 20FE Olop7|et= T2 2
ot of2elx| =t

[27] 24] () S5 23t HE 07 GPS &8 2ojo|ct (2o 74]  GPSY 2iZt AR 2ot
(o) GPSE= =2 HRlsh= &37(0f&= Mol Sags od
(d) GPS= 2I7F @& AlAHIolE MQIc =

e IPNES=
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TEPS QUIZ ) oo p.51

1. AFs2 7ia71g e 2o SICHL Mzish 4~ &= oLt a2 Fefo ZHolct,

(@) 27l b) 122 () Bei7t 2yatst (d) X[
(3441
Ha7| HFe 55 bl
7O
E

implacableS0|

2. QIgske Hoft Be X|20] 2t Sl oA 0{0F Sh=Xloll thall Z2FE NYLICt,

(@) H=|cH (b) 2=/t (c) 7= Xlo{x|ct (d) gt
[3HA]
allot2 "EHsiCt HHESICH & 552 ZH=Ct (€)2f plot2 FAIR M0|H A2 F2lo| E EX[ S& K£5l7|= Sict

[o12]

share X2, F4|

3. 0] Btxto] wrete St J=X| toH 50| L= HE AYLCt,

o

(@) &2ARICt (b) ABEICt (c) EEt=|ct (d) AE=Ict

[aH&]

712t &8 @50| Y2 mZICh= W80/22 HHsI = £ amputate?t H0| &2 ¥ 4 RUCh amputate= F2 AIA 71Hs +22 E
ot o A= 00|

[o12]

infection 2%
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3 Difficult Vocabulary

MiniTEPS  1.(c) 2.(b) 3.(c) 4.(@ 5.(b) 6.(d)

1.(d) 2.() 3.0

Mini TEPS OO OO OSSO p.54

1. [Part1 chel o]

Between 1996 and 1997, six classic chess games were 1996FH0IA 199701 ZA, MA Al TH AH2| 7tAn2T
played between chess legend Gary Kasparov and IBM 2t IBMERE Z23H g =2 Alo[of 6XIHQ| nF HA
computer program Deep Blue. Kasparov won the first game, Aol o|RXLCE Ftamtzmot A AJUoA S215 AHRKRIT
lost the second and then battled Deep Blue to three = Hm AoAE TR, O FlE2e M W oL 2aRE
successive draws. “Going into the final game, Deep Blue had  7|Z3ict otx|a Z7(of SO7IHM, & £22= XA 14
a distinct advantage in being reprogrammed using the input 1t FAOIZIO| o™ Z7(9 ME eSS s M Z21
of several grandmasters and a detailed analysis of U srozu KR 4 JAAUCH wEt IAHS E| O
Kasparov’s previous games, so it was tailored specifically to 2{AlOF MO 0|7|=2 UFTI HOIQACE 0] HAES =G
defeat the Russian champion. This version was capable of 291 Ho| 0|= 2 HANEH S&40| QIQICH “12|1= Ql7to| A
making any one of 200 million moves per second. Then there — Af 297} M7t FtATIRDE FE82 0|B0{LY7| A
were human miscalculations: Kasparov used a relatively OM=X= SEtE HDA ZAAHL HMFS TARGICH Ot}
cautious strategy, perhaps playing for another draw. s, FHAmRE L £7(0) 2 ASE MA2D CiAl= 3=
Unfortunately, Kasparov blundered early and never regained CHES AUX| ZEIHA,
the initiative,
(a) overestimating the capabilities of Deep Blue (@) @
(b) proving that computers could not replicate human strategy ~ (b) &
(c) giving Deep Blue an excellent opportunity to win (©OR=
(d) barely managing to beat the computer program a second  (d) &
time
[aH] ZAIOF XA 10l A2 FIAMZIet H S2et= ZFE Z2IU0| HA 20l et LhEolT), BIZHo] 45 28s BH

Unfortunately Kasprov blundered 2 2E{ FtATIR T 7} A4

=
£ XNERCE A2 2 4 U2H, 2?12 Then there were
human miscalculationsE Safl 7HAIZ LIt HCh= AME RFE 4 QCE AIRIQ Z1pvt 0] 229 34 U8oleg, g
(c)7t =k
[27] 2M] (o) REEE 2ol oot A6t Zo|22 sigrgictn 2 4 [Zel 4] Izt HFEO HA thH
= glot iz 712
(o) 2IZto| mFHeo= E2I Lol ZARE 9| M Z=2a2iY
(0) IATEEE U ALE MEZ CHfgict Qlztol mist 47|

Must Know

*Going into the final game , / Deep Blue had a distinct advantage in being reprogrammed / using the input of several
grandmasters and a detailed analysis of Kasparov’s previous games ~ — EAIR20| T2 M0 7124 &Hof| st 8¢ S

sz Pzolc,

2. [Part1l thel oot

Dear Ms. Edwards, Edwards 12'e Hot

As your health insurance provider, we notice that there have Hatel AL B MEIXIEAM, XNal= Dmzidol HE o
been many changes in your membership that will affect what ~— FsFS 712 4 Q= 518 X120 RS HA0| 2 Uz=
you pay for coverage. First, you have applied to have guch 24, Foks 22 2o HH 29 oz =2 MY
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medical insurance for your husband in addition to yourself. StAtELICE 5 Pok= Zl20 MUS 5ol stHAM CHE
Also, you recently had a birthday and entered another age o 220 &5t =en, o|=zM Xs|7t #ske) o=
group, which increases the likelihood that we will have to cover  HI2S ¢ Zo| 2gsiof & 7H540| S0{%t&LITE OtX|
more medical expenses for you. Finally, we see that you also 2oz sle O LS HIRE U= CHE KPR 0|A}
moved to a different area that charges more for coverage. We SHd&LCt X3l= ol HaE Hatel 3|9 Atzof o
have yet to determine how all of these changes will affect your Hsk2 0|EX| OFRl AXMSHK| Reoz CI2EIk|= 7
membership, so you will pay your usual monthly amount next Z0o| ZHS WAIH FuUCch 2Lt 2 o|F=2RE,
month. However, after that, . We will send . Xsl= Mo olet wrEt o ¥
you a statement with more information about this. © MHEE £2 Lt
Sincerely, Cindy Collins =&
Cindy Collins KP 71z 2#
KP Health Insurance
(a) your insurance coverage will be reduced (a) Fiotel 28 24 HIH S0i5 AYLICH
(b) your monthly rates for coverage will increase (b) Hotel & EA=7} QlME ALY
(c) you must provide with details about these changes (c) Fat= ol2igt 3ol CHEt XM MBS KMZsHAok
(d) we will give you information about some other plans ot

(d) M5l= Hotl CHE A=l cist H2E =2 AUt

[at&] S 71X ool HElezM Helo| By B E B EHRACks A 28l 3|Atel ol HXjo|ct Bizh @ ¥l EH
ChS Zoll= OfXZEX] UigiE Aat 22 S ot LeiloL), HiI7to] 2atE 289 HoweverS Sall S0l Hatt QU
2 72l Mg R5Y 4 AUk 20| Y OF, HElE QY X929 0[A & YRR HES & Mzl & wl &
2 ()7t Eck
[27] 24]  (a) 2o Helol disiM= Fefs] & 4 Qloh [Zo 74] Z 2=z QY o HX|
(c) 2& 7IXtolA HEE QESHKI= EAUCH QY OIR 1
(d) Floll HEE &= P2 Fenz HiZt| S0{7P|ole AEX| ¢t ey 0lIR 2
ey 0lw 3
ERE
3. [Part2 Wg Uxl]
Radio-frequency Identification (RFID) tags are a common SMOIARFID) El1= CHEE MEO|A Lg= S5t
tracking device found in most products, and these tags fall into X M2, 558, HeEY 58 M 7KK 2 2R
three different categories: active, semi-passive, and passive. Hot osEdat U5 RFID Eias WAE HiEz
@Active and semi-passive RFID tags use internal batteries, but = A2s5l=, 558 o= T=o)of MOE =27
active tags also use batteries to broadcast radio waves to a Qlsl HiEl2|= 0|86t HHH HEAES EfI= FMob A
reader, whereas a semi-passive tag partially relies on the reader 22 o5t 53 232 YRR T=J|of QZES|Ct @0
to supply its power for broadcasting. @®Both kinds are reserved = JIX| £8 25 HE XZ0|Lt HAHZ 100LE 04
for costly items like railway cars and items that are read over o oM G2 & U= ESW L2 M ES0
greater distances, usually 100 feet or more away. “Passive RFID  A2ECH HiH 042=5 Bi0= S218 M&o2 =)
tags, on the other hand, rely entirely on the reader as their power of S5t 20m|E HE|7IX| Yo 4 Aon, HEZE
source and can be read up to 20 feet away, and they have lower of Jtz0| Lot 0|25t USSR EHIES A ¥ Ze
production costs. These disposable tags are placed on cheap XS YslE =0l BAEC
disposable merchandise like shampoo bottles.
Q: Which of the following is correct about RFID tags? Q: 02 & FMQIAL Ej10] thall YRIsk= A=27
(a) Semi-passive tags can only be read from less than 100 feet. (a) B+-53 Ei1E 100LE LHoflMRE TESE 4 QI
(b) Active RFID tags are mostly used on products that are (b) 558 FARIA Ej1= tHREE HluA XEE AE
relatively cheap. ol oI8=c.

A38  Answer key



4.

(c) Passive RFID tags do not get their power from internal
batteries.

(d) Active and semi-passive RFID tags get all of their power
from readers.

[at4] FARUA BT M| 7HR] BF
o

o
2lE ALEStH B H2|7EX] @140 7t

o AsY - sy -
o

[27] 24]  (a) X

EiOE WE HIE2IE AESttt

So

[Part 2 LHE X[]

A liquid mirror telescope, as its name suggests, uses liquid
mercury instead of aluminized glass as its primary mirror. Once
mercury is placed in a rotating dish, ©gravity pulls down on the
substance’s liquid surface, while inertia pulls the liquid sideways at
the edge of the dish. Best of all, the liquid mirror surface remains
smooth and flawless because @gravity and inertia always return
the liquid to its original state. Among the advantages of these
telescopes are relatively low maintenance and building costs:
large liquid mirror telescopes can cost 100 times less than glass
telescopes of comparable size. Of course, they have some
drawbacks, too: “mercury is toxic, and ®the telescope can only
look straight up.

Q: According to the passage, what is correct about liquid mirror
telescopes?

(a) Their reflective surface always returns to the same shape.
(b) They can be adjusted to look in all directions.

(c) Their surfaces are maintained by one kind of force.

(d) They do not contain any dangerous substance.

[aA] OfR| BEAFES ALZSH A YRZ0] st 20Ict o] HRAE2
inertia always return the liquid to its original state 2% S0} 2
OD2 (a)7t HYS ¥ + UCh
[27] 2M]  (b) HHER pZ| LR HSE 2 Uk
(c) Bzt 29| & JIX| o] ZEHHct,
@) +22 =4 S2o|ct,

-
=
(d) S5 H4ASY MO Blas BE S

1o
re

b= 7|

1 ol0IN & 4 YIK0l, F
Q2| oAl o 422 Ags
S0Pk, wz2i0| 2ol

Sl e, B2 UXlE Tol

o

o

=

fu

o
n

SEUR
e |, Pr22 =40| QT vYEge=
£ 2| WS 2 4 Qlr)
Q: Az BrAE & ol tiell Pxlshs A2?
(@) EPAPEQl BH2 oy 22 mYoz mFot it
(b) 2E Yoz 2 » WA 2FE 4 U,
(c) YEEo HHE SUHA| BF2| glez FXIEL
(d) 2ot 2=o| gk,

(2ol 4] R HIAIE Y
x| iAZO| 2]
2170l 0l
2RIzl Ehy
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5. [Pat2 £8]

Today, George Gershwin is recognized as one of the most

important American composers of popular music during the
1920s and 1930s. However, he often led a double life, trying to

make his mark as a serious composer, too. Despite @his
success with famous popular pieces like Rhapsody in Blue
and operas like Of Thee | Sing, serious music critics were

often confused by his work. ®Some even dismissed it as banal
and tiresome, though the public disagreed. After becoming ill

while working on a film in 1937, Gershwin, ®determined to

attain critical acclaim, planned to return to New York to work

on writing serious music, such as that for a string quartet. ®It

was never written, as he died of a brain tumor at 38.

Q: What can be inferred about George Gershwin from the

passage?

(a) Music critics frequently denounced him for his double life.
(b) He did not have as much critical success in his lifetime as

he wanted.

(c) He participated in working on films to make himself look

more serious.

(d) He did not make much money from composing and

performing during his lifetime.

[ah&]

[27] 24]  (a) OIEX H=7t ofd ZF0] Ciet HIEo

B. [Part3 =a|d 52 mof

The massive music festival Woodstock 99, held in Woodstock,

New York, was one of the most chaotic rock concerts in American
History. (a) The extreme heat at the outdoor four-day festival was S
a problem from early on, and it was compounded by an

insufficient number of showers and toilets. (b) Additionally,

participants who had not brought enough food or water had to buy

from onsite overcharging vendors: one slice of pizza cost $12,

|

tof 1
and 20-ounce bottles of water and soda went for $4. (c) The result I EAMSRE 42{QICt (c) Of

)

of all this was that people began to riot towards the end of the
festival. (d) The original Woodstock festival, a four-day festival
held 30 years earlier in 1969, attracted half a million attendees
and became a landmark event of American counterculture.

[ah&]

=2
= M5t XL, (d)s Bx PEAS
of
BA

ot

AAD  Answer key
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[27] 24] (@) SMEQ| Al B50i it LHE0lTt, (2o #4] X7| REAR ZMEQ RElME

(b) S, Ao BEoZ AFO|A IS0l EVIXIS0IH 7t Ad 8=
XIE M= WEo(ch BEZEX]
(c) 50| doiRttt= LHEolTt, 25 4

1. 2oiet Fojet 20| M2 2tTis] ¢l0l= SSHO| St Sl
(@) =582 (o) AR © & el= (d) oHE
[aH&]

Tl
A
i

SEH0| sl glrt Yes2 gizife & loi7t 20k 9oj7t S0{71oF Bttt distinct= M CFE, £348F 59 2ln|E X|u=
M

o{o|ct, o] 2of|lAM= distinctive, discrete, disparate S

2. 19s SAE YNE SOz BUORM £ worck
(6) == (b) 7H (0) 214l (d) o
[aH]
intiative= "FEH, 4, AR S8 UEMHCH SAS] FEI2= initiate(AZfsIChH7t UCH,
(012

commercial 1

(a) A3tct (b) BIHCt (©) A=PAIZACE (d) BEZEX] Mi=ict

[aH4]

compound= CHOI0{2, 0] 2F0lAl= "ASAZ|CY = o2 Moirt "Efoitl = 9o

£ 7| et
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4. Paraphrasing

MiniTEPS  1.(b) 2.(d) 3.(c) 4.(d) 5.(b) 6.(a)

1.(b) 2.(d) 3.()

...............................................................................................

1. [Part1 thel oef]

The Atkins diet is based on the theory that overweight people
eat too many carbohydrates. Our bodies burn both fat and
carbohydrates for energy, but our bodies consume any
available carbohydrates before consuming fats. “By restricting
carbohydrate drastically to a mere fraction of that found in the
typical American diet, the body goes into a state in which it
begins breaking down the fat reserves found in the body. It then
gets its energy from the little carbon fragments produced in this
process. Additionally, when the body is in this state, one tends
to feel less hungry than usual. As a result,

Atkins CIO|0E= RHSQ AlFSE2 EozlEs XIUX|
7l Bl GFfeich= O|20i 275t Qlot. 22|19 M=
OIUXIS LH7] sl Xat BpatEs SHASHR|RL XY

2 Adlsh| FMO| 2 EEES Aldic FEEQl 0

A
S
o
)
m
k=)
>
m
4>
ton
10
10
09
1jo
P~
I
|0
il

ra
L
o
M
=
'S5
rir
=
=2
T

ditel= A
9| Efr3E222E O|lUXIS ¥=Ch AlCkE AA7E o 4
I X

Efoll RAeH HAECH € 57X/ Ech. Zoez,

(a) a person who consumes lots of carbohydrates is able to lose

(a) U2 Er3ES He A2 SRAE Y £ AT

weight (b) B3k oAl XS GAsto] HES &2t

(b) a person loses weight by burning up fats instead of (c) MIE LS ok 7IEX! SAle] MFE STaHoF Sttt
carbohydrates (d) Ol MEHS| AIHE =TS BAEE Zig 4 Tt

(c) a person will have to stop eating fatty foods in order to lose
weight

(d) a person in this state might experience some unpleasant
side effects

[ah4d] \ = [Hs PN 2elie 4+ A=

Atkins CIO|IEE MA7E EpalEs BN A
Mx= [

2 4 AT metd g2 (b)7F Eot

[27] 24]  (q) B2 AF0F BeM O AAAFAOF & o 4X|7t ROt
X AO| mAH Eok,
(c) Atkins CHO|0{E= X[H0] OfL|2t EfEtES] HFE &0l
HrAIO|CY,
(o) BE200 thalis LI@x| it
Must Know

5t 3 XS Avlsiths HE 0l8al, AXI7E X
317 49| As a result2 ElZHoll= e
4 1o, the body goes into ~ found in the body, It then gets ~ in this process22Ef Ef42t=20| 0t X|2f0] HAE
o
=

Cio[olE ol22l 2

i
=
mn
<
~
inl
rr
>

>
1jo

o

[Zel #4]  Atkins CIO|0{ES| 0|2
LlHQ] EtpolE A
RS Aist= HE

21

"By restricting carbohydrate drastically / to a mere fraction of that / (which is) found in the typical American diet, / the body
goes into a state / in which it begins down the fat reserves / (which are) found in the body . — & & that0| 7t2|7 = A2

— AT

carbohydrateO|H, found in the typical American diet= that2 $AlsiZ= 2HAIE0ICH O F2= M 7He] &0l 2A| tHHAIZ HZEE
Of UCt FHEAHEAL which®l besAt= MefE 4 QUCk= ©oil R2lsioF St

2. [Partl chel et

Dear Mr. Reynolds,

This is an automatically generated notice from the Barnstown 0

Public Library to let you know that one of your items is

AAZ2  Answer key

HXl= Barnstown 38 Z=AEOIA ot

F
of Ho| SXHES Yeells XS &S wleydc A

Ofi

ReynoldsM| 5t

=



3.

overdue. You checked out the book Midnight's Children, item #  &t= 62 120l =AHS 22346821 (X}HQ| olo|S)E 2
223468, on June 1st for two weeks. The book was due F2F tofshed, 62 15201 o7t g 7|8to| A&
yesterday, June 15th. Another patron has currently reserved Ot £ O =M 0I2AP} SiXf O MS o5tz Ut
the book, so it cannot be renewed online or at the library. HE0I2E, 22fRI0|Lt EME0IN 7[ote Adle &~ Ol
However, because of a grace period granted by the library, LICH a2 =Mool 7ztof mat A Am =7t
fines of 20 cents a day do not begin to accrue on an overdue A= AR ZMoll 5HR 20MEQ HE 27t x| L&l
item until the third day. Therefore, you do not owe us any fines . ZJ2{oz Sx 2t ¢xXzEe QXD PsHs
right now, but . Thank you. 20N =i}

SHTESE, Jenny Halbrook, Barnstown &2 =ARR AL 2 22

Jenny Halbrook, Barnstown Public Library Staff Supervisor

(a) you should hand over the book to the patron (a) CIS O &fXtof Al 2S Fof |iLict

(b) we cannot allow you to check out more items (b) ™S O CHodoka 4 Si&LICH

(c) you must renew the book online in three days (c) =efele=z M 7|5ts 3Y Lo ook EHich
(d) you must return the item to us immediately (d) Al Mz B0 S

[aH&] AH| =M HH

libraryE 2 o

g2 (dolct,

H0of chst TWX|0[Ct Mr. ReynoldsZt &2! &2 0|0
g MS O2 =i 0IEX7t | A thE 7

S|
o7 ol =

| BA=IRAL, Another patron ~ at the
H %g%a} %\7 O‘IEI» )\r/\\o OPZF OIODE

[27] 2M]  (a) 2Y ZulFof sith= L& gt [Zo] 78]  GH =N L mX|
(b) M2 o Lel= XS HMetetkls 2ULH 2 AR QLY
(o) 2ef2lollA = thE 7Iste ANE 2 QT ZHo| ofl 2t
e 2F
[Part 2 LiE Ux|]
One of the more serious communicable illnesses, West Nile virus ~ AlZist MY = 5Ll YAE LIS (West Nile) HiO|
is a threat of which the public must be aware. Most often, ©West AL ARZIS0| BIEA| 2T Qlofof & FolcH @y

Nile virus is spread by the bite of an infected mosquito when it
feeds on infected birds. Infected mosquitoes can then spread
West Nile virus to humans and other animals when mosquitoes
bite. In a very small number of cases, West Nile virus also has
been @spread through blood transfusions, organ transplants,
breastfeeding and ®even during pregnancy from mother to baby.
However, West Nile virus is not spread through casual contact
like touching or kissing a person carrying the virus.

Q: Which of the following is correct about West Nile virus

according to the passage?

(a) Only when they breastfeed do infected mothers pass it to their

babies.

(b) Infection through casual contact is milder than that spread by

other means.

(c) Mosquitoes pick up the virus from infected birds.
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(d) There have never been any infections through blood

transfusions.
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West Nile Virus is spread ~ on infected birdsE 2 0|2 &
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[27] 24]  (a) R Of2t M=7t EHOIS A &Y W= HIO[HAT) SHA (22 #4]  QIAE L HolgjAl Y F2
2 4 Ak Aol 27 jof A=
(b) =X 42 LhEOolCt 2IloIM = A AolAE
(d) +22 SsiM= ZFo| 75ttt Al Afole] Y B2

4. [Part2 Wg ¥x|]

Dear Ms. Angie Tyson, Angie TysonM| 75t

@For the past 30 years, The Writer's Outlook journal has been Ox| 304 S (E7te] M) EXl= A oMol
publishing cutting-edge essays, poetry, interviews with writers, Al Z7} QIEE ;\ CHH AMES SRS LICH H|E
and short stories. A favorite among critics, our publication has 59| AldE e X5lo) EHE2 TM U =T
helped give rise to some of the most celebrated writers in the MAIA Z7HS0| BAS A= 2 20| =0 U
worlds of fiction and non-fiction. *In order to enjoy the wide LICH X3t SMots CHUEt S o] B 4 U
selection of writings we have to offer, we would like for you to E a7ste| &X| 152 AilotA CHE oAM= 3t
@renew your subscription to our magazine, helping us provide an 02 £ gl= 252 2 4 U TIAIZ|2 BRI ©
outlet for writings that you will not find anywhere else. ©If you OIS f 71X Y 2=2 AHAIGHH (&f7te] AMaly 21
renew your subscription for a full year by next month, then we It MAM Qe EEHIS 222 2l AN A}
will include a free tote bag with The Writer's Outlook logo on it. Xeg 95t BES ==L,

Included are a form and envelope for your payment.

Sincerely,
The Writer's Outlook

Q: Which of the following is correct according to the passage? Q: o8 & 29 U8 YXlsk=s #2?

(a) The letter’s recipient has not subscribed to the journal before.  (a) ®X| 2012 Tof XIE F=¢F 0| QiCt

(b) The letter’s recipient is asked to pay off a year's charge. (b) HX| +FRI2 LA X| HIES E XS 2F ¥ Uk
(c) The journal will give a tote bag to all readers next month. (c) HXl= Chg g ZE =SXiolA| EENE & Zo|Ch
(d) The journal has been publishing for over a decade. (d) &Xl= 10 Ol £ L= SRt

[a4] 28t FxlAel HAlZ, 75 ANS EEsle GOl olch X 2H0IN 2 309 B9t STE sYTin Hoo () g2
"solct
(2] 24] (@) PEAOA 7S NS SHSHE L8002 ojo] XIE R [2el 7] 28 KM 7S &8 HX
S5H1 QUCHE APUS ¥ 4 Uck Rl
(b) B29 & ¥ 75 232 Uzkn LIS Ut 7= AN B
() EEHS 7= B4 J[210] 16991 TERISO KB Aoz ol ony

Must Know
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5. [Pat2 8]

Wanted: ®Part-time waiters and waitresses needed for an early TR 24412t BAEY Pancake HutOfAl @0I= O
morning shift at Pancake Hut, an all-night restaurant. We have f
three positions that we need to fill by the end of the month. If you
have at least 6 months of food-service experience in a fast-paced
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environment, then we are definitely interested. ®Also, applicants
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who are fluent in Spanish will be given the highest consideration,
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as they will be the most accessible for most of our customers.
Salary is minimum wage, but @you keep all your tips. If you are
interested or have any other questions, call 555-907-3344 and
ask for Carl. Serious inquiries only, please.

Q: What can be inferred from the passage? Q:

(a) The customers do not tip the waiters at the restaurant much.
(b) Most of the restaurant’s customers prefer to speak Spanish.

(
(
(c) There are a lot of people applying for the available positions.
(

(d) The applicant is expected to work through the day.
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6. [Part3 =2lx 55 el

Even though much of America’s economic power comes from the
dollar’s status as a de facto global currency, this may soon be
challenged by either the Chinese yuan or some other currency.
(a) This year's G8 summit began on July 8th in the Italian city of
L’Aquila. (b) Before the G8 summit, officials in China, Russia and
India all called for an end to the dollar's dominance in the
international monetary system. (c) China is particularly influential
in this debate, as it holds one-third of the foreign-exchange
reserves that are in U.S. dollars. (d) Thus, Beijing is alarmed over
troubles plaguing the dollar, and China’s central bank is repeating
its call for a new global reserve currency, with plans to make the
yuan this global currency.
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5 Connective

MiniTEPS  1.(d) 2.(c) 3.(b) 4. 5.(b) 6.(a)

1.d) 2. 3.0

Mini TEPS OO OO OSSO p.66

1. [Part1 ®&AH

Angkor Wat is a wondrous temple that was built during in the AF2 A== 12M17| & Suryavaram 247t $lFwo|
early 12th century by King Suryavaram Il in honor of the Hindu HifE A2 7127 2lslf MR Zol=2 Atolct, 500
god Vishnu. For 500 years, Angkor, the city where the temple S, AFEO| AU =ARl LF2= S OFAOIE &5
stood, was a pilgrimage destination of great importance O 1R B¢t MX| &H|X|¥CE 3Lt 14313 A2}
throughout Southeastern Asia. When Angkor was sacked by EfOloll 2ol fEtHal MRl £, 0] SEEE AFEE o
Thais in 1431 and then abandoned, though, the magnificent ek , WEsk=E =0 ¢E%%% 0lxe]
temple was forgotten. , wandering Buddhist monks  AldStg 27| mH20]| Moz KX FHE SHA 0| 4
occasionally came upon the ruins and invented fables about the  Ao0i gt AISE X|ofwic Z=0f 0] 0/0/7|S2 OfAOf
sanctuaries because they recognized their sacred nature. o M XY MEE] YT2 AE AMRES 2= HX| Xt
Eventually, these stories attracted pilgrims from the distant So| gtzlg BoIC}
reaches of Asia, who sought out Angkor Wat.
(a) Alternatively (a) Ot T, Al
(b) Surprisingly (b) =EAI=
(c) Unfortunately (c) Edsl=
(d) Afterwards (d) Lol
[3H4] AX| X2 YR QT2 E AHH0 chst 20|ct g1ZF M 29| the magnificent temple was forgotteng EH &
2 AETL UHRChE AMMS & 4 QUXEH BIZE Flofl= LFE /AETL ChA| MX| 2lX|2 ZEEUC= E0] Li20h
0|E Hot BlZtoll= Alzte] Bt LiEti= #3510 S0{710F ot22, g (d)7t Eot,
[27] 24]  (a) & 2201 O CH2 CHRFS OloF7 [ mf Ml [Zol 4] YIE HEQ| HA
(o) o FES HAMI3| L IS &V ml &2 MQIch AMESl ojn]
() & U8 2 HutE olopr |2 mf Xf5= MQlct ArEol 22t
AMES| THE S
2. [Part1 M4l

A new study suggests that reality television shows are so M2 HA70] oJstH 2|U2lE| TV A= 01 ORI 0]
appealing because viewers can easily pretend they are one = AIEXIS0| XHls 7R Sl SStAld 4+ =it
of the contestants, and viewers prefer a perfect mix of reality SiAlT StMO| tHst xRshE WS MSspy| wRolct Ao
and fantasy. One participant in the study explained that he To| §t HO{Xt= “The Mole”0| RS HAOA SAEQI
preferred The Mole because it had pleasant locations and MBS HoiEn Q| [LHToﬂ 0 Z2E MSsictn M
realistic situations. However, sometimes too much reality can  Cf, Z2iLt M2 HFL} Ze SHAMS AFIDL 52 =2
turn off viewers. , another participant rejected T2 Sict . CI2 Zoixk= “Big Brother”
the show Big Brother because it too closely resembled £ A0oj3i=0|, ALsHH T20] YA MiEE S BHo| SO}
everyday life. To her, entertainment value resided in the Q71 HE0|CE THoA @AH2|9| TRl Z2a0| AIF
program’s provision of a situation that was beyond the Tt AR MM HE 2+ gle NES HEgstedl AUC

viewer’s daily “real” life.

(a) In conclusion (a) Z2xo=2
(b) What is more (b) Lt

(c) For example () o= =5
(d) In any case (d) o=
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[aH4] 2IZ2[E| TV A SMdut 840] =St=(0fRlCh= ol @17|7t
HF He dR0le M7 gt U0, 817 IRR0l= & AZARDE Z2a40] LT ey

[27] 24] (o) & LHEQ ZES 0l0p[E mf 22Cf,
(b) & Uigol THE W8S F7ie mf 2o,

(d) SHE Tt o A0, anyway®t 22 2l0jolCh

3. [Part 2 the| met]

=)
20| Li2C} T2t BiZtoll= OIAS UERE o 2 M0|= for exampleO| S0{710F Btk

= W82 2ol Bzt Hiz of 282 B Say0|
= A
=

(2o 74  2lgele] TV 49| oi
e

It has been said many times that television will rot one’s brain, TVt SLE L SicHs 712 ZZ S AMAO|AX|
but a recent study may provide solid evidence to support this. ot xZo| HARAL 02 FHS X|X[et= SAISH B
To study people’s reactions to TV, researchers monitored brain 7S FMAlRH £ EQICk TVl et AlSel BI8s &
waves with an electroencephalograph, or EEG, of people ARst7] Qe AFHUSE TS FXIQ EEGE
watching television. The subjects were also beeped by TV AIEAte Huts THERich mAExEe 45Y 5
researchers six to eight times a day for a week, and whenever 5t 5120] 6HOIN 8 HARYS0| 22l AES2S S
they heard the beep, they wrote down what they were doing and oo AlsS0| 22 molct 152 st UAE W=
their feelings. As expected, TV viewers reported feeling relaxed IF LAS HMACE oA T2 TV AIMXER 0|21 4~
and passive, and their EEG readings showed a considerable SOl =Zs En3on EEGE '[9 ufmt 40|
reduction of alpha brain-wave production, indicating less mental A ZQIE S LE=H ol BAIN X2
stimulation. 2= XS on|gto

Q: What is the best title for the passage? Q: 0| 20f 7t% L2 M=2?

(a) The Negative Effects of an EEG Experiment (a) EEG A9 22Xl Hef

(b) Evidence of TV’s Harm to the Brain (o) TVZt =ofl 7IXl= si222 5H

(c) Why TV Makes People Relaxed © TVIt AIHSS o 0|7 5H=7t

(d) How an EEG Works on TV Viewers (d) EEGZF TVAIEXISOIA| O{EH ~&Ech=7t

[aH] LefH|T0l ArHEQ Fiof 2AFels 0|2tks ErHel SEe REYstks ol thet 2oi0h. A 2&9 but a recent

Soff 2fld

study may provide solid evidence to support this
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EEG H&o] HHHO tisliM=s HS=R] LUCk
OIRHEl A2 AMHOILE 1 0lf= LIRX| 2RUACE
EEG H&9| XiMIgt 00k |= LIRX| 2RULCE

[27] 24]  (a)

4. [part2 %2

African-American Olympic athlete Jesse Owens made history at
the 1936 Olympics not only for his spectacular performances,
but also because he achieved prestige in ®@Nazi Germany,
which had officially endorsed racism against non-whites.
Despite this, Owens received a warm ovation from the audience
and even befriended some German athletes. In particular, top
German long jumper Luz Long gave Owens advice that helped
him qualify for the long-jump finals, where he won the gold.
©Long even publicly congratulated him. “@It took a lot of
courage for him to befriend me in front of Hitler,” Owens would
later say. “You can melt down all the medals and cups | have,
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5.

and all that would not be plating on the 24-karat friendship |
felt for Luz Long at that moment.”

Q: What can be inferred from the passage?

(a) Long could have been punished for welcoming Owens.

(b) Owens faced discrimination from the Olympic judges.

(c) Long held a grudge against Owens for winning a gold
medal.

(d) Non-white people were not supposed to participate in the
Olympic games.

2 HOIM LieE EF7L =7 flaiA B
oot (Ut g2 mE oigat ;Q% ;o:i)d a4 2
ST YAl W7 Luz LongOliAl =2iH <
=3= 28 Auot”

Q: 29 UM FE2 4 U= X227
(@) Long2 Owens

UACE

(b) Owens= 22T HAIS| X TR0l 2K
(c) Long2 Owens?t olg & Ao 2ol SULCH
(d) Helo| ot Al 229 Aol ExfeiM= oF =IUCt

[aHi4d] S LR H@E9| 015 R Moz 276t ofZa|7HA| 0|= M0l Jesse Owenset Q10! Luz Long0| SBHE &
3l LOHS CHRICHE LiE2] 20|Tt, It took a lot of ~ in front of HitlerS 2™ 51S2{ Y0ilAf 8ieI0] ofel Ef Q15T o{S2]
= 20| Lot} UAI=X] TR 4 QT metd Q1T Xt Fao| FAFH Al7|of "ielo] S01s eFitk= 0IRE XY
2 B2 2 U= LY (@7t SHtZ2 F20|ct

[27] 2] (b) 29| U0 w2 22T XA LolMeE Q1E g2 QI [Zo] 74] Lix| M@ of 22t MHE9| 28

mfsi7t UL, LEX| FHO| QIE AfH A
(¢) Long2 OwensZE S&3ictn AZ =] Qct Luz Long?| 87| U= ds
(d) eielo| of Jesse OwensZt STl Eicoz o= E Luz Long1} Jesse Owens?| 2%
2l Z=2olct,
[Part 2 F£&]

The Obama Administration and Democratic leaders in
Congress ®@cannot seem to muster the votes they need to pass
®3a $108 billion appropriation for the IMF, the International
Monetary Fund. From the beginning of its attempts, ®the
administration has faced tremendous obstacles to getting a
majority of members from the House of Representatives to
vote for the money. This is because of fear that it would be
seen as more taxes being used to assist the financial industry
— and “@for foreign banks at that, which actually seems to be the
case. Already, some of these appropriated funds for domestic
and foreign financial institutions have been difficult to justify,
especially the billions for shareholders and executives who
helped crash the economy.

Q: What does the passage imply about the House of the
Representatives?

(a) The majority has much faith in the Obama Administration.

(b) It is very displeased with recent government-funded
financial assistance.

(c) It would rather fund foreign banks than those in the United

Qutot ot 030l
IMFol 228t 2 80
ot HE DOX| 2&
ol hicke Qe = sioig of

=0l 7iche gt 20K O\E o =2 M=ol 28 7|

203 eg S| of
ARCH, S| ZH| -9|7|§ EEHE)'EE‘H Qlxst AESq) A
XSS Qaf MOl Aplole B T{3HT)

States.
(d) It does not pay much attention to the financial legislation in
Congress.
sl &d] Quiol #FEIE XFE IMFOIl AUl 4/0{5iLt 0] SHElofM=E =RIS2] MIZ0] sielel T AZol 40l= A Faetct
= WR0|ct the administration has faced ~ vote for the money 22 E G QIRS0| IMFOI| £ XIZ20f T oflAF 2

of Brhetths A8 & 4 Aesz, g2 (b)olc,
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[27] 24] () @uiof AEL XEXofl et A2t otat £4 oflMetof thet  [Zo 74] 2ot XL} 5telel 28
=HY ®0|2E, Ol= =i siAMet E7]0lCk Qufot WHEO| ofl et
(c) ot SRSE X=el 38 7IE S7IE 72l 2= 7|¢ oh@ oS0l Bl
QI Z< O 72{eitta LiAUCt gtch ol 3 oildtere] BXIH
(0) S 2Hol 2als 27| R0 =2to] 47|= 20|k
B. [Part3 =2|x 55 mjof]
For more than 70 years, Superman has been an iconic figure in 704 o, 4mUtE 0|= thE 2stel AZAQI 2IZ0(R1
American pop culture, and this superhero was himself actually Ol 0| 4 YR AlMZ S A FES Hiof E
born from many influences. (a) Superman often displays a wide OIC) (o) +#HMES BF CIYSt SR 25H2 HoF
array of superpowers in his stories, including immense =0, ol Zs2ol= &t g 2AL 32|11 7Y |!Y
strength, invulnerability, and, most famously, the ability to fly. 3t Zioz & 4 Ql= S0 Ut (b) E710f Fek2 7
(b) An early influence was the social and economic problems of Zl A2 A thES| AE| A 2RIS0ISi=d, =7
the Great Depression, as in early stories Superman 0[0F7|0flA] #I{oHe Baist 7|Q10|Lt MR|QISTE tA
championed social causes by fighting crooked businessmen 7L} SIS FEHS HAmM ALS|A Cfol2 s MPCE
and politicians and demolishing run-down tenements. (c) (c) #+moHol 35 XXt Jerry Siegel2 sll2tE2l ALt
Superman co-creator Jerry Siegel himself noted that o 22 At £9| S Eot fHU FHRIEO| S
mythological heroes like Hercules and Samson also influenced JIRE D 2RO (d) B2 052 E OE FEe=z
the character. (d) Many have further suggested that another Hugo Dannerg &=, I= Philip Wylie2| 19304
influence may have been Hugo Danner, the main character of AN (ZaC]ofo|EQ] FRIZ0IICM, 0l XXl &l
Philip Wylie’s 1930 novel Gladiator, about a man with I} CI2 SAIEH 312 J1RI Hxtof| 25t Aol
superhuman strength and other similar powers.
[3HA] 0= thE 2ste] &aA Q=21 0| o FefS 2ot EFdSH=X|0l thst 20|C. this superhero was himself
actually born from many influences2FEf Fofl S CHS0H o2f 7EX| Fol 0[01E! Hete oM s 4 UL
SIX[2H (@)= +IHRHO| 71 S0l =S AE=M, Fefuk= a7t B 0j0p7|E ot rt
[27] 24] (o) ZHl ti3e| ek Bottt= ool [Ze 74] #ois 248 oiYst EH
(c) Al Ql=Z9| dors Elrh= ool A3 BrHA Fek
(d) A4 & FOITO| HEfg BRiCh= 70|tk AapA QIEo] et
AHO| Hef
TEPS QUUIZ )-ovveeeeeeeeeeeeees e p.69
1. X Ro2E2|300 A2 QA2 ABIE A4 A5 H2IE
(@) HFC (o) EHUAcH (c) 7= BHEIC (d) s=3d
[ai&]
champion2 "‘8&5tCt, XIX[oHt = Qo2 AfS|&el 0l5+5 =& 1] X5 S&at= 013/0[Ct
2. 23S 7l % Davide HEZLE 7|8 £ wetct
(@ = (o) B~ ZAH ) 35 (d) oAkt
[aH4]
DR Z2S El A2 Y ghg ot 2o|22 gzt S0{Z THO{2= ovation0| 71 MAESICE standing ovation2 718 B4 2= S=0|ct
3. HA7ke Y AIG7IS0] Q17 AVIE B A2 =2 YOR J|AZRCE
(@) AEERl 49| (o) S7tAtelet (c) Fuig @) =Xl &=
[ai&]
QIZHEVIE T A2 UG S #el0|22 BiZtol= HXIVIES B LE= 03171 S0{7i0F ST}, crooked= RIS SHEIGE 9f
£20|H, 52|0{== corrupt, fraudulent S0 RACH,
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Chapter 2

1 Long Subject

Mini TEPS 1.(b) 2.(c) 3.(c) 4.(d) 5.() 6. (a

1.(d) 2(0) 3.(a)

Mini TEPS OO OO OO OSSOSO p.74

1. [Part1 thel mel]

In 2006, New York became the first city to ban the use of 2006 72 Al= Edfia X|Ho| ZRIS9| #dS sifich=
so-called trans fats in restaurants, claiming that they ZRGH0| SAIMOM AQ ESHA X|Ht AFRS 2X|5H X HI
endanger the public’s health. This type of fat is most often SAIZE ST 0|3 ERO| XHe HulLt ZXF E2 Ze
found in cooking oils used to fry foods like chicken and SAE F7I=dl M8xE =28 JIS0iIM F2 EAHECE A
French fries. It has recently come under harsh criticism o BUEARISZRH WHE dtS U, oex A
from health officials, as scientific studies show that it TEIo MEH EWAXL0| SUS 9ot plZ FMS Lo
causes high cholesterol, which can clog arteries and 7le SYAHZQ #XI2 £0l= ®210|7| WR0lC 2006
eventually cause heart attacks. Many other cities have 0| CI2 WS ZASE 29| FIE @21 on, Yo=e
followed New York’s example since 2006, and many more O e ZAIS0| HIE ez 7|tiEct, I50| Hizgke A2
are expected to follow in the coming years. Their hope is EUA X|E AFRES SX[5H0 Zio|ct
that by banning trans fat they can
(a) shut down fast food restaurants (@) MAERE Algol 22 E=
(b) improve public health (o) BRI ALE BEIAZI=
(c) ban other unhealthy foods (c) CIE 22 SAle SXlot=
(d) make food taste better (d) 249 ot O &7 ot=
[aHAd] w2 AoM A0 sz ETHA XHE SAFHM AESHK| REI=E Ch= WE0ICH 2y giziol= EAA X ALE
2 2XIsk= 0187t S04710f BTt claiming that they endanger the public’s healtht SEHR0| E2A X[dtoz Qlsf &
et £ QA= AYES Sall =2 AY ST0| ZAISQ SH02k= Mg & 4 Aesg HE (b)olch
[27] 4] (a) HAERE AFE Hldsl= AE2 gieh (2ol #4] =2 AlQ EMA X FX| =X|
c) 29 ZFES Aol L2 SAl0] ofu|2t EA EdA x|do] BIRE SA
X|golc EdA X|Hto| H
(d) 2419l ool ot Sig2 glct CHE TAISE EdA XY ZX| RXIE Fg
2. [Part1 thel mel]

Restoring old furniture . But for most RefE JIRE 275K U2 gLt
hobbyists, the hard work is worth it. First, research is Fojof E=ste ARSI 0] EE =52 x| U= Lolct,
necessary to determine whether the piece is worth saving. M 7177 B oFst JR|7F QUeX| ARG | Qe RADE
If it has little value to begin with, restoration likely will not LRSICt o0l ZIXI7H H2 QlotH 215 = etE A
change this. The next step is a bit more complicated. Fixing  ¢i2 Zo|ch CI2 Hl= =2 o 260 BM7 222 1
broken parts may require the help of a furniture maker who Z = 10| S BES Ots 4 Qle 74 XERLS =S
can make custom parts to fit the furniture, as original parts 0| LWRSH 4 Ql=r| =ajo] BE Al0| E7}& = Q7| If
may no longer be available. After these repairs are done, 2o0lck, 02t 427} BUH 7170| QefE HQIES Hi7|w cf
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the piece can be stripped of its old paint and repainted. Al HRIEFS & 4 it 0] ZE 70| =T 2afE 7t7
Once all this is completed, the old piece of furniture will = MZXZ 2L Zdolck,
look as good as new.
(a) is rarely worth the time, money, and effort (a) A2t =, =9l FHct
(b) is a great way to earn extra money (b) Gi2e] =2 ¢ & A= Z2 YYolct
(c) can be an intensive process with many steps (c) %2 HAZE 7™of oh= & 1ol 2 4 ot
(d) is a complicated task best left to professionals (d) Exfst 2oz, MEIMIA| W7 |= A0l 7t &0t
[ai&] Qe E JHE EFots ™S Alet 2010 topicol REE JIHE Eots Aol2k= He 50l £ 32 HOoF o
o AEEe B ™S UEil= Bute®Z AlRtsh=d], 0] FIE 32| 2| o= 717 E41= SX|2 20| QUChk= W
s U 4 Uk metM BiZtlls 7HE E76ts Yol et 82 (o)7t S01710F S80] AIAAZLCE
[27] 24]  (a) 0| UCh= LIE0| Li=C, [Eo 74] EE 7+ 57 2y
(b) =2 & 4 UAth= AZ2 Slch S7E 7P U=X| Jhs5h|
(d) T27I0AE YRR ofx|etH, o2 & 4 U YR 2& S8
= 230t HRIE H A2 517
3. [Part2 chel me]
By the time European explorers arrived in Zimbabwe, a el S8 EE7iS0] ZARIS o SXQIS Alo|ojAME
complex society based on trade already existed among the S0 7|dtet X5 ALS|7F 00| X5t URUCE SHEQH &=
native peoples. For a time, the great rulers of Zimbabwe 2 X|o] FHIEYol X=XEL QI E2 B HAHE U
had good trade relations with Europe, until the Europeans oLt Ol SFQIS0| X|=AIST AZSH 2 MHMS A}
started violent trade wars with the leaders. In the 19th 57| MPERICE 19M17]0] S22 0RO X992 &6t
century, the British finally overtook the region, making it AIDIX|E2 AQICH 100 7710| AHtEgel |F0IES n2g
their colony. For nearly 100 years, the native *peoples of Catone aioz H2of IhA MRICH 19708 1S9 =
Zimbabwe fought against the British in an effort to regain S OlEI MERCH 92 ME= AuiEY AlRSD gds o
their homeland. In 1979, their efforts finally succeeded. The 0 50| S22 MRIGIE2 &It
British government came to an agreement with
Zimbabweans that allowed them to declare their freedom.
Q: What is the best title for the passage? Q: 0| 20f 7He L2 HM=2?
(a) The Influence of Europe on Zimbabwe (@) &0l Hut=gof ol I
(b) The Role of Trade in Zimbabwean Society (o) ZHt=Sl ALSloflAf 2HAo| st
(c) The Colonization and Independence of Zimbabwe (c) &Bt=Llef MRix|etet =3
(d) How the British Colonized Zimbabwe (d) B=0] HBIESE EA MUKt =t
[ah&d] THIEL7E H=9] AlRIX|= H2FCHE 1000H9] 2oz S-S HHUCE HEO0ICE FXZ0| MAI=/0f UKl Lot 2=
THEe R mfelor & 4 A= ZHIOICE, FH 2AIS KRAISICIZE ARIXTH HRALL, CHA| SIS HAULEZ 0] LHE T
HE OFRE 4 U= 7t MAS MS2 ()2 RbtEYel Alpix|stet =& olct
[E7] 24]  (a) 0| Hetoh LHRAUR] e, 4 HHLls [Ze 74] ZHEYet Kol 2A
H=0|et, ZHIEQIE AlRIX|atet
(o) RtMIS] A =IX| LUK e RIS £
(d) =X 42 LHEolCE, =22 e
Must Know
“peoples — people AREIE 0l2t= 9|0|e] B4F HAOIX|ZH 2RI0|L BIE SXS onjE e Yol aS 20/7Lt Flof sE 2

M|E Bic,
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4, [Part2 L8 U]
Dear Shanice,

| am pleased to inform you that your application to Dunston
University has been accepted. We are a very selective
university, ®but you far exceed the qualifications that we here at
Dunston require of our students. We were especially
®@impressed with your devotion to volunteer work as a high
school student, as well as your many after-school activities. We
hope that you will bring that same drive and motivation to bear
on your studies here at Dunston. *Should you choose to accept
our invitation, we will promptly send you @more information on

Shanice 5t

g2l0il7 Dunston tist isto| sivt=ltgs 22l
o] 7|®LCH 2| Eke i _9_4\_@ o
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new student orientation, class registration, and tuition payments.

Sincerely,
Albert Childress, Dean of Admissions

Q: According to the passage, which of the following is correct
about Shanice?

(a) She was accepted to the university by a narrow margin.

(b) Her academic achievements particularly impressed the
university.

(c) She received an exemption from paying the university’s tuition.

(d) She did well at volunteer service and extracurricular

activities.
[sH&] Shanicet= SHMOIA| thst &f2E Yel= SXIMOITE Xt 2710] CHete| B sMSHC} HO{LIH, impressed with ~
after-school activites22E £5| st SAtetEn Hgs0 U0 Uslo ZUCtE AMMS Y 4 Ut matd g2
SAZs nelEEs Fals| Mt (d)7t ol Eot

[27] 24] (o) EF SISOl I 2712 STtstol Yatict
(o) 120l Ofcl BAIZS T} TRIBSOIN Q1S Wit
(o) st 22 stulof et YEE FCH= LG Ut

Must Know

*Should you choose to accept our invitation, we will promptly send you

more information on new student orientation, class

registration, and tuition payments. — 7} &2 If you should choose to accept our invitation| Al ifS A5t 012}
shouldS =X[5F FEHOICE AN ZaofM F2 M0|0 ‘SA| ~& Z< o 20| siAlotd Elct,

5. [Part2 ME LHE 27|]

The buying and selling of ivory was banned all over the
world in 1989. However, a select few auctions have taken
place since then, the most recent ones taking place in
several African countries in 2009. @A growing elephant
population is the main reason these rare auctions are
allowed to be held. Regardless of the number of elephants,
environmental groups are concerned about the implications
of the auctions. Their fear is that any sale of ivory will
encourage people to go out and @illegally hunt elephants. If
this happens, the elephant population could become

AOFE AL Oh= U2 1989d TMAMSZ SX|=ACE 1
2Lt o|F HME Zoh7t &4 O|R0IRE=|, 71 229 B
Oi= 2009 HH otza|7t =7iolM ERCt 9S7Ick= =
712] 71 ol EX| 2 o7t si7tE & olRolct =
712 ol HEelo] &E HAlS2 Zoiel ol tal <2
St Qloh I50| F2flske A2 dotel Tt MEE0|
HALZE 0721 SHHCR Adsi=s fF7I0h= A0
Ct Qfof o Yo wMsttH A7|2| = R A X|LK| &
OF CHA| Bt fjelet Y=z S0 Ao|ck
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dangerously low again in just a matter of years.

Q: According to the passage, why are the ivory auctions
permitted?

(a) Because elephant hunting became legal.

(b) Because African nations need the income.
(c) Because elephants are increasing in number.
(d) Because they are not held very often.

Q: tE & ot Zuivt S2lE 0|RE?

(@) 2712 *L*OI et =7 wi=of

(o) otZ2|7t 7152 =2 LU 2ol
(c) 2712 A7\ CHAl S7t6H U7| 20|
(d) Zo7t X E2(X| 847| w20

[ai&] A2l £7F B7t6t04 ot Zojvh 224 Feu A, SF HiHl= 0l RS HeiThe WEO0IC Aot Aozt S2lE 0|
RE = SMOI2Z, Zoi7F ChAl AREICHE W8Sl X 2ES F2lstof 21010 BHTf. A growing elephant ~ to be
heldE 2& F7|2|9] 471 S7t5t0 o7t UL SIBEHUASS & & A8z, 2 (c)olth

[27] 24]  (a) 27I2lof chet 28X Alg0] EXist22 ol [Ze 74]  FZ7i2| Mot Zoiet 2

2 4 qloh 2ot AoHel xif ARf
(o) 0| otzZa|7} =710 S0 k=Xl= & 4 Glck, 2t HRel 2o
(d) AFAO|LY, ZPEAOI OFeb= 7Hel7h o
6. [Part3 =2|x 55 mjof]
A recent study conducted by researchers in Australia SZ HAXIS0| A £ HTOIA HAI 7|7t 2Zof 2
reveals that a man’s height could have a great deal to do = 4 QICH SiEIECE (a) T2 40l= XAIZT} 9
with his salary. (a) Other factors include confidence and 27+ e, Cﬂ?‘i%% 00| 42l UZ0l IE gekg &t
appearance, which researchers found also affect women's = AS YL (p) A ATHES2 HX ? II7tZ
salaries. (b) In fact, researchers found that on average, OIX| O 3H WHAXOR H=0| 2k 1000 H ICH= ARAL
being a couple of inches taller resulted in about $1,000 2 AT (o) B HSQNER 0|2F Mol HlXstith (d)
more a year for men. (c) This is about the same as an OS2 0] 0|R7F 7|17t 2 IRt = YXiHDE 1241 =2
average yearly raise. (d) They believe that the reason for 22 O ¥ ZZS 4| ij20l2tn al=c}
this is that taller men command more respect from their
customers and coworkers than shorter men.
[ah4d] Aol 7|7t 25 HE0] =hi= S Zuo|ch A EYS BH 712 A9 A8t 2AIE =ejzle A EEis
f(b), (), (d)= 25 EAtel 7|2t HEof 7o) et ATE oEH TIAA=XI0f thalf CHR1 UOLt (a)= 012k 278l

[27] 24]  (b) 717t 245 AS0| =Ci= Zufo|ch,

(@) d&Hel (b) A&el= (c) FuE
[aH&]

SHiEE F2E LACkE HE0IM AIgo] BHEIEE & - Utk

50| ek,

2. ZHE 17150 NS ZARE| s o= AN tht 252

(b) AlEH3HC (c) ExIct

AB4  Answer key
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FES ZUst 2022 NS, (7 58) AU = 208 7 conductt EO| HITh overtakes 1 X0l &2il jnig 7
g1 9lon= go| @ 4 it
(0130

raid 824 probe ZAfotCt

HEs2 g2l SSAoll tat Ol ZfAfSHoF Bttt

(@) 2t (o) At (©) &71 (d) 2lo], &=

[st&]

LHES0] ZAfsHor Bttt oo 2 S0l SSAS Halsl Jch= AMS |FE 4 QUCh devotion2 B4, M 59 ojn|S Z=Ct

£ 0|02+ ardor, dedication, fidelity 50| QICt,

[o1&]]
public service &3 Al
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2 Relative Clause

MiniTEPS  1.(d) 2.() 3.(d) 4.(d) 5.(c) 6.(b)

1.(c) 2.(b) 3.()

Mini TEPS OO OO OSSOSO p.80

1. [Part1 thel oef]

For decades, radio was a wildly popular source of 24 H S0t 2iC]|RE 0|ZQRISolA 7HE 17| = 22t
entertainment for Americans. In fact, the period from the H2|ZCE AMAL 1920EAHRE 1950EtiE 2|9l &2
1920's through the 1950's is referred to as the Golden Age of Azt 22|, 79| 8SHMEN 7t7k 0|2 7FH0]
Radio, as nearly 85 percent of American families were GOl 20| HEXIFSO| YRT| wWRolch A
reported to be avid radio listeners. Radio programs during the ool pioje m2ae =gpiot AlZlx, Rojol 4, 29
Golden Age were quite diverse, including dramatic series, ZME & Mda| ordict. |ES A43 “Guiding
comedy shows, and music concerts. The famous soap opera Light"= 19500 TV Z2a2o=2 Hiy| FMoj| 2|
Guiding Light began as a radio drama before moving to SOt AR BiC|e A= x=7| TVAS| HAIS ZH
television in the 1950s. Radio shows helped determine the ot =effelct, 20| Jack Benny@t Hst MEAt
format of early TV shows. Famous personalities such as Orson WellesZ2 | QIASE 0] AlCfe] 2ir]@ Z&
comedian Jack Benny and filmmaker Orson Welles got their J2Mo2 A|RkSHCH oEist AL 20| Q9| EEA|tIt
start in radio programs from this time. It is plain to see that the . E=Aolck

Golden Age of Radio

(a) played an important role to relieve social stress ( = W

(b) inspired most early television shows in America (o) ciE0] 0l= =7 &0 20l S FUCH
(c) lost popularity because of the invention of television (

(d) had a lasting impact on American culture (

[al&] 227t 20M7| = oj=o 0 Fekoll et 20|ch 19202 E] 1950 th7IX|= 2iCieol 57|12, Cidet Z2adS
HESI0] 0[=S0/ 2&12IE MSFen, 22 TV Z203 3 |Y QA2
Sl 28, giztol= 20|29 ZZAIt7t 0lF Atglol 0IE Heol S0{7tof Bttt

[27] 24 (a) AS=X =2 LHE0|CE (2o 74] 0l= 2tC]o| FFAl
(o) TVO| &t Ags oF A2 AMMOILE MRAIZ0 S1tstE2 2t 2to|e9f 17|
ol daks otz d¥e 4 glot 2itje T2aol F=
(c) TV7t Liet etr|@9 QI7[7h HO{RCh= AtdE FE22 4 glCh 2ICRILTV 40 717 &
6. [Part1 MH=el 52 mfel]
The Office of Student Services would like to announce that it S AMHIA AFRAIOIA BiXH ZSUMSS 9|5t QIEIA X|
is currently accepting applications for internships for seniors. HNME 20 e AMME deisgllch IENE e
Internships offer the chance to gain valuable experience in OlM AZSH Aole As 4 Q= 7|32 MZELICE Z2Y
the workplace. Aside from experience, internships offer Qo= QIHME JHRloIA A XS e + U=
individuals a chance to find a permanent job. To turn an 7|312 ZLct QIEAIS 0| 7|52 orSEH Qe
internship into a job opportunity, an intern should act as if the QIEMo| HYo| xRl MY H=sHoF LIch M
internship were an extended job interview. Arrive on time and olm MRS & Q= Al2fls HOoZT| Qo MAlO| =&
meet all your deadlines to show that you are responsible and St OfZ AlZES X|7|AAIL, ol st &Alo] AlZt=0|
dependable. Your dedication will show people that you would Al G220| £E25F 1LQ10| = S HHE AL|cH
make a good employee. Internships are most important for ZY OIFEXEA N2 7t
graduating students because T ZQ8fct

ABE  Answer key



(a) they usually pay students well (

(b) they make it easier to find that first job ( S

(c) they do not require a great deal of effort () ¥2 =2 d
( A

=) ERE
(d) they offer the chance to know yourself better d) AARO| CHsl o & & & Q= 7|52 Fa2
[a&] ohst M chat QIEINS BHESHT 9| AtElS MYSH= 20[Ch the chance to gain ~ in the workplace, a chance to

find ~ a job opportunity, show people ~ good employeeS2 £ 2% QIEIM0| XIS 2ot 7|32k AMME 0lot7 |5t

1 Tt 0| Sall UEH0| E2F 01RE HiZ FA HE0l2ks AEE g RFE 4+ A2B2 g2 (b)olCh,

[E7] 24]  (a) S 2 HS0|ch (2ol #4] Y XIH st 2E
(c) HEXY dSstn ARt otdE X7I2kE W& QIS FE 1
of m=H Q&M= B2 30| Bed Ao|ct QIEN FH 2
(d) S==IX| 2 LHZOICH, QIEol XHd
3. [Part 2 the| met]
A total solar eclipse on Monday swept across portions of 7H7 1Al EeUol OfAlor YR XS EET XILIZIHA,
Asia, where hundreds of millions of people gathered to SEH0kS| MFHE0| 20 5H=0| HFXlE Ze XIHAEUC
watch the skies darken. @The longest total solar eclipse of @21M|7] S0 71 71 JH7|YAlS X2 7t2ElR J1EE ol
the 21st century spread over the world's most populous 7F 22 oleot S2uf 22 Liztof| ZX X|LZich Aol oy
nations, India and China, as it moved across the globe. In St OjAIE J7HX| 1 Qe Q=M AFEES 1l slsu MX[QI
India, where people are superstitious about eclipses, HRfLAZ 2SR 282 SuXel IWIE B2 o
people crowded into the ancient Hindu holy city of Alo] AIR=XE EfdS Sl 7|=otH & &2 22 A XA
Varanasi. “As they sang religious songs, they waded in the 22 AR WA £2 XMXjof oM X|Z0| H7|2k=
Ganges River with folded hands, praying to the sun as the YS X3 ZYEZLRH SU7| w0l olXoll 2k U= Aol
eclipse began. "We have come here because our elders Q20 Qo ZEX|H0M 2 O0F2 AKZ0| Z3HCt
told us this is the best time to improve our situation in the
afterlife," said a villager from central India.
Q: What is the main topic of the passage? Q: 0] 29| FHI=?
(a) The longest solar eclipse in history (@) & T 2D U
(b) The religious significance of solar eclipses (b) ¥4 Sl
(c) Asian superstitions about solar eclipses (c) YAloil Chet okAlotel OjAl
(d) A Solar eclipse in crowded regions in Asia (d) OfAjO} Q17 HE] K|SO YA
[at&] 21471 501 7+ [FAl0] QIFt U X|HQl B0} QoM HEEUSH, Al

2
0lCt OfAlotel Q1=

2 A
sl 4 Qe 71 HEe ME2 (d)7f 2

[27] 4] (a) 21M7] S01 7K 21 ZA0IX|, FARY 71 2 ARIXl= & & [Z9] 741 OtAlot X|He| JH7| YA
aict, 2171 S0 74 71 717124
(b) Z11% 2|0}= to improve our situation in the afterlife2} 2 QI UE X|ollM BE I
O Lot oLt ME Algoll =ztatct UAofl et Rl AHEC oA

(c) 29 tAl HES Z2e + gtk

Must Know

*As they sang religious songs , they waded in the Ganges River with folded hands, praying to the sun as the eclipse began —
As ~E1} praying ~2& AlXfete BAITE0| RUNSS LIEID /USS YH siAM0| +TICH As ~EE BAHIRCE 1A Flo| &2
APE &R Singing religious songs and praying to the sun as the eclipse, they waded in the Ganges River with folded
hands.” 7t ZIC},
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4.

5.

[Part 2 LHE ¥X

]

At Sands Resort and Spa, all the luxury you could ask for is

right at your fingertips. Enjoy a relaxing day at @®our

award-winning day spa, where you will be treated to a deep
tissue massage with aroma therapy candles. Spend the
afternoon lounging beside the resort’'s main pool, where we
offer ©poolside dining and drink service. Simply have a
seat and ©one of our waiters will provide you with whatever
drink or snack you like. At the end of the day, have dinner
on the beach and watch a beautiful Caribbean sunset. For
a limited time, ©@couples receive a discount on meals and
hotel rooms. So do not delay; the beautiful beaches at

Sands are waiting for you.

Q: Which of the following is correct according to the

advertisement?

(a) The resort got an award for its service and facilities.
(b) Deep tissue massages are offered beside the pool.
(c) Drinks and snacks are provided for free on the beach.

(d) Parties of two can receive discounts on food.

[sha1] Al 59| Ciofst MHIAZ XI5l
H[H|S B WECIT HOOR (s 82 2

[27] 24]

T

o™ 2201M o2 2ok 2f=X| 4
(b) AF ZZ| Oz F7F ATO|A B 4
(c) SRt AAs +SHUM HESEE 4 AUCE
[Part2 &2

What if you could save the environment just by writing a
check? It seems silly, but that is exactly the idea behind
carbon offsets. Carbon offsets are big business these days,
as more people want to help the environment without

changing their lifestyles. For example, it is common

knowledge that SUVs produce a great deal of harmful

carbon gases. ®Owners of SUVs may feel bad ab

polluting the atmosphere, but may not want a smaller car.
®©To make up for the extra pollution, the owner can pay a

carbon offset business to do something for the

environment. Then, @the company “offsets” the pollution by
sponsoring a recycling program or planting lots of trees.

Q: What can be inferred from the passage?

(a) SUV owners are not likely to care about the
environment.

(b) Carbon offsets help reduce cars’ carbon emissions.
(c) Carbon offsets allow people to continue to pollute.
(d) Buying carbon offsets does not help the environment.

AB8  Answer key

out

©
T
g
o =

AZIZE Z=H| =0 AU @0y HH0
-

2t =oF o HF XA DIAKIE 2E 4 U
N HISE ARZEE BTIMR. F0lE 9L
S22 Mssi=els 2=EY & +FH0M SVIE2 ARIE
S, Xf2lof e OEHsH:E 5= -
EI7F MSali=E AUC
SHAME ot OlEH2 712(E dlel =
= 7|2t et 974 g
2{L| YHo[X| oA, Sands@l OFST

ct2|m

rlo

>

=

BB o

> tru

e 3

= >

u 1o

o [0 g m

'S Mo W
D}‘_ 2 ‘>

o i

= a o Mo

X F

L2

o X o

b A <

o
g':‘
rE
S}
op
=
1o
~

*]

o=

3

&
ik
Im
rr
>
[mny
[>
o
>
X
Hu
0z

s
=)

30
0

ncon
oH o o
o
o
o

&

=

Ral
LT

il

oo +>

Hu
o
[>

=
ul
i}

i
I

|
¢
I
20

ERORCHC)

o
0ot
ol
o
in

U

4

%

> o

=

o im

> O

L Hr H
P
»
O
<
A

x4

1> 08
0z
[> o

1

> no

S W e
mr
N
2
6
Hu
rior
oY
o
[l
i
+

o
il
2

0

2 ro

= °
0

.
unJ
1o

o
°
=
E

fo

o2

x

~

i

rir

ML rjo
Tk )
L

u\\

C;

o

o

o ©
N
m rr
B>
0
=
rr
FO
= ur
e
Ty
>
s
ro
i
inl
(=}
ro
>

0=
or

0z

1z

njo

o=

-

sl

oy

2 qn 32 N 4
nr =

B o :

N

=
o
un
2
w
c
<
AN
HT
[> fon g
- onr
o H
oY H> o

=
T
o
=
rr
N
o
Fl'l:
>
nx
8
o
10
c
=
Ho
r2
]
rlo
im)
N

r\é
Pt
l
-
og!
i
o in
= &l
Rl
B

G2 N
ro o

ro 4>
o
ful
Y
N
Hu
e
i3
Ir
o
e I
5]

o A
o
HT
0
ol
N
do
ol

rm 3
-
0z
I
o
>
=)
for
oy Tl
mjo
410
rol
e
mjo
&\l
|_|-|
oL ]
i
> 1o
=
4>
30

jin]
1
m
5]
I
>
il
>~
ot
0f0
=}
Hu
L

o
(=)
o
]
>
2

Ul

0z
i
>
N
A0

O
g
10
=
oo
=2
>
i
i
]
=+
30
mr
N
rlo

~D

&
w
c
<
P>
40
>
i
10
rior
oy
=2
E
%
i
0z
1=l
£Q
1o
S~
e
Il

0z
o

= £ =

u rirorr
=

C5
2= 2
0w ofn T

i

1o
o M

re

i

N

i
2
N
o
=
I mjo
to
08
>
U
=

rm orm
e

(

®
0

o o
rm
B
0x
[
4
°
QE
mr
N
ro
riok
0%
2
H-|
oo
=3
m
B
el
rr
inl



[aH4] EfA 2ol chelf HHot= S0Ioh BA Mgt ot 2¥s Uorl= SHE 4 AMEstsl &8 2ol thet thrt= EA 4
A ZJAl0| =S XIS6HH, A= 1 =02 ot S U= OE A0l =5 FXleh= ZA0ICh A o ZHe otd @3z
Sh= MR FAo| ofLjat, @Fs A7l = 2 HAICZ 1 @¥S Whlsk= A=3%801 HMO|BE, (o= 2 FE0IC
[27|124]  (a) TH7| 20l 2ZE B2 = Qrin LieF QU (2o 7]  EA M 2F 2¢
(b) Bt M7 EIA HIE XHE SHFK= E=Ch SENSEe [SIClli]
(d) EtA Aol == XISotH CH2 YAlo=Z oty EfA A9l 7z
= &7 E=ot
B. [Part3 =a|x 52 mef]
Making a terrarium can be a fun and informative Fe2| 24 HME2 1o}t Z-ol 2 4+ Ao, xR
experience, so here are some tips for making one of your oto| R2| RAIS eSS A ea|ZGL L (a) HWZ
own. (a) The first thing you should do is to choose a ofiof & 22 UBUR| k2 RelHolu 2 2R &2 871
container such as a bottle or a large bowl that is open. (b) n2= ZAULh (b) dsiRle |2l 242 mz|Jt glcaz
Closed terrariums are very challenging for beginners ZEX0IAE 01 H{E&LCH () CHSolle 20| HIES2 Y
because they require intensive maintenance. (c) Line the ZE 4 QIEE IES A2 SWO|Z AHRD, EL0| S|}
bottom with small rocks to allow water to drain into the Aol= 22 YXlotr| flalf 2 2ol 01712 HeMAIR. (d) 2
bottom; then place a layer of moss on top of that to keep 2|0 LM Qo EEE 22|11 |2 2Ao|A 721 A &
the soil from mixing with the rocks. (d) After this, just add 2 AlZo| U2US AloAIA|R.
topsoil and plant a few seeds from whatever small plants
you want to cultivate in your terrarium.
[aH4] Fe| 242 s S AJlstD Ut ® 29| Making a terrarium 28 E FX7F |2 A4S ftes gHelg g 4+ U
O, here are some tips for making one of your owng Edff 11 2 2| 242 s W0l 0|0 HUS F=8
2 U0 (b= 2% (a)2 iU %2 RS AZiti= o tiet £ 4Ho|H, Re| 248 tes alae= 2y
Zol oo gict,
[27] 2M]  (a) B2 T2= A Ui 2gol st Lol [2o 74] R =4S oesd
(c) 2ol SOt 0171Z M2Ch= LHEOIC &7| 127|
(d) &2 MR NE #el= o2 S o|Ck =Uol & of7] Z7|
HERF MCH #e[T|
TEPS QUIZ )vveeeeeees e p.83
1. 2 u=tolM 7R X|9oll= 80 m2| ZA=0] UL,
(@) |l (o) F&=iQl (c) e+t dxie (d) F7Ael
[aH4]
populouse 17t 2USH BHlE" 82 90lE ZH=Ch population, popular?t Z2 0IZE 1 ICH popular?t 2l0|E ES6HX| U=eE
Z9|5IxY,
2.
(d) LIORX{CH
[ai4]
swept= sweep| MAHYSZ EECH HASICH SO| 50|t sweep2 AM Aall & A nt Sl Xt Mok
3. U2 s¥2 =28M0|X2 A2 7HE S0l O B2 0|dds ¢ = ULk
(@) CHSt (o) ZerxQ (c) &7Iztel, SftiE (d) F&stk=
[aH4]
AMEQHE o 2 0lalg ¥ 4 Qitn ooz FHoXRl HEXQI 59 L8 7t intensivest BIZtol 7HE St
[of2l]
efficient =2%21  profit 0/
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3 Nominal Clause

MiniTEPS  1.(d) 2.(a) 3.(a) 4.() 5.(d) 6. (b)

1.() 2.(c) 3.(d)

................................................................................................

1. [Part1 M=QI 52 me]

Scientists have long wanted to know what happens inside the
human brain when people are deeply asleep. A person may
be unconscious during sleep, but his brain cells are still busy
with activity. “Neurons, brain cells that carry electricity, keep
the brain working even while the body is resting. In a new
study, a team of scientists found that neurons actually have
pauses in activity as a person heads into a deep sleep. These
pauses in neuron activity serve to keep people asleep, even if
they hear loud noises or are touched. Without these pauses,

(a) the brain would become overworked
(b) deep states of sleep can be achieved
(c) the brain could not function correctly
(d) people would wake up far more often

TSRISS Qli0] S Holl WS 1 FHO 2
0 YOILIERIZ DSt AT MOfTE FES XHe SOt
917k ROl NEf 4 QIOLE HNEE Oft3| Bfu
FSBICE M1 Bl SRSl F2S 0| 4D S
TR} S} 24 MSHER Sict MRS HTROIA st
RS2 olzio] 22 Fofl MRS H2lo| 252 ST
e %S YA 2 2SO FAP|= 2lzio0] Alme
2 A2 S} Lot PSR s S H 4 O o
F0L, 02 FA17} glopt

[a4] 2 Al £lof w210 ZF0] oiet o ZnE tRT Qlnt BIZto| ZEE 2YS BY, w20 SAV 7 glel oA ==
Xg |FsfoF g2 o 4 Utk A 2&9| neurons actually ~ a deep sleepS 2 70| S HEC2M 72 ST
BHRICHT LE2C) Rk B2 F20] 2ES YRl ErH A2 H2 +us e+ glg AoI2E, (d)7t golt

(27 4] (g) =7t BEapl Yste Xi= 28 4 ot (2ol 74
(b) BXI717 glopt U2 Fo) Wl 4 gict
(©) F=x e ol

Must Know

hd

Mz22 S5 Z2at

“Neurons, / brain cells that carry electricity , / keep the brain working / even while the body is resting. — brain cells that carry

electricity= 012! Neurons@t SH0= Mct

2. [Part1 tHe| mef]

Students and staff at Morris University .
Last semester, a group of students met with officials at the
Student Housing Office to discuss the idea of creating alcohol-
free zones in certain dormitories. None of the students drank
alcohol themselves, and they were tired of having to put up
with the noise from alcohol-fueled parties in their dorms.
Student Housing liked the idea, and as a result agreed to limit
alcohol in certain areas. For the first time, students will have
the option this year of choosing to live in an alcohol-free
environment. The solution is a fair one because it does not
infringe on the rights of either group.

ABO  Answer key

Morris CHEto| stimt x|Qio
K| SE|of| oF St Chil= St 7|sAf AFRAlS] 219
=1} OiLt EX J|aAl] 23 x9S ptes Zio st
ol7ig =0oJ3iCt 0| MES B &2 OIX| 2on
TR & OHAD L= T2 0I5t ASS A= g
Ol RIKQURICE SH 7|2AF AFRAIS 0



3.

4.

(a) have banned drinking in certain parts of dorms

(b) are working to eliminate loud parties in dorms

(c) limited the amounts of alcohol allowed in dorms
(d) agreed to expel students who drink liquor in dorms

[a#] st 7ol 858 315
| Zapt &

[27] £4] (o) D]

[Part 2 o] mef]

NOTICE TO ALL STUDENTS: Our University provides high-
speed Internet and other information technology resources
to help you accomplish your educational goals. When you
activated your university Internet account, you agreed to
abide by the University’s policy concerning the use of the
Internet. More specifically, you agreed not to use University
resources for illegal copying, use, or distribution of music
and video files that are copyrighted materials. The University
considers peer-to-peer file sharing of copyrighted music and
videos to be an inappropriate use of its Internet resources.
Moreover, such activity is illegal under the Digital Millennium
Copyright Act and exposes you to serious criminal penalties.

Q: What is the main idea of the passage?

(a) The University's Internet is not to be used for file sharing.
(b) The penalties for illegal file sharing can be severe.

(c) New laws make sharing copyrighted files illegal.

(d) The Internet resources should serve educational purposes.

[aH&] tHeto] MEsts QB AgE =2
o

[27] 2M]  (b) MHO 29/= NS AREO|CH
(c) OIXIE LU MAHHE M Artolct
(d) I8 2HO=Z Mot SiCH= QRE =5tRl= UULEH

[Part 2 LHE ¥UxI]

Emily Dickinson was an American poet who lived a
reclusive life, barely leaving her home. She was considered
odd by her neighbors, and became known for always
wearing white clothing and often refusing to receive visitors
at her home. Dickinson was a very prolific poet, writing
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Al
=

nearly 1,800 poems. However, @fewer than a dozen of those SotE Az 127ie oF Eoh Clzleol A= el Alchol
poems were published in her lifetime. Dickinson’s poems are HIZ0| HH SE5H|, 0= 49| A7t @720 &1 X|=
unique for her time, in that they contain @short lines, often o glen| Sof gelx| &2 28 7|1 Atk= & 20|
lack titles, and use unconventional rhymes. Many of her Ch 2ol Al= tieg 931t S20i| tiet XIS o=
poems “deal with themes of death and immortality. ®Though QICH ®T1L49| Al= AOFAMX QIXEIX| Z3iX|at @S H|
her poetry was unappreciated during her life, critics now 7SS C|7122 =5t 0|2 AlQlez H1 QIC
consider Dickinson to be an important American poet.
Q: According to the passage, which of the following is Q: O3 & olZ2| C|ZI20i tiet 4F22 UR|Gl= A2?
correct about Emily Dickinson? (a) 29l Al= Zo|9f B M2 m2o EHsiCt
(a) Her poems are unique in terms of length and short titles. (b) 1H2 =50t A= Al=0f QI8 2RUT
(b) Her unique poems were appreciated after she died. (c) 2= nat A=l thsh ATt
(c) She wrote about isolation and loneliness. (d) 249 A= Hord SutE Aol itk
(d) Her poems not published during her life.
[at&d] oflal clzleof ldint Ajoil Chet LIZOIC) oFx|af 220 B HotM= A AR ZXIBE A0l Z28t 0= AR
o= QIYEICID LIRICBE EE (b)0|tt,
[£27] 24] () MI=0| B2 Z0] otLf2t gict [Ze 74] 0= A ofgz| Czie
(c) N 2S2 49| Mgt e QU= 40| 2 dgs &
o, Ale] #Xl= U2 31 SZoIRAC CHERHE 27t
(d) H=2 LoIX|2H A7} EHE &2 Ale| E3
A2l 217
9. [Part2 22]
Many people dream of being an astronaut and traveling to 2 AIRFS0| SFHIHAZE Z0] 22 odlst= XS 1A
the moon, but what about owning real estate there? o 2o 2S4S ARStE A2 oEI? ol ol=9 JKel
*Thanks to a private real estate company in the U.S., thisis 2=t S[AF E20f Ho| 7HsalRICt HIHICH Zof QIXITH S|AF
now possible — almost. A company from the state of = g9 BXIE miag 4 U=E [0l £H7E QF6H 2
Nevada has been asking the United Nations for years ©if C}. OX|Z7HX| o 4| 7| = SIAle| @FS 5l2fotX| 4Rt
the company can buy up plots of land on the moon. So far, Cf a2t o= 3o & TMSO|A oo EXIE Hoist=e
no official organization has granted the company’s request. AE YUE 4 URACt @252 0|2to] JHARH AIXSHH, 2
However, this has not stopped it from already selling ol &= Himf TS 27| dote A2 7L B2 A 4 ot
pieces of land to hopeful customers. ©@For prices starting at
just under $25, anyone who has ever wanted a second
home on the moon can buy land there.
Q: What can be inferred from the passage? Q: 29| UR0iIN 2 + U= A27?
(@) Itis illegal to sell real estate on the moon. (a) 2ol EXIE Hoiisk= A2 S7olch
(b) The United Nations is likely to grant the request. (b) RS2 1 RFS &QI1E Ho= =Holrt
(c) Real estate on the moon is surprisingly expensive. (0) 2o EXl= =& 25 HIME
(d) The company does not yet own the land it sells. (d) SlAk= OFEl 250| Hish= WS AR UX| ATk
[at&] Eol EX| Tofof et WEo| Sl= AEiolM 8t SATE 22E 1 QUCk= LEOICE olof oish =2latHLt &i7tet 70|
H2stE 2 SHQIX| ofdX|ol thet 2= 26l 015 Soll SAl= ARSI 22 HEl0IM EXIE Eofistn AUCk= At
2 f5Y 4 ASBZ (d)7F Holck
[27] 24]  (a) 2 EX| M7t SR/QIX| OIXIE =2 7[&0] gleBg2 RF8 4 [29 714] Ho| EX| Ty
Ql= Argolct, g EX| i 2F
(b) UNO| &2t Hek= AMde & = glch 5170 HEfol M EX| Tof A
(c) &9 234t 7140| 2622 R H ARGIER HIMCL & = GITh

ABZ  Answer key



6.

Must Know

“Thanks to ~ — Thanks to= ~E&0 2= S£o=2 £2 Unt L Aof 7t2[x

HHOZ2E= on account of, owing to, by virtue of, for the sake of S0| RACt.

5o
5
2
B
o
°

[Part 3 =2|X S& ufel]

According to a group of scientists in England, the world is A WSSO olstH XlTt= ok EHE A i o
long overdue for a mass extinction event. (a) The scientists Z0{0F FUCE (a) TSRS 34 7|29 ME i ol
reached this conclusion by studying patterns in the fossil AZ20|| TR 0] 7122 M AS ME X|=I5t
record — the sum of information gathered from fossils, ice TN 22 HE9| Holct (b) &= &5t SO Af
samples, and other geological studies. (b) Ice cores 22 YsiofAl= 4uH0F HolLt = O0|E{E AEE 4 QCt
gathered from deep in Antarctic ice can yield data that are (o) BHACZ oixf YojLtn Q= X7 23 Siof|
millions of years old. (c) Apparently, the warming currently U ZHT |2t SABICE (d) Xl ZHIZIof B &5
happening on Earth is similar to other warming periods in S0| XIF0IA ARREXIHA DFSERFSOIA "0l CHAl 2of
the distant past. (d) During these previous periods of =Sl 2te o2 gt

warming, countless species perished from the Earth,
leaving scientists to wonder, “Will it happen again?”

[aH&] X Mg L2 2406 2 o, X7t= e o
FIZ2 3 27 = HAsE= Felel 2oih siX|gt 2 (be 2 (ol U= 5 HE
Yol Z7ek= 727t B 0[0F7IE ot AT
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<21
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= 1R
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£ 0

RIFe] AAL

[27] 24]  (a) 2] XI2E 248t 2710k [Zel 4] X7 ZYol cHst ol
(c) 279l ZH 7| ROl 2Ltatof thst ZAHo|ct, StM 712
(d) ZHl71e] HEO| st nfstxts2l ZRolch 23} 0|& HE0| BHEH
TEPS QUUIZ ) rreeeese e
1. o=l 7[EtE & 8t SlAHE 11T 2|APt XIS E5IE o ALY
(@) XH3iCH (b) Zlazict (c) EHstAZTt (d) si7H3HCt
[sHAd]
infringe= 0l on =& upondt &7 A0 (2| 58) Fotisich = 20lE Z=Cf S2/H2E encroach, impinge S0/ RACt.
[o1%]]
patent £51
2. 2 12 28 MEXES XlZ0| et olz E2&o2 Zx| &A| wEolct,
(@ Hzl7t © (o) 2Est (c) xlg7[sto| g (d) QI™erx| =t
[5H&]
A X2 Qle MPASC| Bl =7 S22 Ao|ct w2t E2 overdue, (c)7t €T}, HIEt 013]|2& delinquent, outstanding S0
At
[o1%]]
debtor X{FAt  recession (ZA|) EA|
3. 1 i=o] ARCI HNER oLt 152 2ESItE AR ™S UL
(@) M= 255 Y= (o) &0l SHsIx| 2 (c) test (d) ch=i(ZfF)et=
[5HA]

Zholl= #H=ol Zuksoll thet SEXQ! of2l7t Soi7iof ottt ©2 Au=EE Wit K9 prolifico| 7He HHeH golmH, &
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4 Adverbials

MiniTEPS 1.(@ 2.(c) 3.(b) 4.(c) 5.(d)
1.(b) 2.d 3.(a

Mlnl TEPS ......................................................................................

1. [Part1 M=QI 52 me]

Anyone who has ever been a tourist in France knows that
some of the French people can be less than kind to
Americans. “Nowhere is the problem greater than in Paris,
where negative perceptions of Americans have inspired
tourists to skip the City of Lights. However, the cold
greeting that many Americans receive, it turns out, is
hurting tourism profits. In an effort to keep tourists’ money
coming in, the French government released a new
advertising campaign. It is urging its people to be more
welcoming of Americans, with the unflattering slogan
“Sourire pour les porcs de touristes!” Basically, this
translates as “Smile for the tourist swine!” French officials
believe this will

(a) attract more Americans to France
(b) inspire tourists to visit more cities

(c) cause a major drop in tourism profits
(d) damage the reputation of Paris

6. (b)
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“Sourire pour les porcs de touristes!” 2t
HUHM ZZAQI07 0j=ele o etHst:
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(@) o 22 0IZ9ISS DYAR BoSY Hetn
(b) BHHAS0| o U2 =AIE Y25 ¥ Jetn
(c) 28 o8 27 Zoj= ratn

() mi2lel B0 FHE YT Aetn

[ai4] DA QIS0| 0|7 HHMES SXHsH st LEO(TE Biziole Z3A Z2S0| M 27E MAS! 0|fU 55
0| S0{710} Bict E0{E= 2 2AS CHAl =0(7] 2l Mxst Hol2z, BiZtolle o B2 0= #a4s |Alstaxt 3
Cl= W& 271 (a)7t S0{7t0F BiCt,
[27] 24]  (b) O %2 ZAPt ofd mf2|E YESIE=S §F =X [2o] 74] ZZAQISH 0| 2
0|t 0|=2l XIS =TES
(c) &YUS =UX| oKX= & £ gl oY 0| E20IF
(d) ofel= 01=) 2SS AO[ollA 0]0] HHO| M2 &2 ME
SO LRIt
Must Know

“Nowhere is the problem greater than in Paris , where negative perceptions of Americans have inspired tourists to skip the City
of Lights. — The problem is greater in Paris than nowhere=2 B0 £ 4 USH, The problem is the greatest in Paris2t= &

ojofo|ct,

2.

[Part 1 &AL
Dear Parents of Browning University Students,

Today, economic uncertainty presents the greatest
challenge facing the University. | am writing to inform you
about a number of steps that we are taking to improve
financial aid at Browning during this difficult time. Families

AB4  Answer key

Browning Cis} siEa

o5 FN| 2L ofsto] A

o{242 Al7[0f Browning CHsto| 1Y RIS
t



are understandably concerned about the economy’s impact
on their ability to pay for their children’s education.

, the University will be offering more assistance.
One recent measure extends financial aid to more
students. Our plan is to change the student loan system to
benefit low-income or otherwise struggling families. The
University is committed to helping students and families
pay for their education.

Sincerely,
Howard F. Clark, President

(a) Instead
(b) In addition
(c) As a result
(d) Likewise

[aH&] N

[27] 24] () &t

=
ot Ligs HEd [EH MM, similarly@t 22 2|oict,

3. [Part2 LI ¥xl]

Fallingwater is a house constructed outside of Pittsburgh by
famous American architect Frank Lloyd Wright. The house is
widely considered to be one of Wright's greatest
achievements, and follows ®@his famous rule that “form
follows function.” Wright believed that the ®@function of a
building should determine how it is designed, and that the
aesthetic qualities are of secondary importance. This led to
very modern designs, with an emphasis on symmetry and
harmony. This is apparent in Fallingwater, which had to be
on the side of a rock face overlooking a wooded stream. To
accomplish this, ®Wright used cantilevers, long support
beams made of concrete, to create a house that seems
almost to float in the air above its tranquil surroundings.

Q: Which of the following is correct about Frank Lloyd Wright?

(a) He used natural materials to build Fallingwater.

(b) He took a very practical approach to architecture.

(c) He was ultimately dissatisfied with his work on
Fallingwater.

(d) He emphasized aesthetic qualities over all else.

[HA] SES 0= 7457121 Frank Lloyd Wright2| 74501 thst &t

function® 7|s50| FEHECH LMCH= 0[0F7|0]|22 Wright
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Howard F. Clark 22!

(22l 74]  ZA 7| iy chste| =X
S2XE 2 AEf RIet

SHZEZ XA

Falingwater= 0= |R& 7157t Frank Lloyd Wright
7t D=t 2=l X[2 Zolct o] &2 Wrightel 7+& ¢
EHBJ YA = BILIZ Dol 6AXIT flod, v AR |5
MECy = 19| 7Alg maL, Wright= 129 “‘”/\
0\ 7AE0| H{EA M7A=|0{0F Sh=XIE ZEE 4 U0{C

W:
ETRRCING

o, DRl 2zl SRde 1 tfsolat YUUCE 0

up z3fol BES & 0iR ACHE HA=Z 0JoFLCE 0

H2 +50] 277 HES He{tiEs Y Zoof x0T

Falingwaters Sall 3| = 4 UACH 015 dF6H7] ¢

sl Wright= Hst22 ¢ %@9\ 330 © A=z =2 H

2 plet oo ez, & Z32|E2 BrSolxl 2 Y

SHE AZ3Ch

Q: T2 & Frank Lloyd Wrightoil thst 8oz UX|5H=
A7

(a) 2= Fallingwaters R=0l A2t M2E ALZIACE

(b) 2= =0l ANA D AS=RI IS FCh

(c) 2= 19| 2ZQ! Fallingwatertf Z&s| AT

(d) = _?_C/)\*(EQ |:||X10| 7F7F° 7%X H[L

} Fallingwater2t= 74201 tigh 20IC} form follows
0|&el ZHECH= 7|sXl EHE o S5 ofZich= A
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[27] 24]  (a) 23A M=Ql ZIRIEE Ar8el HEILC [Ze] 74]  Frank Lloyd Wright2| 7%
(c) U2=X| 42 WEolct 7AZ0f st &
(d) OIXQlI =M Hit= JisXel SHE ARt Fallingwater 71&

4. [Part2 z2]

Good gardeners know how important it is to keep a 2ot MYAK= OfZlo] EHIE FHlei== 20| HoiLt B2
A| LLICEL EHIZ ABE= M7= B 2
Hek20| Euct o|Mi= CompCyclell SAC2 EHIZ
= 0| O H¥FLCE, CompCycle @ =

EHE U7 U= E2tAE Sof MEY 4 | shsd

of valuable compost in a durable plastic bin. The best part Ch 7t Hodt 222 CompCycled| o 0|A9 HAZS

compost pile in their yards. The waste materials that make

ro ol o

up compost provide invaluable nutrients when applied to
your soil. Now, composting is made even easier with

P

CompCycle. CompCycle allows you to @store weeks’ worth

ol

is that CompCycle actually mixes the compost for you, with 20| AMZ ElH|Z A0| ZCHe AYLCH 0= SAo=
no more mess! ©Simply turn the round storage container = N ZHOHE =2|7(8 ostH @7 Qo=
constantly on its axis, and CompCycle tosses and mixes CompCycle0] =50 AoiELICE X2 CompCycleS At
your compost — “no electricity necessary! Try the ol BEA|D of2{29] FRo| Sdalixl= A2 2Ll

CompCycle today, and watch your garden thrive!

Q: What can be inferred from the advertisement?

Q

o2 & oM F2¢
(a) It usually takes a few weeks to make compost. a) EH|Z fteEr YetMoz o 7t 2t
\

(

(b) CompCycle automatically covers soil with compost. (b) CompCycle2 ElH
(
(

(c) Manual labor is needed to use CompCycle. c) CompCycleS AlEstiH A ==0| Lot
(d) Most gardeners use electricity to make compost. d) iR A= EHIS e VIS ARZetth
[3HA] EHIE 0D M= MES Z1stn ATt Simply turn the round storage container constantly on its axisE 22 X
7] Sl0] HE SHCE SeiM EHIE CHECH LIRRICE 012 Sl o= F= AXARl 50| Ees ¢ 4 AUSBE (o)
7t &2 FE0ICt,
[£7] 24] (@) 2 = 79| EHIE XMFetth= XOIX| Br=sd| [Zo 74]  EH| MM 2 HE7| 1
H It HeEls A ofLich EH|e] Hed
(b) ASEXl 22 Lh0lCh M2l HE A0
(d) T HMZ0| TV ME8st=Xl= F2¢ 4 it

5. [Pat2 8]

Driving in heavy traffic can be a frustrating and unpleasant WE MB0| Alst Ro|M 2FS Gt= AS xxstn =35
experience. Thankfully, new technology may be on the way  Z&lY 4 Qlct 1= MER 7|&0| 2Tz Qlst A7
to help ease the stress of driving. One plan, put forward by AE HOE £ QCh F=o| ¢Rlo] ekt Bt A=E2 Ze
a group of researchers in England, involves the use of et A= 7I2S0ll 225t ZX7IE AM8at= Aolch 27|
sensors implanted in lamp posts along roads. The sensors = uS MNES ZAGkD, Al HESH 2TXE, uE MS
could be used to monitor traffic conditions and provide real- off CHEH MAIZE HEE MEsh=0l AFRE 4 QlCh ZH2|ZL|o}
time information on accidents, reckless drivers, and traffic OllM L2 CHE2 A=l JUZEM LR USE AIZs 21
jams. Another plan, out of California, involves tracking XSS F&oh= Aolch 22 Ol= AR Fellol tiet RS
drivers using signals from their cell phones. Of course, this £8 Yozict

raises some concerns about people’s privacy.

Q: What is likely to be discussed next? Q: HiZ Fof 2 £ U= UHB2Z U2 A2

(a) How to deal with road rage caused by heavy traffic (a) u& &2z 2ot -5 o= ChRoF Sh=7t

(b) Other types of real-time technology already in use (o) ol0] AFZEC! THE BFQ HARt 7I1&

(c) New technology for decreasing traffic accidents (c) & MIE £0l= M2R2 7Is

(d) Whether these technologies respect people’s rights (d) Ol 7|&=0| AIH=29| HelE &EFch=7

ABE  Answer key



6.

[ahAd] Xaol7kel =AIQ! Port Royalol X|Ele& QIsh JI2itUCh= LIE0ICE OFSEE|AE JI2It2 EAlZts FolM= o 222
(a)2t HZE = UKL A 2 2 (), (d)= 25 Port Royalofl tiet LiES CHR1 B2 20 £ 4 gict
[£7] 24]  (a) Port RoyalO| 7t2I%t2 =AIZt EIICk= LhEolTt, [Zel 4] 17M7] Port Royal X|Z
(c) 7t2t 871 ™ el &0l thiet Lol 7tetete =AHE
(d) dofl U F=22| HS J|thst= ol nnsxEel geA27t &
TEPS QUIZ ) vvreeeeseeeeseeese e p.95
1. 1 =M= 25 AMBS 7| QI M =25 A3t
(@) Bae{=alct (o) 2ratAlZ|CH (c) Lelck (d) &It
(st 4]
M2E =25 7ds s MBS ZuAF 5 H0I22 alleviate?t 7He MAHsICE alleviate= AT 874 (HMS) &rstA7|Ch Sa2ic
2t = Xo2 F2 Mot
[of=1]
attempt Al=
2. NS AN E Qlof 20|X| o ol ZHup #hed ol Bk
(@) xRl (o) EETH (c) ~A&et (d) o=l
[ati&]

(a1 RS RB0H chelst o2 7Hx] Al
2 Q45| BO[oF BICE M2 7180] UKD 0] 7140] ARISC| AMES Asligt 4 lcts
= ofofl THBt o AAIE LERO] 0lofES 2 4 Ut

[27] 24 (a) 7127t olEE B0I92 SXixj0l Bl ZFOIA HofLt

LHEOIC.

(b) 0lo] A4S LHZO|CH
(0) 0l 22 @& At} OFd BE HZ0f ChEt LiBolck,

52 mjof]

[Part 3 =2|

On June 7, 1692, a devastating earthquake occurred in the
Jamaican town of Port Royal. (a) The earthquake was so

severe that two-thirds of the city actually crumbled into the
ocean, making Port Royal one of just a few “sunken cities”

S0| = QAct= Ugolct. Fof

in the world. (b) However, the lost city of Atlantis is perhaps

the most famous sunken city, as it is mentioned in many
ancient texts. (c) The settlement lay on the southeastern
coast of the island, and is famous for being a base of
operations for many groups of pirates in the 17th century.
(d) As a sunken city, Port Royal is of great interest to

archaeologists, in view of all the wrecked ships and ancient

treasures awaiting discovery in its waters.

[o13]
practicality &84

H8S FEots 2HMoI2Z, DXL 22

gez 20| 2UB=, Fof

0o
2
A

16928 6”0 7Y, muAQl X|Zlo| Atdo|7tel ot Port
Royalof| Al Z-43HCt (a) XX UL ZHahA 029l 32
9| 27t AIMZ dictol &Zom, AlAof Lot o Ei= Ttateke
SA[ 7H2H| StTE =IUCE (b) T2iLt o =A| ofSE
E|AT} S EA| 3 Ofote JHE REE |H\ Ol= Ht2 1
of 2ol ol eigE7| oIk (c) ol EHE% sfictol
HEX|7F UM, 013T2 17417 B2 3l EIE-I Aps| =
HRIZ RYsICh (d) HoMTt nf RES0] S401M LA
7|12 7|cte|d Qe UE, 712tei2 =AIR! Port Fioyalo fnin]
[ez]

SIARS0lA &Fe S0(7A2(C

Ao
(=5
o

=
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5§ Parenthesis and Apposition

MiniTEPS  1.(b) 2. 3.(b) 4.(c)

1.() 2.(d 3.

5. (b)

6. (c)

Mini TEPS OO OO OSSO p.98

1. [Part1 chel o]

In Lima, rural villagers moving into the city usually find

themselves in the hills that surround the city, where land is
cheapest. This does come with some risks, since the area

is known for violent landslides that carry mud, houses, and
anything else in their path down the steep hills whenever a
heavy rain falls. However, Lima’s government has found a

novel solution to the problem. Poor settlers in the hills are

granted ownership of the land they occupy after a period of
time, if they agree to plant trees along the hillsides. In turn,
the trees strengthen the soil and greatly reduce the number
of destructive landslides each year. The new plan

(a) helps decrease influx of rural villagers
(b) both helps the poor and protects the city

(c) preserves the environment and prevents landslides

(d) satisfies both rural villagers and city dwellers

(3] 2(0p FEI} HITA} BT KI0IA LofLts Aje
Aehg A= S8 o, & 1 YS HIRE0| ARS
017}0f S22 ()7 7 Asic

(27 24 (a) SBR 22 UBolTt

7: =] [=]3

2. [Partl H&AM

SAlof siiE3ch= LHEolT), BlZE0|
H

C= gezM ZHE siZIUC giZiol

200N ZAIZ OABHE AR AIRSS UNoR TS
SeD U 10 v, OFRS Fo| 7K Mk, o7
0f2t9) 9izio] m2d), Bt B0l L aiolct tmfE elsig
£0{ Uei2Bil 1 20| s DS Y, 02 =S ASS
BISHs S4B ANEH ofctctn eixf QU ah2olc 1
2Lt 2ol L 2AIS sEE JILs shZae Sopct, of
S0 AR JHoASt HESISS Aol LIPS A= 20| Soig
BS U TRI0| Xt § HRHD U HO ARAS W
), ZWHoR USE EUS HEBM BT ofid 1iuxel
MM 2 4B 2A ZAAZIC O ME2 AL
(@) 5& 217 RY 218 BoIECH

(b) 7Hct3t AIRIES S0 =AIB B3t

() 232 BE5HD MNEIS wrlstct

() A AZST SN HFAIES 2F BIEAIZICH

[Zo] 741  2|of MAEet T 512
+

Byron is one of the most respected and influential poets from
the Romantic movement of the 18th and 19th centuries. His
works include such beloved poems as “She Walks in Beauty”

and the epic satire Don Juan.

, Byron was just as

famous for his controversial life as he was for his poetry. As a

young man, Byron was known for his countless forbidden

affairs with women all over England. One of these
relationships resulted in criminal charges, causing him to flee

his home country of England before he succeeded as a poet.

*As a result, one of England’s greatest native poets

composed his best work while living in foreign countries like

Greece and Italy.

ORI 18MI7IeF 19MI7] JRiF0| 2T 7te =4
grom ek Q= ARl F B Holok, 2o Rl 2
U= OISE 20 @ SXE MA| (E Fhat 22
22| A 2= AIS0] U , Ho[E= 2
Of ANRFS0|Lt =227t & ez REIUCL FH Al
ZH Hlo|E2 = Tl ofdsat +300| Be 252 A
XE Az REUCL o A & oiiz = A o
2 31 ARIeZ H3s| & 19 ng =M =Y
XoF Zict O Znt =9l foifet ARl 7k siel 2
= 219 2EE aelALt gzl 22 Q=0 T
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(a) However (@) 2Lt
(b) Additionally (b) oloil 3|
(c) In particular (c) &3l

(d) Therefore (d) hakA

[ai&] HOEEO| AT F= AIQIQ1 HO[219] Al 2Rt AME ]| thSt LHZolCt, BI7te] oF R0 M= one of the most
20| Lt} UX|P HEE0|AE his controversial life0i Chst 2&EQ1 LY
oZ

ATS LiEH= HoweverZt BIZHoll 7He MESHCH

_|_>1 o
re
=

respected and influential poets2ts 24
80| ZHECE 0] F L82 AtE 2ol

=

0
O

M=

[27] 24] (o) LHES F7HE of 2o [Ze 78] Hio|2te] A2t Q1
(©) Uigol B d¥S & uf ot stolel ¥A
(d) & UiEel ZuE olof7[& o 22k, Hfo|2o] =FFet ArdE

Must Know

“As a result, one of England’s greatest native poets composed his best work while (he was) living in foreign countries like
Greece and ltaly. — FH9| F0{ Z4HO| F0{7t Zg Z0l Z&EEQ "F0f + beSAIE M2ret 4 ot

3. [Part2 Wig Yxl]

At its peak, the Mongol Empire included the largest
unbroken land area of any empire in history. At the head of
the empire was Genghis Khan, whose armies ruthlessly
conguered ©lands stretching from the East Sea to the
Danube River in Europe. Though ®Genghis Khan and his
army were very good at military conquest, they proved to

710l HARY ol MIEECtE 7H S 0lof
FEE AR M=o 22 FII=Zeg, It 0ln=

= OSsiolM REel ChrE 2ol 0[2= T2 FXH|5H

™ o
fl
>
Hl
rlo

0% L md MY
[0 ol
s

iul
[
H =

k=2
HACt 2aEez H=2 0= o2 o M7= XX &

be less effective in maintaining the empire. As a result, it OF 29|7| A|ARICH SEE 7H0] M2OoZ XIZ20| o2 Y&
began to @break apart less than a century after its creation. 2 oM 2t YE= M2 EXIFCE ZA=0]| OLHZO|

Fighting among the royal family resulted in the separation oL
of the empire into various territories, each of which ruled

itself. Ultimately, ®it was internal division that caused the

demise of the Mongol Empire.

Q: Which of the following is correct according to the Q: CI2 & 29 W8 Yxlete A=2?

passage? (a) 71272 R A XI=X0|XF =Bt HX|ZHACE
(a) Genghis Khan was an effective military leader and an (b) =2l Li20| 2= 1L M=S BYAIRC

expert politician. (c) 31 X=2 OtAloF CHER N 55 MREE =33t
(b) Conflict within the empire eventually ruined the Mongol (d) A= S5 =2 & M7| 8foll 7HK| R3UCt

Empire.

(c) The Mongol Empire contained most of Asia and the
entire Middle East.
(d) Despite its military power, the empire lasted only two

centuries.
[5H4] S M=ol S0l tigt Li&olch 2 okX[et BE22 2 internal division, & WE0| 81 H=2s B@UAZCHE LHSO| Lt
Q02 (b 2 7|0t
[27] BM]  (q) 22 QES & tAg[X] RFeoz FI|=ZH0| [Zel 74] 3= Hd=3e 5
Folet "RVt g = gl At 7HY Zoiet M=
(c) OtAlOtolAl RO 0|2= XG9S MFIUCH FAIGIR| Rt FUX|7| AR
(d) 8t Ml71= XILEX| QL0 2= AL Heez g

A70 Answer key



4. [Part2 Mg ARt 3]

Every year in the United States, homeowners throw out 64 0|20l M= oHE =& ARXIS0| 67 4840t 20| D|AtE &
million gallons of unused interior and exterior paint. In fact, it  Uf 2 A28 HOIES H2ICH A 2HAS 26iME HalX|
is better for the environment if they do not. ©Certain paints %= Ho| o L 5 |4 HRIEE= 2R R= =22
that have an oil base are considered hazardous {FE=d, Ol= 270| dXlole ot 22 Si2R =4 &
substances, as they contain a number of harmful toxins — 2 0| 2ot 7| 20|t Eas| Hels dE22 il
sometimes even lead. Simply throwing them out could one = o222 siet 220| EA0[Lf =0 AMHEE Hot

7t Al £
day result in harmful chemicals leaking into the soil or water ~ 7t42 4 QICh CIHHS|Z O] A2 HIQEE H2|X| LOtE =
supply. Fortunately, the unused paint does not have to be ct,

thrown away. There are special facilities that can dispose of St Al %Ol %Et,

this unused paint in a safe and proper manner.

Q: According to the passage, why is it harmful to throw Q: 02 & 0] A8 HRIEE Hal= 0| 2 0lf="
away unused paint? (8) 7198 TRIEE 20| & =7| 2o/}

(a) Because household paint easily dissolves in water. (b) HRIE= QE|2|0i2 MIjof= =40] 7| HZ0lCt,

(b) Because paint is too toxic to use on interiors. (c) ¥ mRIE0 =& =20| AU7| H20|ch

(c) Because some paints contain poisonous materials. (d) &% mRIEo MEEY 4~ U= 7IS0] U7| WZ0lc,

(d) Because some paints contain reusable oil.

[aHAd] HRIES UiCH Hels 2 &4 sliXi/ Zote UE0Ich HRIEES HRg uf 2ol of sHR2XIE = 2xlo[22, ol
0I5t 2& 210{0} StCh Certain paints that ~ even lead2t Simply throwing them ~ water supplyS £ HQIEQ|
E40| EURY I fAAS doz 4 it ooz " (c)7t ot

[27] 2M]  (a) AR 22 U0 [2o] #4] HYUEQ| KM
(o) AtSE HIRIET} Rafsitts LIE2 28 4 Qltt LiChHel= TIRIET Ba
(d) 7152 Al At8al=Xl= o 2 glct HRIE= 2o shE 7IE 4

-
oo 0o

5. [Pat2 28]

®Young people experience a great deal of pressure to OFH20|S2 Jhstt o HHeRE 9IRS Mo} Bith=

improve their appearance in any way possible. Today, 2 YHIZES ZelEitt 25d JAE2 HEssS HIR &

®doctors offer a number of different surgeries that can alter 20/Lt AN QRE HITLE o4 AsS HdeiEC) 18

the appearance of the face or body, including plastic Lt Ol s22 &5 180| W21 Aol 7l 2

surgery. However, these surgeries are often painful and can  Fsk2 0|2 £ ICh 0FR2| 25| Yeie FH20|S2 0[2!

have lasting negative effects on the body. Young people are ~ ££g mlsh= 20| 71% ZCt 71& ZMO| e xpAl9l Q|

best advised to avoid any such surgery, no matter how 2E H0IS0 XIS RIHAEA 07|12 BE Hif= AolCh

strongly they feel. The best course of action is to learn to

accept your appearance and be proud of who you are.

Q: What can be inferred from the passage? Q: 22 U80M FEE & 2= w27

(a) Young people are not supposed to care about their (@) 20152 AHISS| 20l A MAl= oF Fict
appearance. (b) H20|E2 dada= G

(b) Young people may be tempted to have plastic surgery. (c) #&2 2= NS 2Bt OFXI2f ~E0] =[0f0F Bttt

(c) Surgery should be the last resort to improve one’s (d) SAEE H20ISIA &= e 73BT

appearance.
(d) Doctors are reluctant to give young people surgery.

=] HE2 50| dgeasS Y thhl X9l 2RE Q= A2 BHolS0|1 XA o470f sitte &&g g2 20|t
Young people experience ~ in any way possible2£E A20|50| 2|20f| st Yuts B=Ct= AE & 2 A2,
doctors offer a number of different surgeries22E 0[2{5t H20ISS ol 2AAS0| a2 MISTe AMds Y
2 Tt 0|2 ZletH FH20|50] Hye£9 RS e 4 tts W82 FE2E ez g2 (b)olct
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[£7] 24]  (q) RIZE 7F = = 2t
(c) +&2 7hsolt msketn siHA HEHK| pfes NES 2 T
2, 0l 2XRE FE0/tt 2o 25 &1t
(d) 2AIE2 of2f 7HA| dg+&S MSSHLAt eitt, AAR0| CHE BHE Zx

B. [Part3 =a|x 52 mjel]

The Global Peace Index is a yearly report by experts from MAESIK 2= MA Z20A 201 METHS0| X|TAIA 7t
all over the world that attempts to identify the safest and & QHNIStALE THE YISt Li2tE Fotr| flal ftee 7k
most dangerous places on Earth. (a) Countries are ranked HoMo|ct (a) 27HE2 o2 IS0 t2t It Halze
in order from most peaceful to least peaceful, according to Liztof A JHY EelEX| 42 Lzt &A= &7t oAZICH
a number of factors. (b) The panel that decides the (b) =9IE 2dol= MARKEE X XA, QI XA
rankings takes into account things like war, international OhY N Z2y "HXlo] = Z2 AIEg TSIt (o) 012
relations, human rights, political stability, and the level of Sk Ligtel oMNE EXot= Ue TS Y 4= Qlu of
violent crime. (c) This may or may not be a reliable 2 & UCE (d) 2009 7HE =2 XIHE 7R, & THE ¢
measure of safety in a given country. (d) In 2009, the S5t AlEfoll Q= Lizke XI&EoZ ZAF 20| UojLt= 0]
country with the highest index - and thus the most 23 RCt

dangerous conditions - was Irag, due to the continued
military conflict there.

[3HAd] MAZSEK|20] chall Mske 20ICh & 2X0iAl The Global Peace Index7} topic2g2 & 4= ULt LIHX| 2 25
MAESEX|0f ChEt 2Rl MHE 511 UOLL ()= MAIESIX|a XEXol TSt 7Ex| TErg Uig|o lesz 29| HMAIA

[E7] 24]  (a) MAESKIS Felo|ct [Zo] 74l MAgtK|e
(b) X+-E tEShE 7IES Sgstn Utk MIARE SR ~2f Fol
(d) ol2t=2 MAZIX|HE oAz S Tt MIAFE SR -2 71&

of2t=of of

1. 1 8=xE2 18 1Hig ol 0127 eitt SiHat= o AlezE ofg ot Ut
() T1g71 (b) THY, Af (0 24 (d) 22
[al&
o Alg 2 T SEAEMAE AFES 0lx o2 Y, BY, AL 5SS 2olshs demise”t glZHoll J1E MASICH
(o121

2. H4E2 gHglol CXRIE 21 Mo 1 |USS Y= XS it
(@) g A= b) e » U= (©) woliet (d) 7edst=
[a&]

o

CIXfQlofl cht 28X QlAlg X1 Qles2 BiZil= RS 7| “MOISt = 2lnjo] ©oi7t £01710F Bt reluctant= 7{2ist=, XI5t

= o H2AZ, S90{Z= hesitant, diffident 50| QUCH

3. 2| a70lg2 o2 AF0[E2t] HEO| o] leoz & QEsict
(@) SXIE (o) 5i7tE (c) AYE, 50t (d) Zali=
[5tAd]

TE0| glojor 2 Astez, A70[H0ilME TE0| SXI=/0] ACtE AHels FEE 4~ AT T2tM B2 forbiddeno| =, S2/0i2=

=

banned, contraband, proscribed 50| QULCt,
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Review Test

Answerkey  1.(b) 2.(b) 3.(c) 4(d) 5(®) 6@ 7.(0) 8.() 9.() 10.(b)
11.(d) 12.(b) 13.(b) 14.(a) 15.(c) 16.(c) 17.(b) 18.(d) 19.(b) 20.(c)
21.(c) 22.(b) 23.(b) 24.(c) 25.(a) 26.(c) 27.(d) 28.(b) 29.(b) 30.(c)
31.(d) 32.(c) 33.(d) 34.(b) 35() 36.(c) 37.(d) 38.(d 39.(c) 40.(a)

1. [chel oef)
Our galaxy is one of countless galaxies in the universe, and 22| 25te RF9 P40t 25t & SHH0IH, O F HREE
the large majority of them . There are 2 . 22| Sotet 22 LMY 25t
spiral galaxies like our own, and most of the stars in this type 7F U=, ol 2ot A= H2 thEE aoj2t= £
are found in pinwheel-like structures called spiral arms that SHOMRE | L2 UM T2 Sals bigiih 2%
extend from a bulging center called the nucleus. A common o ARO|N LUAEC} 0] 250N HEE =5t e =
variation of this type of galaxy is the irregular bar-shaped A SR LMY 2617t QAT 02§ LMY 26l=
spiral galaxy. These spiral galaxies are deformed because of ZX0| U= 2519 LR £= Qo Z3H E4F 120
an imbalance of gravity from within or from a neighboring 20| HdE Ao|H, o7joll= S 7t2EY S2= JtA
galaxy, and they have a “bar” of gas and dust running through ot HX|Z O|R0{ZI ‘ZHeh 7t U=, 01222 Ho| ZAUGI0|
the nucleus, where stars continually form. Finally, there is the MAElE Ro|ct opx|afeoz Er% 2571 Uck o] HiEo|
elliptical galaxy. Stars are evenly distributed in these M EHe ASEH| BrElo] Qom, R0 B Ho| A
arrangements, and all star formation has ceased in them. Me gzl olct
(a) have completed their star formation (@) B Y8= 2g3Uct
(b) fall into three distinct categories (o) M 7tx|e] S5t MF2 LEAC
(c) are deformed by outside gravitational forces (o) 2F o= HYH
(d) are waiting to be discovered (d) ZA=ZIE 7Ick2ln At
[3HA] Z0l Zxhsts Ml 7EX| |89l 25101 thst 20ICt, There are spiral galaxies like our own2 LA 238t A common
= t

!_

o

variation of ~ spiral galaxy= 7! Lt 238} Finally there is the elliptical galaxy= EMY 2615 2t2 LIEtLE 0720]
C}, FinallyS Saf 27t X2 AJNE|D UTHe AMEE & 4 Aoz 2iZtol= Al 7tX] - 257t EXHich= U
29| (0)7t £0{7t0F it

[27] 2M]  (a) & 40| =X = 25l= Ut [Zol 74l M 7kx| 2ot
(c) 2% ol sl Hxl= 2ok= =72 L Lt 25te 3
235tolct By L 2ot £
(d) =stel wzoll et g2 ik EtE 25tel §
[o1%l] spiral galaxy Lt 25t pinwheel Xt bulging 258t nucleus 3, 54 deformed Y127l HAE

imbalance 7% gravity 2 elliptical galaxy Et® 25} arrangement BiE cease ZCh

2. [chel met]
Are you thinking of adding on to your home? Is part of your ZE} HA XIS MIKSIT AL FEfof mRE 20|
property deteriorating and in need of serious repair? If so, Q7ILE AlZIst 2|2 WeR sH= 20| YSL7F? JHCHH
then you should call Daryl, Hank, and Jim’s Construction Daryl, Hank, and Jim’s Construction and Renovation&
and Renovation. We have been for the HEMAR, XNE= X[ 208 S0 BE XFSH 7tHo=R
past 20 years, all at low prices. If you can find a lower . O 70| W2 o| QUCHH ZAf
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price, we will knock an extra 10 percent off the project. \We HIZ0IA 10 THMEE F7t &Rl =E2|A&LCh Nel= EX

do everything — land-surveying, plumbing, insulation, =2k izt BAH 7 27| & DE SAE AEELCH U
carpets. You name it, we can handle it. So do not put off 2 SIAIH 25 si=d 4 UBLICL O 0l O|FX| OtAz
those projects anymore, and do not leave them in the OLOERO{Of|A| &7[X|= DHYNR. 25 HIZ 555-56122 Tst
hands of amateurs. Give us a call today, at 555-5612, for a SN 22 AXS oM. o220 s FlS ZALsH
free estimate. We are ready to build you the perfect home! =2 4|7t 2lo] QBLicH

(a) selling all kinds of materials for construction (

(b) working on numerous construction projects (

(c) hiring dependable contractors for projects (c
(

A

) SAtoll ZE8ret AUXES nEatiRt&LHTt
(d) decorating both the interiors and exteriors of homes d) & LHEQ} QRS nE AAGHRLSLICH
[sh&] TEAIZ 22 sk 2lArel ZnRolct, Bizto] =EtE 2Hol= I X7E X 201 S9f ol Yol Soi7ior et &
= UCL We do everything ~ carpets@t 0K} 2RC2LEH & AlZ I H4p UHE US Siths A2 Y+ ATt
20H9] s WMIRT A8z XAl E7] SolM Bizio] 7HE olgele A2 SE2 SAE aiRiCh= (b)oIth
[E27] 24] () XE Eofof chet g2 Gich [Zel 74d] U4 3AEA B
c) AUXIE n&3k= 40| ofL2t 25 AlSeich 204 &
(d) H=29 UR H Q20| SAE dith= A2 = H2 7t
28 2 UoLf, FAlol| et L2 8l 7tse SAL EF I
[of=l] deteriorate (2/0]) &3t=Ct  construction 714  renovation &  knock off EQI5iCt
land-surveying EX| & plumbing Hi& insulation X estimate 74 dependable 2S 25t
3. [chel mief]
Basically, you can divide the people in the United States 7|2Xo2 of2{22 0|=22Ug D|Z0l|lM Efoft 0|2 AlRlmt
into two groups: the citizens who were born in this country LEZS0l| 0|21 2 =20l & Z8=2 UEs 4 AsLCHL XMe 0
and foreigners who immigrated here at some point. | can Roil 22 Al ofote HOIE SHUUAS F B 250 &8t
understand that a number of individuals in the latter group, AZE0| 02 Qlsf LS nAMS 6t 0= 0l0] FOHE
people who perhaps knew no English when they arrived, ORRHE 20 UJ=X] 22|10 AF| HiL7] AIR=X2t 22
would have trouble with the language, depending on 0l mat ci2fte Mg & Y1 UELSL 2Lt 1 /9
factors like how much they already knew and when they ARSI P& HEHZ|7F QIS7IR? 013 U2 sl AlX|
began learning the language and such. But what excuse £ X9 HM7F G A S 250 Sots 22 AIE2
does everyone else here have? | hate to say this, but | ARl BZ01E & B2= A 2L 028 AEE 5 &
have come across many people in the first group who H %2 0|50 = 2 0 K42

seem to have a poor command of their own mother tongue. HELI|EE
It is regrettable that a growing number of those people

(a) do not know how to communicate with foreigners

(
(b) do not even try to learn foreign languages (b) A=01E B2 4 iéét |= Sd=Ct
(c) are not able to speak English properly (c) BOIE Hich= Zreh <~ |ict
(d) keep coming from foreign countries (d) 21=0ilA A| @1 Tt
[ah&d] 0[=0l A EHOI A[RIDt 0|2 0|53t AJRISC 210] A 52 H|walHA, 0=0iM Efol Al2le] Hot AR S0l
thall HlEsh= S0ICk ElZtoll= 01S0f thet SEACI szt S0i7t0f Sith= AleE FF0ll F0{0F Sk many people ~
own mother tongueS ¥, 2¢20l= 0|50| 20Xt & 5HX| RetCin dZistks WS & 4 UCE W2tM Biztol 7
HEe g2 (c)7h Eok
[27] 24] (@) & 289 AMAE 5H2 AZ=X| LAUATH [Zo] #4] nI=2lel Hof A8 53
(b) =017} otz 2=0{ ZH|0|c 0= ARl 25&: 0[=ollA Efot ARl OJ2IX}
(d) OI=0IlM EROIL AJ2IS0] X B 280|122 o[2Ixtel Hoi| FA
Ol= £ ARHolck, AlRlSel Hof FAR Higt

A74  Answer key
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latter £Xt0| LI&9] excuse #3 come across PHLICH
Surd2

regrettable 7HEtE!,

Sepracor Pharmaceuticals has submitted an application to the
Canadian government for approval of Stedesa, a drug designed
to reduce the frequency of partial-onset seizures. Under Health
Canada’s Food and Drugs Act and Regulations, the government
has 45 days in which to screen the drug to determine whether it
is of high enough quality to be considered for selling to the public
at large. Treatment of partial-onset seizures, the most common
type of epilepsy, presents a constant challenge — up to 58
percent of patients with this epilepsy cannot control their
seizures with anti-epileptic drugs. However, there is new cause

for optimism. “Our latest drug

,” said the

president of Sepracor Pharmaceuticals.

(a) will completely cure epilepsy
(b) is still being considered by the Canadian government

(c) needs to be tested for any possible defects
(d) will be a breakthrough in treating epileptics
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a) 25t ZHalg xI=E Zo|ct
b) FHLICH Mol ofs OtEl= ZE FOo|ct
chelsh ZAt=|ofof SiCt

owever, there is a new cause for optimisms 2™ El7ofl=
o reduce the frequency of partial-onset seizuresoil LI =
! XIEOH E20] Efte LEe

| (d)olct,

at large 'g2| Lgtof

breakthrough 2 2%

epilepsy 7t

ECli=)

anti-epileptic g7H2)

Back in the 1970s, a chimpanzee named Nim Chimpsky took
part in a Columbia University research study called “Project
Nim.” His name was derived from that of Noam Chomsky, the

MIT linguist who argued that language is unique to humans.

Psychologist Herbert Terrace from Columbia University wanted
to disprove Chomsky’s theory and show that immersion in social

situations could have an impact on linguistic development in

more intelligent animals, like primates. To simulate the same

conditions a human child would encounter while learning sign
language (or any language), Terrace brought him to live with a
family in New York City in 1973, not long after the chimp was
born. As the Terrace family took care of Nim, Terrace himself
attempted to determine if
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(a) spoken language is a more effective form of

=d 07t 220 O 2252 OAAE EHOITE
=

(
communication than sign language (o) AHX|= 35 Sofl 2AMAS ot= WHS HiE o UL
(b) chimpanzees could learn how to communicate through (c) AHX|= HE zt7 ke = EAF|9| 0|20] 2UCt
sign language (d) 28 Ue HXle M2 AASSH| el 3t AHE

(c) Noam Chomsky'’s belief that chimpanzees had a ot
language was correct

(d) chimpanzees in study groups use sign language to
communicate with one another

[sH] X7t GAAE £HE AU £ QUCh= A2 SHol7| 2I8H Aol thet Ligolch, BlZiol= ots0| 315 Hif= edat
L2 e st 5 & M9 2X0| S0{7i0F &2 Y 4 UCH immersion in social ~ like primatesE 2H
X, & SYF 22 XsH 20| 315 HIS 4 UA=K|Q 7 U 240|122 G2 (0)7t ot

[27] 2M]  (a) DFEAI 42 Ligo|Ct [Zo] #4]  ZWX| AHof M
(€) = FA7|= Qo= A7Hoto] Jojztn 3esz SEl AMo|Ct D2AE i
(d) A2 otz s HHnt vl &g, & 217l JFolM 0IF D2MEO =X

ofRict A oE A

[o12l] derive ~0llM S2i5iCH  linguist 21018t  disprove #53ICt  immersion ¢!  linguistic 21019]

primate @Y7 simulate 22| &S STt sign language 43t
B. [thel otey)

Some recent studies suggest that infants have a host of
previously unexpected abilities, including abilities such as
distinguishing languages through reading lips; discerning among
different monkey faces, which adult humans cannot distinguish;
and recognizing rhythms. One interesting aspect of these studies
is that they raise questions about infant nervous systems,
especially in how this relates to intelligence. Instead of the “blank
slate” brain that has been proposed, infants may have a
promiscuously connected nervous system that responds to so
many stimuli and is challenged to eliminate unnecessary
information. While so much connectivity in the infant brain and
nervous system does not serve the argument for “innate”
intelligence, it might definitively prove that

(a) external stimuli are crucial to developing intelligence early

(b) the development of linguistic abilities early on is crucial to
intelligence

(c) too many stimuli might cause harm to an infant’s nervous
system

(d) infants have innate knowledge about how language works

[aH4] F0te| X1t gtst sHof st LhEoICH BIZHoll= & otel 1y
a promiscuously connected ~ unnecessary information2 2 £ ]
2 Y U L AZY0| ZECH X=0f & BISeiths AMY
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o] HEY0| soluZlels MeE FEY 4 A2, HiZho| HEet
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7.

[27] 24] (o) 202t X529 Ble A =X] LUCL (2o 74] Rot9 s
(c) XF=0| otz AlZAOf DXl 28N FEe LIQX| = CHUSH 520] A2
(d) 2101 S22 010[50] 7l sHo| U0 =7tstH, 0] 2< Xlsate| 2
2T 01t RS9 EATE ord M2t X9l EAo|ct @A Ed
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(cHel mtef]

At Justine’s, we offer a wide range of wedding flowers, designs,  X3| Justine0ilAi= ZSAl 2 CXIQI ZZ0| AR 2
floral arrangements, bridal bouquets, centerpieces, corsages, 7 AAS FaAREE Zof Ao]3 MA 59| Ciost

stimulus = (pl. stimuli)  connectivity %24  innate Ef17

nosegays, cake decorations and more. Our professional

MHIAE HMSEUCE XMElel T2 AE 47t oo
|

wedding consultants and wedding designers carefully arrange HE2 MEE 7120 71& AlME 23t 9 2L FAlo
the freshest flowers and foliage, creating only the most 2 of2|Rel Y 42 JHE oS R0tetA| FAkH
beautiful and elegant displays for your special day. SEILICE ESF X35l EY Al FOY|0|EQt £ St
Furthermore, our special events coordinators and florists have = 4 JZto| HHES HiEo2 Aol HAIS sl 2
decades of experience and will do everything possible to fulfill %t BE 2FS Soj=2 4 BLLH 0l NI/t ¥
every request for your event. That is because here we ol g2 Z2A FAS el Xl A0l HE2
understand that flowers are essential to creating wedding Zol2tn 27| m2uct of2f20] Joist 2=, o
memories that will last forever. \Whether you are planning a 7| EAl = 0O RlofMQl RIZ SiAL O O HE A=
large wedding, an outdoor ceremony, or an intimate gathering SIEX|, Justine2 Qs & 4
at a private home, Justine’s will use everything at its disposal to U= 2E LS & Zo|H, Est dAlz S0 =2
and make it a spectacular event. ALt
(a) prepare and arrange your reception a)

(b) cover all your decoration needs
(c) set up an ideal venue for the occasion

(d) take care of everything from catering to decoration

[aH&] ct

[27] 24]  (a) ¢8| &tz 7HA19) T2 207} ofLct
(c) HAE HXlok= 20| ofuet FAlS XiZst
(d) 2 AWK MEBotKl= e=dl

[oi3l] bouquet 27| centerpiece H|0|E SYE
foliage & 24| &4l display ™Al florist

When a carpenter ant is infected by a fungus known as
Ophiocordyceps unilateralis, the victim remains alive for a

short time. However, the fungus is in control and

consequently compels the ant to climb down into small
plants on the ground. The ant then climbs out onto the
underside of a low-hanging leaf where it clamps down with
its jaws just before dying, and its body becomes stuck
there for several weeks. Oddly enough, fungus continues

= Justine0| FZ k= 0| FRRUX|7E S0{710F Btch fofl |

corsage Z &4 nosegay ZCtY  consultant AEY

7t

intimate 2125t at one’s disposal OFSHZ  venue &4

2

27io|7t “Ophiocordyceps unilateralis’2 22{%l =4
of ZE=H FAl SCH2 Horlct J2iLt ZZol= JHo|
SHsiA, 1 Z3k XHo| s X2 AZ = 710f HA7HA
o

BRECE 71 S0IE Y9l 0
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diZez 22 JHo|7t =7
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of axolct Hez Xol 55 TFAZIH, JH0je AlXl=E
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to grow inside the corpse and eventually sprouts from the back
of the ant’s head. It then starts raining down spores to the
forest floor to infect other ants passing by and thus continue to
reproduce. It appears that the fungal parasite

AIRSHA KILE7H Iz O FE AR &
HME sizich, o] #&7 7|ME2

AXE Eolct,

(a) makes the ant die in a spot that is to the fungus’ advantage (@) SEolol7 Felet Aol FHo7t =7 Bes
(b) feeds off the leaves and other materials that the ant digests (b) LIZUOILE JHOI7E Aste &~ Q= T2 XSS He
(c) reproduces within the ant’s body and sets up a colony of its (c) 7Hol = oM HAlSID SX|5H Q| ARIXIE MP=
replicates (d) ZHOIZt X|SHoll ZXIE MER of AHS=
(d) perishes once the ant deposits its spores on the ground
[ah4d] YHOIE dEAA EES BEAF b= 3Zolof thet LhEolct, HizZtoll= 20| THXeZ =2t 7ol EX0| &
OF Bt 7HO| Zt7rolof U= YoM oo, X|L7k= JHojollA| ZXIE ECHA| HERICh= & 74X Mo 2 D|R0E

[27] 24]  (b) HFEX| L2 LEo|ct
(c) HAIBH= A2 ARMOILt 70| & ool EHOoIUX = =Lt
(d) 707t ZXHE HEZo R O 2Ys| asst Eo
[o1&]] carpenter ant &7i0| fungus o, 30| compel ZR3lCt
sprout MELCt HMGICH spore XX} reproduce HAIGHC}
9. [chel mel]
Dear Tony,

| am just writing this to say . | have been
looking for this record everywhere. | have gone to every store
and secondhand record shop | can think of and checked every
possible website, but | had no luck finding it. So, imagine my
surprise when | unwrapped this present and saw it. Trust me, |
listened to it over and over once everyone left the party. It
really made that one of the best birthdays ever, one that will be
really hard to live down. Again, | really appreciate it, Tony.
Hope | can find you something just as special when you get to
be my age. Take care!

Sincerely,
Linda

(a) thanks for your birthday present

(b) thanks for writing me a beautiful song
(c) I was moved by your arranging the party
(d) I enjoyed looking for the record | wanted

[sh&] A M0l Theh ZAH EXjo|ct, BIZIolE BXIE £ 20| S0
A Zon, uYtks 2t20(9] T2 0|F0{=0t o] HX|Q| ZH2

[27] 24]  (b) B2 ATl & A0
=

0[o] Holl Le= HEo[H, A9 gS =

a
¥

il
rir
N

[of3l] secondhand 3112 unwrap &S SCt

A78 Answer key

parasite 7|[M=

f. OIZ 71 & e 2 7H017F SZololA| walet &

(2ol 78] Hojet 580
SEolof HHE dHole A
o

N0 At B SE0[9f B4

clamp down & 17HsICt corpse AlA|
replicate =Xl= perish Ar2FX|CH

or o
g\w
o
>

ponnood o 2 H

kI
tA
nn
:Q
=)
o O

:Q
k=

i

Tl

= . ChAl ot
, Tony. W7t Wi dol7t & of U= 0[Z0]
o

OF & 4 U diz2ll. & Aof!

>

S

am
g
Q‘E
o
plal

< c |

( M 4

(c) WEIS ZHlall & Xofl g 2UTH
(d) L7t EolH Stte = WS &3

(2ol 74l #A

live down %A Z/Ct



10.

11.
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Richard Wright was an early, forceful and eloquent
spokesman for black Americans, writing such powerful
classics as Native Son and Black Boy. Also noteworthy is
that Wright was a major poet. During the last eighteen
months of his life, . This is Japanese
poetry that employs a strict three-line, seventeen-syllable
structure. In this new form of poetry he discovered a new
vision amidst his impending death, finding inspiration and
beauty as well as insight. This style of poetry ultimately
helped him come to terms with nature and the earth, which
in his early years he had viewed as hostile and equated with
suffering and physical hunger. Wright became so excited
about the discovery that he began writing thousands of his
own haiku, choosing his favorite 817 to be published.

(a) he wrote many critiques of Japanese haiku writers
(b) he discovered and became enamored with haiku

(c) he was rebuked by American writers for writing haiku
(d) he created a revolutionary form of poetry

Richard Wright= Z=7[0f= 501 0|=2Q1£2| &lxtn o]
FOIL CHHRI0IMOH, (=8t (521 aH) Zo|
s D =S /O o = Qe A2 Wrightt &2
Alelof@itt= Holch, a= dob otx|ep 18€ S¢ef

L AR2 FAe 33 1758l 7=
£ 71X A2 Ao[ct. o] M22 Aol Az Qlsl, & =5
o /I¥E L7l= hRUoM=E M2 HITMS LHstd, g
1t 0l SEHS EUCE 0] N ARYE F=Ho= = 5t
O Al XFE SEHOR HRREES ZaARQiE, =
70 2= 0l 18 H 22 37N SYAGHH My
2 HIRHEUACE. Wright= 0] 2240 o4 HF 71 LA
Y 48 Hol S101FE A 7ty oisol| E= 8i7s =2

E710l| chet HIES To| Kot
1 0jofl Bi5HA| =Tt
RE 0= 719 HltE AT
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It 50! 2stof 0]z F&H
(c) Ol= 27H=9| BE2 201 LIX| h=Ct Sto|Fof het 2 2 tolFe] gt
(d) St0IFE 7|Z0l UAT =20l Al FAo|ct, Atalo] ool 7 =

[oi3l] forceful ¥ U= eloquent 5H2| employ AIEsICH amidst ~ 5710  impending 28i5t
come to terms with ~2t 3I5oICE  hostile ZTiXQ! equate SSAISICE  enamored O1=E  condemn H[HGHCH

[chel met]

This week’s special open lecture will feature Dr. Lyle
Simmons. The lecture is free and open to the public and is
scheduled to take place on June 6th. The address is 819
West Houston Road, located south of the College’s
basketball stadium and west of the 2nd Street intersection.
Dr. Simmons is a paleontologist who recently specialized in
the discovery, recovery, and preparation of dinosaur bones
in the Bisti Wilderness area of South Farmington. Included
in his presentation will be slides of the Kenton, Oklahoma
prints and tracks. So please attend this lecture and listen to

(a) thrilling stories about Kenton, Oklahoma

(b) his theories about early geological transformations
(c) what one needs to become a paleontologist

(d) his research on dinosaur fossils

H 38 A= Lyle Simmons BIAMEAIN SHAIL
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¥AE sty =+ Z71& 220 2H7L uXt2 M2 Ao

t Houston Road, 819 HXIQLIC Simmons
= South Farmington©| Bisti Wilderness X%
OlM =2 BE o] A, S, FHlof Fofothl TSR
LIC, maEel wWHole 2220t & KentonQ| YA=at
Zoi0|=E mate Ao 2o Zeof| &

(B8 =20 72 At

Ml
I'

M5
S EUpAR,

Zata0t & Kentonof thah @45t 0]0F7|
b) 1o X|IZSH HYol| 245t 19| oA
=Xt E7| Sl 2t A

Section I - Review Test A79



[5H4] DMESXPL ot EY 290l Cfst 2HLR0IC BlIZtol= 2ol o 0| HHRUX=X[7t E0{710F it &
SimmonsEfAtoll thal 278k Dr. Simmons is ~ of South FarmingtonS 2™ Zo|7t o LSQIX| BXIE 4~ QU
o J7HE 35 WE Yristn Secke YS stH, o2 XY KentonOllA LAE X=e £210|=2 2HECHD
z b o

C|

9|

(=] i
9£
2

]
0
I
u

[£7] 24] () B8 7t YAE Rolch M2 olopjofl st [2o] #4] F& EE Z9 32X
g gt 2ot Im & Ja
(b) w9 TBE X|Zsto] otz TgEstolch ZAXE AN
(c) D=3t Kol et Lh8RCh= ZE ol 2 LHE 2Ll
SF LIS0ll =Z0| WA Ut
[of3l] feature ~= ME0[Ct intersection WXtZ paleontologist TMESIAt  specialize MEst6ICH  print X

transformation 3

12. [chel ool

Detecting earthquakes is a vital but tricky business.
Fortunately, numerous changes in geographical features
constantly precede earthquakes, giving scientists ample
warning and time to prepare or evacuate an area. Some of
the best examples come from Japan in the 1970s. There were
noticeable changes in groundwater prior to the following
destructive earthquakes: the 1978 West Izu-Oshima
Earthquake, the 1978 Miyagi Earthquakes, and the 1980 East
Izu Peninsula Earthquake. In each of the aforementioned
cases, the change in groundwater levels helped indicate
exactly where the epicenter of an earthquake was. Because
of this,

(a) people can evacuate an area soon when the groundwater
level rises

(b) earthquakes are made more predictable through
monitoring groundwater levels

(c) earthquakes cause the most damage in areas with
abundant groundwater

(d) Japanese seismologists still have difficulty predicting
earthquakes accurately
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Some new chemical evidence from the residue off a vessel
belonging to the Early Classic period of Maya culture —
approximately A.D. 460 — has provided historians with
valuable insight about chocolate. Basically, it shows that
Mayans were drinking chocolate in 500 B.C. and further
hints that people were cultivating the cocoa tree long
before the Mayan civilization, which flourished in southern
Mexico and the highlands of Belize between 500 B.C. and
A.D. 1500. Yale Professor Michael Coe, co-author of The
True History of Chocolate, points out that much of Mayan
culture comes from the much earlier Olmec civilization. He
also analyzes some linguistic evidence to support this.
"Even the word ‘cacao,” Mayan for cocoa, is not a native
Maya word-it is Olmec," he says. All of this suggests that

(a) the Mayans conquered the Olmec and adopted their

culture

(b) chocolate has been consumed for more than 2,000 years

(c) cocoa plants have been abundant throughout Central
America

(d) the Mayans were so fond of cocoa that they planted it
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oojsid B EMSICt 2= “MX|0] ZF0IE S5t
toto] * 719t = E2 ojot 20| 21047} ofL|2t SHO{UL|
f'ef olop7|3tt o] BE A2 =

a) DRIS2 2US =0l 1 2515 AEIIC
b) Z=X2 2,000 0|4 AH|=|0{RtC

c) 20t AlE2 Y offl2|7toll MAtshRUAC

d) DoRIS2 XHIS0| o2 FHO0LE o Z0RACt

OfoF 2 O|TREl ZHOP} M=o e, oo 2FoIM =23 Hlthk= M7t dAZRCHE WEoIct giziof= 0|
Aot AMER FEE 4 Qs Z1p7t 04710} Sttt Basically, it shows that Mayans were drinking chocolate in 500
B.C.2t people were ~ Mayan civilization2 EH 0t @2 AHEE ZEAS HO Rich= 40| 0] 20| YstuXt sh= tf
s & 4 ULt 71T 500ERE 21M17| SX7IK| ZESS Hof oo Bzt JHE 2ot LIS 2,0004 oY ==
g MF6HRCe ()7t 2t
(a) So| Fets oLt ME3tk= S olct [Zo] 4]  ZF0lo| HAt
(c) SM7IX| o[ Akl U=Xl= & = Sic, otof 2HolM =25 95 5+ LA
(d) 2o B2 BotM xHuist Zd0|H, olokRIZ2 OfoF 29 0|TRE AF0F B
7159t 717t Mol Al A =X LRUACH Olmec 2F°| AF0t Z=t
ZAE xS N @ H2H HFE

ro

I residue %X vessel tf

adopt {EHSICH

chemical 35t
linguistic 101X
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Reflective sunglasses can often come in handy on a bright
day, but their reflective coating can be something of a
problem. While glass itself is naturally scratch-resistant, the
coatings on them, as well as on most plastic lenses, are not.
To compensate for this, glasses manufacturers have
developed a number of ways to apply resilient and optically
clear films to lenses. These films are made of materials such
as diamond-like carbon and polycrystalline diamond. For the

most part, these coatings are reliably scratch-resistant. There
is however, one condition. The scratch-resistant coating must

be applied first over the lenses, and the reflective coating is

cultivate Z=tsiCt

flourish #AGICH  highlands X|ch

siEet ol Bt MEetAs R8T 4 UXIRE HHAF FE
2 M7t 2 & Utk R2E I XA KMoz Fe
Y[Rl BrHol|, thEEol S2tAE #xef R2| o AR
JEX| gtk a2iM ol 2Fst7| flol, o xRS
2 =0 =&Ho| A AZHez MRSt HES 27|
Qlofl Crefer WS JHdsiRict. ol2{et &2 tiolok=E
2ol Baet LAYl tiojok=E 22 222 S0
Ch tie= ojH ZE2 Aot =elo| YxlEch a2t

87| w=2of

Section I - Review Test A8



applied over it. That is why

(a) reflective sunglasses cannot be upgraded to be scratch-

resistant

(b) scratch-resistant sunglasses are more popular than

2o
Yrige

=

FaE 4 oo

b) e YX| MFatA=s HAF MZARCE O Q17| et
b2

reflective ones MZeFALCE
(c) manufacturers cannot afford both scratch-resistant and o Zsict
reflective coating
(d) sunglasses with diamond coating are stronger than
reflective sunglasses
[sH&] MIeta FHO| £ JIX] ZF0] digh Lot giziolle o 20| L= gt SHZE 0] S0{70F BHh BEAL
(reflective) TR F8l YX|(scratch-resistant) 0| UL}, Fe! WX| FES OX Lelof sich= A0| o 29 U
O[C} mebh] BEAF M32tA 2lof FE WX 2ES & 4 gith= (a)7t 7H XiA2iz Eolct
[27] 24] (o) 27|== ASEX] LUCE [Zo 74] MI32tAo £ x| 2EY
(c) &=AM7t th= Aez Hot & of 20| 7ks3ich grAL FEO| I
(@) =& YXlof A0t Xto7t L= A0[H, ZEo] X0= LIRX] A WX 2E Wy oA
=Lk BERNE=E RPN el
[of3l] reflective HIAFSO|  resistant M&2! Q= compensate E2i5iCH  manufacturer MZQIXL  resilient Et2 Q=
optically ZsMo=2  carbon EtA  polycrystalline CHEAEZIO|  reliably A12= UA
[H&AH

Dear Mr. Thornton,

We have received the x-rays of your spine and ribs, and
there does not appear to be any severe damage to either
side of your torso. We noticed a few ribs that were cracked,
but none were broken, and your backbone was left
completely intact. There were no bone spurs or fragments

floating in your spinal column.

, we have

detected a curve in your backbone. You should be aware

that such deviations can cause some medical complications,
including severe back pain and even damage to the
surrounding heart and lungs. In order to determine the state
of this condition, would like to see you for more tests and
figure out what the best course of action would be.

Sincerely,

Dr. Jacobs

(a) For instance
(b) Likewise

(c) However

(d) Moreover

[aH]

ABZ  Answer key

Thornton M| {5t

M2 ol 2 28
% ol 0| 2t 22 Holt Haix|x| oot Swols
H5| 40| GUBLICE Hatel A0 2Rt # x2lo|

si= Sto| 72T RS WABSLICL Fioks 0f213 &
30| Y To| BYZFS 0PI 4 YUCHs HS !
St=d, Ol 345t 25T 87 AXlo AR T 2R
48 B 45 UBLICL 0] HEIE TES| Aol HAIE

HIZLICE

Dr. Jacobs 2

(a) OlIE &
(b) ol2t Z0]
(c) stx|et
(d) crLt

M Zoilz= ZH7F gitts 80| UeX|P Fols Stiel 7

BiZhol= HErE W82 BAS UEts TEA



16.

17.

[27] 2M] () GIAIS LIERD f 220t [Zo 74]  2Ate| HX|
(b) Hlxtt 2L ZUE LIEFD of 22ct dlAz]o] ZAut MY
(d) HES I=Y wf 2 Oled 2= &
HE H A BE
[o13]] spine % rib S& torso &5 cracked 20| 7t backbone XZF intact &4 gi=
bone spur 2= (FI0{Lt2 25) spinal column & detect 2745iCt  deviation &  complication &%
[R&AH

Famous American composer and lyricist Stephen

Sondheim’s most successful musical was also one of his 71 MZAO| SX|ZHS 70| AlgtAR XHEE = 5HLI0|7|E B}
more disappointing ones. After two successful early works Ch O& XRA0| H2 MEAZA MZISHR| AUE H3Eel =
that he was not very pleased with, Sondheim participated 7| & ZE 0%, Sondheim2 J1t 7t 255 £ FX1ZH |
in a musical for which he wrote both the music and lyrics, A HZHoz Jh= Zof AR Uo| MZNO| FHog=0, o]
Funny Thing Happened on the Way to the Forum, which 22 21 FXEYE HIS o2l 229 EL| A4S SARICH
won several Tony Awards, including best musical. Sondheim AHA2 X|H BEX| RACH AC]

, Sondheim himself did not even receive a 7b U2 HWIH= L2fu) Ao KIHAARA SORtK| 23
nomination. To make things worse, some critics felt the 1 K7t 2=2X22 Sondheim?l =2 A0 S5 &F
songs were not properly integrated into the farcical action. S 9| RCH CHEIAZAE 79 AEU2 AL M3 o
Ultimately, Sondheim's score was not especially well- S A EZE HIEHIISC| ZRE ¢ 0| Ytch J2ln =
received at the time. Fortunately, his style would continue 2041719 71 RESH AL & §F o2 o A4ZICE
to mature and gain more critical acclaim over the next few
decades, and he is considered one of the most famous
lyricists of the 20th century.
N (a) Atz
(a) Additionally ) =
(b) That is to say (0) 220l =75t
(c) Nevertheless (d) A 2xoz
(d) Coincidentally
[aHAd] Stephen SondheimO|2t= JXIZ ZfA} & 2Z7t0f Cish LIEO|CE 27t &ojet RXIZ0| 2 d3S AFUSL F&F 3 Xt
A2 HEE AFX Z3UC= 80| FE 0|21 ot BIZH YoMz 29 RXIZS 488, FlolM= 27t s8S WAl %
Fich= &0 Li2L, 0] & W82 71 & AZsiF= A2 ()2 NeverthelessO|Ct,
[E7] BM]  (a) LISS T2Y O 201 [Z2 74]  Stephen Sondheimzt FX|ZH
(o) HOIlM LB LIES Cf XpM|s] AEEY mf A0k Aelo] B0 X6 /FXIZ
(d) SAlof LA Mol choll SES mf L0t X0l a4 2HO| 22X =gt
=0l 20| TlEgt
[o1#l] composer =7t lyricist ZA7b  nomination & £E  integrate S&5iCt  farcical =%l
ultimately OF2ILY  score 22 mature M<3ICH  acclaim &%
.................................................................................................................................................................................. p.112
[cHel mpet]
Many American legends and folklore paint the historical e 007 |= HAFEIQI 7 =

cowboy as a rugged, self-reliant individual toughing it out in
the lawless countryside. But how true is this portrayal? AbBtCE 2Lt o
Cowboys were often hired by a cattle baron to work very 712E0l=

Clojui= 712D REAel Algez =2
DAL Hott FAE 21 B2 49
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closely in cooperation with his compatriots, under a rigid N S2=0 27 FsaiAl UsHoF 3HCt AMM o B o U
system of regulations and laws — range law. In fact, this law  SZ x| =A|9] MQln} ZQIES FAlotE HECt of HAS
was far more cumbersome and burdensome than the laws 0 BEAMYC FIRE0|S0| 0] MES iR & L1 U]
for merchants and craftsmen in the towns and cities back 20, 0I5 & Chet 8l e=0f 7HUSHod mHS shALY
east. Since cowboys were well aware of this, a very 23 oM 3 22 oA NS FEH| Qi =5 =8l It
significant number of these men joined together in labor Shaiict

unions to go on strikes, to seek better wages and better

working conditions.

Q: What is the passage mainly about? Q: ¢ 29 FH=?

(@) Labor unions in 19th-century America @) 19M7] Dl=2f ke

(b) The inaccuracy of the American cowboy myth b) 0l= 7t2&0| tlste| Fgsret

(c) The grueling work of cowhands in the American west

(

( 2|

(c) 0l M5 =% 2A=9| Bt A
(d) The popularity of cowboy myths in modern America (

)
)

Q

St 0= 71220] Ao

2
X

[5HAd] A2 ol 0|= 7t2=0(of thst Yeta ojoX|ets gel, 159 YME Bo| HXE = & YolRlch= LEo|tt
how true is this portrayal 228 7t2E0[E2] 0|0|X|7t AXQL CIECH= AtME & 4= 120, work very closely ~ range
lawZ252El 159 YM0| ZE7(Qt CI2Ch= AMME Y 4 QUCL WetM 0= 71RE0[52| ZRE 0[0|X|2k= L& (b)7t
ol 28 & + Utk

[27] 24]  (a) 7IRE0| =x0f thEt L8 oLy, o= & [Ze] #4] 0= 7IRE0/9|

BEROl L &0l ohst g gict ARE U3
(c) Yol BlEth= U8 oLt 29| =T okt AR xe 2HE
(@) 27lof cht AZ2 gict X 25 Yo
[0f2l] folklore 2IE rugged 7%l self-reliant X4l 2X|5k= tough it out &1 ZACICH baron £/ 421 ~&

O L
compatriot &2 range Z=XC| cumbersome HES, &7t inaccuracy £-2tet  grueling HAst

18. [thel mfey]
While the majority of Vietnam veterans successfully HIES 2 SAt HiRE20| ZASH XX HolME HEX
readjusted to civilian life, at least to a functional degree, OF AlF| Mizto|| MXSEH HHH e 0|52 ofAlE 2 0f
many still face an uphill struggle. More Vietnam veterans HE2 A=l M=o Xjaeh N SAE HAKRE ~ECt
committed suicide after the war than had died in it, and even O Hn OHCH o B2 ARMS0| =£XPF FQict Alch
more ended up homeless. Furthermore, the nearly 700,000 7 mR4Z0| W11 H| HHOI0| CH4Ql OF 700 HO| A=
draftees, many poorly educated and nonwhite, received less Hojl MCHE 5HX| 23}, 0|2 Qs u=ut ol eSS =t
than honorable discharges, depriving them of educational SIERICE Ol HRZ 0|52 E3| YX2|Z2 ot SX[5t
and medical benefits. Because of this treatment, these men 7Lt JIE BAE O\O-{LULW_ AR Soft MBS S
found it especially difficult to get and keep jobs, maintain A2 LSOIRICE RS 0j=FIS0| 3¢2 WSolE, &
family relationships, and stay out of jail. Despite the fact that M A AHE= DK gg SHetE D Al2|A QA & A
most Americans sympathized, the Veterans Administration E3A Zof 22 HAX nEo=z Qlst msiE Folsoz

made the situation worse by denying the harm done by
chemicals like Agent Orange and mental afflictions like
posttraumatic stress disorder, and then it stalled on providing

treatment.
Q: What is likely to be the best title for the passage? Q: 0| S0l 7t L2 M=2?
(a) The Effects of the Vietham War on American Society a) HIEE T70| 0= AlElof & Fef
b) HIEE &F SAISO] AAE et
E

(c) Traumatic Combat in the Vietham War

(
(b) The Physical Injuries of Vietham War Veterans (
(
(d) The Hardships of Vietham War Veterans (

AB4  Answer key



19.

20.

[sH4] HIES ol Z0idt 0|2 FT AS0| M0l of2f 7kX| HOllM 18S ZA=Ch= W0tk X 2%9| many still face an
uphill struggled] &4 80| MA|=D o, 2 T AFS0| of ToflM 81501 st=XI7t Liet QlCk
[27] 24]  (a) OI= A8 2Oh= & 8Atol =F0| H&A Uk (2o #4]  HEH ™ Al 15
(o) IS Algold, ARl He A=A 2ol gol 2 & TAIRE 4= BCF XA 271 B
eick, s Y ol siE B
(c) HIEE =V Xixofl thet Lh8E LIRA| =L, 71l sEts Brx| REt
[oi3l] functional 7|5%2l  uphill &= draftee 2EXt  honorable discharge 2ol XIcH
deprive A of B AOIAIA BE #SICH  sympathize sttt Agent Orange QX|M(DEA) affliction 15
posttraumatic stress disorder 2l&f & AEe|A ZoOf  stall X|HAZ|CH  traumatic SZXQ!
[cHel mpet]

Attention all credit card customers: Interfinance Credit
Trust Corp. was recently acquired by Foundation
International in a buyout, and the terms of some of the
credit accounts have been altered. As of October 1st, any
accounts with $10,000 of debt or more will incur a higher
interest rate and higher monthly penalty for late payments.
Any new account that is opened after this date will not be
subject to an annual membership fee, and any accounts
with such conditions will be charged one final fee at the

end of this year and then nothing else.

Q: What is the notice mainly about?

(a) A corporate merger

(b) New changes made to credit accounts

(c) Services offered by Foundation International
(d) Raising interest rates for accounts

[eH&] A 7IE SAte] BiHeR At O|Xkg, A3lH| Soll ¥

credit accounts have been alteredS 25 A=

[27] 2M]  (a) S} EHE 2 SXIZ St € 0lR0IX| F
2 82 ottt
(c) MHIA REO| HF AtEfS Ui Ut
(d) 22l &0t oLzt TH2 AEol= HH0] /oo
2, S8 HAE mud & gl= M=ot
[013]] buyout 0§Zf terms =& alter H}RLCt
[chel met]

Is your PC going a lot more slowly than usual? If so, you
could have a computer virus. You may not know it; in fact,
even your PC itself may not know it. New viruses, worms,
and malware are being created all the time to sneak past
the most sophisticated defense and infiltrate your PC. That
is why you should go to Spee-D PC. We are a website that

incur Z2fatct

AMZItE T FOIAEE Interfinance Credit Trust 3|Ak=
22 0j2FE0AM Foundation Internationaldf 2laH 0§ %]
ol 0|2 Qe A Al UE X70| HAZUSLICE
102 12 SixH 10,0002 olAto| Bxi7t = AFolle ey
E Z2t Enteln HX|=2of chalf i QlAE BFol ButE
AYLICE o] Zm olF0f JHAshe MER A™o= 25 A3
HI7t 2ateX] o, ot &2 Aol iY== AN =2
oyl oF ol 2F 230| Fut=n, 1 02 oH A=
Satg|X] kg AL

Q: o] SX|°| FHI=?

(a) SAF &Y

(b) A8 AFoll Mzl M2 H3t

(c) Foundation International0| HM&st= Ajd[A
(

d) Agel g2 2y

C} the terms of some of the

|
A Y 5 UASBZ, HE (b)oIch

be subject to ~9| tH&0|Ct merger &Y

SA| of2i=2o| PC7} BAAIECH B0l LELIZR 1%t

oo E
FE| HOI2IAT} US A= UBLICL A Ol & 4 9= o
PC 2

QLict AXI0| FAlo| PCEAE B2 4 Ut 22 bt
Ol2iA, B Hlol2iA, oY FSE JbY MR Yolg Fn
So{7} GAlo] PCO| FESIS BSopEaLIC, 12| 1e
0l 04222 Spee-D PC2 WR5HMOF BILICE H3/= ofz(
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will do a free check for any nasty little bug

infesting your hard drive. We also offer a free three-month

trial of our specially developed firewall, with updates Mt BE2 MEE] BA 4 Qom, Sl AH|0|ET} T}
available all the time. We were recently recognized by gLt Msle 212 InterComp XAIZRE ¢ 22 ot 3
InterComp magazine as the best free malware removal on E HA 7150] 2nQUg o1 gorsLIcH a2 o ol4 of
the web. So do not take a chance on your computer's HE HEEQ A2 {85t GHX| otMAIR. Spee-
health. Visit Spee-DPC.com! DPC.com& 4&stuAl2!
Q: What is the passage mainly about? Q: 0o 29 FH=?
(a) Vaccine software for new viruses (a) =2 Hfo[24A Cijb| HHAl me2 77 2M
(b) A newly developed firewall for PCs (b) MiE7 7L E PCE Y3
(c) A website that detects viruses (c) HIO|HAE ZX|GH= YIAIO|E
(d) The latest computer virus (d) ZA! HFES Hio[2A
[ai4] ZRE Hiol2{A 3 oty AC HA MH|A S MSohe HAOIES| F10|CH We are a website ~ infesting your hard
drive22H &0{= HIO[ZHAES OO0 o = 20| 0] AIO[ES] 2 MH|Ack= AS Y 4 USBE ()7t Ol
Elc
[27] 2M]  (a) MER HI0[2{AE HOtECHE g2 UOL, 0] MH|AE ¢ [Zel 74] ZHE HO[HA X|Z MO|IE 1
OllA 2 & A= Ao|H Z2IM0| oLk, e Z=aol efgy
(b) HEH2 YAOIES] 2T Md|AO|CE AMHIA 10 HIO[2{A ZA}
(d) Htol2fA XtMECH= RIZ0 =F0| WK Uk MblA 20 et Bl & 0|8
[oi2l] malware 24 Z=  sneak 22§ E0{2Ct infiltrate ZE5ICt nasty LM  infest S4E F2|ct
trial (Z20)) AT firewall 2SHH
21. [thel el
A common but seriously hindering medical condition, S5IX|0E 0 A7IAl OjHY ZAlO| UHESS =Lt 7}
stuttering is something that everyone wants to avoid if SaichH mlstn Alofsk= Z0|c ofT ARZIo|A| LUCEEE
possible. Some people simply have a genetic predisposition Cias| SXA Matoz 215 Z{0|X[Bh 0l &Z Hiof g
towards stuttering, but there are other factors that contribute X QUX| L7I GiLt CHE QOISE Lt MZ2 0Z i
to it, though only a few are well understood. Learning a new = ZI2 BZ 0j0|S0| YS CSE ¥0I0| EX|BE o= of
language is often the cause for stuttering in children, but this A IS SElol LUHSS0l2tn & 4 U o 0|S2
is a rather benign form of stuttering. Some people have Yol S Hof MEet M2 sk MEsA ZHE
neurological problems that inhibit the proper brain functions 7IX|D QoM 0] EXSE HESO0|L AfD E= Cf2 FEY
regarding speech, and these problems are often the result of 2| 2[Afo] ZAnlOl ALI} Yok a2t 1 2xl= A2 &
a stroke, accident, or some other trauma. However, the Z0|Lt TfQ AE AL} ZHS A2 [E0l Y A& QICt ES
problem might be psychological, too, such as a severe lack AHHSTH Foy ZE Foj 2 dE Joi2 Y s
of self-confidence or the presence of disproportionate stress. = 4 Qlot
Also, behavioral disorders like autism and attention deficit
disorder can lead to the speech disorder.
Q: What is the best title for the passage? Q: 0] 20l 7F L8t M=27
(a) The Harmful Effects of Stuttering (@) YES3 sl=zz Fat
(b) The Factors that Aggravate Stuttering (b) YHEES dsth7l= Q1=
(c) Various Causes of Stuttering Conditions (c) YCISE9| chyet &2l
(d) The Common Symptoms of Stuttering (d) OSB3 YA B4
[3HA] %H%%QI ol3f 7kx| 2210 thalf R Q= LHZ0IC Some people simply have ~ contribute to it S22 E SF5HE
201 2lof CiE Qelo| UAck= At of2{8 LHE0| 2 TEholl 22X KMAIE Hels AEE oIS & UCE Learning a new
language, neurological problems, psychological, behavioral disorders §S S3ff 0/2{8t 22lof= MZ2 Y stg, Al
4ot - 42|x - WA 0| UCts AMES & 4 ASBE JHY XES 2 ()0t

ABE  Answer key
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[27] 24]  (a) SSEX| 42 LHEOIC (2o #4] Zos39 ¥
(o) YEUESS AstA7l= 2910| ofL|2t YHES KA RO
& |dote ololch, SZN 20l M2E Ao, PSR Ma|d, dEH
(d) 40| Ot|2t Qlofl chdt Lo, 24|
[oi3l] hinder &aliotCt  stuttering & LE3  predisposition d&  benign ¥=8t  neurological 4142  stroke &%}
disproportionate 79| autism XS  attention deficit disorder 32| ZE &0 aggravate 2{stA|7|CH
22. [chel mel]

Many are puzzled by the fact that autumn leaves in Europe are
mostly yellow, while America and East Asia boast lustrous red
foliage. A new theory proposes that this difference developed

2 01S0| 0/F SORAOIl EHES oHRiNel He
2 xfSH= HisH, KB IS 42 RS 2|

2f= AtEof Qlotsetct, AH=22 SHEof QlstH 0] xf
PSIES]

about 35 million years ago, when a series of ice ages led to the = A&EEs QotAt2 ¥4It S7IE 3%54 HA
rise of deciduous trees. In the autumn, the leaves of these TIEE AZERACE 74200 o] RS2 ¥2 HOX|7|
trees began turning from green to yellow before falling. In Asia REMO|N 2O Z HELT| AIRIICH ORA[OIR} D=
and America, unigue geography protected forest life from A= SESH X0 E=5F 2 HMEEEH MRS &
severely cold weather, and insects were attracted to yellow SolixUn, TEE0| L2 Yoz ZHE0 0| Y2 H
leaves and fed on them. Thus, many deciduous trees evolved Ch T2 2 HYes 82 HYS s 258 &
to produce red leaves and fool the insects. However, in Europe, 0|=2 ZISIHCt 5HX|2E QEUAME C12 ZEE2 Ol5ff &
a different landscape caused many forests to perish in cold 2 %0 £2 /20| Yt YD, ¥ A A 25
winters, killing the insects that fed on them. Thus, the surviving ZC, met Aol LIR= ESE ol 52 HEe
trees did not evolve red leaves for protection. 2 ZISeHR| §URtct
Q: What is the main idea of the passage? Q: 0| 29 34 Mz2?
(a) The biological process by which trees change leaf colors (@) LIRS MAS b= MESP by
(b) What made autumn leaves have different colors (b) 0| 72 S CIE Moz FEAET|
(c) The effects of the trees’ evolution on insects (c) LH9] Tistot Hajofl 71 H&t
(d) The difference between the geography of Europe and America  (d) R&xt 0|=2| X|& Xt0]
[aH4d] 7tg Yo MZo| ofEA 2 Moz HRi=X|0 tigt 0|28 AJist= 20|t autumn leaves in Europe ~ lustrous red
foliage22H 0|= 3 SOMAOIS] 4 AZH0| off CIEX|0f Chet LE0| ThE AYS F&2
o

difference ~ of deciduous tressS S5lf & AQ| Xt0[7t 2f
& Mo| M5 20IS TR0 Q= (b)7t Holch

= T AT

g 4 ok E O OS2 this
ol ot
=

=3
[=) o= [
HAEXIE FoIM S Y & 4 AL T2t 7ie o

[27] 24]  (a) ASE 0] ofc, (2o #4] [t 0=, SOAote U
(c) L7t Hallof A HalX] 7] fsh U Mzs =8 Hga 0|2, otAlot HEol o]
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The decision on whether or not to admit an aging parent to a
nursing home is never an easy one, but many people who
reach this age are incapacitated to some extent and require
specially administered geriatric care. Here at Carson
Gardens, we sympathize and provide the most gentle care for
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seniors in need of special care. ®Everyone on our nursing
staff is a specialist with years of experience, and they have
received accolades from numerous medical boards for their
service. Also, we provide games, puzzles, and @other group
and individual activities for our patients. ®Visitation hours are
held from 6 in the morning to 11 in the evening every day of
the week. If you have any inquiries about this facility or
geriatric care in general, we offer free advice.

Q: Which of the following is correct according to the
advertisement?

(a) Visiting is allowed on weekdays but not on weekends.
(b) The nursing staff has been recognized for good work.

(c) Most activities in the nursing home are done in groups.
(d) The facility will charge a service fee for inquiries.
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24. (g 2z

A baseball game between the Phillies and Mets this past
Sunday saw the rarest of events in baseball on the last play —
an unassisted triple play. It was second baseman Eric
Bruntlett who made the play to end @the Philadelphia Phillies’
wild 9-7 victory over the New York Mets on Sunday. It was
the 15th unassisted triple play in the history of major league
baseball, as well as ©the second that ended a game. ®In the
first such play to end a game, Detroit Tigers first baseman
Johnny Neun executed an unassisted triple play on May 31,
1927 that completed a 1-0 victory over Cleveland. The game
was also interesting in that Phillies pitcher ®Pedro Martinez
received a warm welcome from the New York crowd, not
surprisingly as he had played with the Mets for four years.

Q: Which of the following is correct according to the article?

(a) Johnny Neun was the first major league player to make
an unassisted triple play.

(b) Mets pitcher Pedro Martinez was booed by the
audience.

(c) Eric Bruntlett is the second player whose unassisted
triple play ended a game.

(d) The Philadelphia Phillies beat the Detroit Tigers on Sunday.
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According to NASA officials, ©the space shuttle Discovery is LIANASA) &R0 mEH 05 54 DA S =
set to launch next Tuesday at 1:36 a.m. following much Qe ¢z S50 THAERHO MHM\ et B2 =25 AHA, Cf
discussion about the state of the insulating foam on the = & 3 2 1A| 36201 LAHE o™olct, x|t 2 2l
external fuel tank. ®During the launching of the Endeavour S LAt =50 L2 TS Fof2|7f /F Wa22E E
last month, several chunks of foam fell off the external tank. O L), QoS It Alzbst AMS Xl UUKIEE 0]
While the Endeavour did not suffer any significant damage, Q2 LtAkE 3| R3CE LAl @22 nte=o| Hex) o
the development caused much concern for NASA. It has of2[7h o{MLZE EIlol FHE E1 OtV 3 S Al 2
been very cautious about insulating foam since ®the SME

destruction of the Columbia in 2003 when a loose 2.2-
pound chunk of foam dislodged, punched a hole in its wing,
and led to ®the disintegration of the shuttle during reentry.
However, tests on the Discovery tank convinced shuttle
officials that the foam is adhering properly to the tank and
the problem is unlikely to recur.
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Q: Which of the following is correct according to the article?  Q CS & 29| &1 Yxlot= A2

(a) Poor insulation caused the destruction of a space (a) 2 HERHZ 20038 2F L=4M0| EaH|ALC
shuttle in 2003. (o) AlciltiS= |3 MSY Al 2a=IUACH

(b) The Endeavor disintegrated during its reentry into (c) CAFHZ|S | HAl= E7H2| &4 T20] XIA|=RACE
Earth’s atmosphere. (d) LiAlz E22tHIotz 9] X HEo| CHE SES ARZsl 2|

(c) The Discovery’s launch was delayed due to damage to H S5 =X XM2I3UCt

its wing.
(d) NASA insulated the Endeavor with a different
substance due to the Columbia’s problem.
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26. (g 2z

Part of an effective overall market analysis for growing
companies is an accurate competitive analysis. A
competitive analysis requires you to @identify competition
for your products, services, and market segments; @assess
their strengths and weaknesses; @determine the
importance of your target market to competitors; and
@identify any barriers you will encounter while entering the
market. Also, consider these factors in order to ©estimate
how long it will take before new competitors will arise in
your target market. Finally, @identify any indirect or
secondary competitors which may impact your success.
For example, coffee producers must watch out not only for
competitors in the coffee market, but also for companies
that produce other beverages, like water, juice, and soda.

Q: Which of the following is correct about an effective
competitive analysis?
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(a) It prevents possible competitors from entering the target  (b) 20iPHEEC| XI2S &1 HIE22 Hal{oF sh=X| 1aiBtct
market. (c) AlFoll Zloh= M2 ZHAES] 7tsde HIISIT

(b) It assesses how much funding should be set aside for (d) MIEAS0| 259 ARl AMAL]| ESsIEE siEL]
advertising.

(c) It considers the possibilities of new competitors entering
a market.

(d) It makes producers focus on their direct competitors.
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27. [ug ¥z

Scientists have long argued against the claim that ancient
man lived in harmony with his environment. Now new
evidence suggests that serious damage was done by early
humans along various coastlines in the Americas and
Africa. Doctors Torben C. Rick and Jon M. Erlandson have
been closely studying middens, @piles of shells and bones
from 13,000 years ago which are full of sea urchin fossils.
The two theorized that these sea urchins first became
abundant when ©@early humans hunted and depleted the
sea otters that prey on sea urchins. In turn, the larger
population of ®sea urchins severely damaged the
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28.

underwater forests by feeding on larger quantities of kelp.
“These effects cascade down the ecosystem,” Dr. Erlandson
said, implying that entire food chains, habitats, and
environments were disrupted.

Q: Which of the following is correct according to the passage?

(a) Piles of shells and bones included sea otter fossils.
(b) Due to sea otter depletion, kelp overran the coastline.

(c) Sea urchin was a valuable source of food for early humans.

(d) Sea otters often fed on sea urchins.
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Here is this week’s drought outlook for the plains region in
the United States. ©In Nebraska, two to four inches of rain
fell this weekend, which will greatly benefit soybean and corn
crops. Furthermore, ®improvements due to beneficial rainfall
were made in some Oklahoma drought areas: counties in the
east and south made significant improvement, and ®all
drought designations have been removed from the eastern
part of the state. Several small changes in Texas this week
reflect the slightly changing conditions around this state’s
exceptional drought. Rain helped the panhandle region and
an area southeast of San Antonio, Texas, so some
improvements are expected in these regions. However,
@several counties in central and north central Texas actually
got worse and thus have been designated as more severely
drought-stricken.

Q: Which of the following is correct about the drought in the
plains region?

(a) Oklahoma was designated as a drought area due to little
rainfall.

(b) Eastern Oklahoma is no longer experiencing a drought.

(c) Rain helped soybean and corn crops near San Antonio.

(d) Central Texas is expected to have a milder drought than
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Noh plays are the oldest existing form of theater in Japan. =(Noh)= ¥Eoh= 7He 2elE L2 = FEHoICh 14417]
During the 14th century, Noh grew out of a combination of of = AIRI7IRZ Ll &= 39 ofs2t HUEetn
Chinese performing arts, known as sarugaku, and traditional Sol= MEXMOI AR 220| Akl wWXst Aoz, ME
Japanese dance called dengaku, and traditionally @it oz WAE FZ0| S0l 22 FEHQ 4fQl HAS
represents the austere Buddhist way of life adopted by the LtERHCE @R R0| L S22 Ao A sHX|X|2E FoH
Japanese aristocracy. “Most Noh plays take place indoors, = Rot=Eq} &g ALERT} ZER0ZE MEXQI 0F CIXIR!
but the stage retains its outdoor design complete with pebbles 2 SXjgict, 2HoME ==0| 21 U=O| SHoty| Al
and small pine trees. ®The performance is accompanied by Mnp 22 (WH Hel TE 27| A 6HOIA 8FH2| Al0|
three or four traditional musical instruments, such as the AR HIRE i}, @2F AZK} SEEIDNEIVS
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3

tsuzumi drum and shamisen, a Japanese stringed instrument,
®and a chorus of six or eight people. @Each performer has his
prescribed place on the stage, and the progress of the play is
determined by the positions of the two main actors.
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Q: Which of the following is correct about Noh plays? Q: OIS & & ZH0l| it L1 Yxlst= H2?
(a) They focus on the lives of aristocrats. (i

(b) They feature music and a vocal chorus. (

(c) Only two actors are shown to the audience. (©) = 2ol
(d) Contemporary Noh plays are held outdoors. (i L
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Of all the mythical animals found in medieval European SN S8 52 ZZM0IM Lzs AS & E2 S0IM
bestiaries, perhaps none is as fearsome as the basilisk. HHARIASEC O BM2 X2 QI8 Zolch MAof| olstH
According to legend, there are two species of the creature. 1 ME0ls £ 71X 227t ot R Hm S2= XHAlo| &
The first kind burns everything it approaches, ©@and the Zohe BE 22 EY H2|n, oS s ER= =8lotoz
second kind can kill creatures with a mere glance. Both T ME22 Z0IL), £ & 25 IR ZAIRABIN zez
species are so dreadful that their breath wilts vegetation and 2E AMZE Ui\ st 22 BHH2lsd], OSAH| 2
shatters stones, and ®only weasels were supposed to be 0| 0|21 ¥a2 HiX| ot=rctm Uz{x| UUCE @A AlCHo||
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immune to these effects. @First described simply as a snake
with a golden crown, by the Middle Ages, the basilisk had
become a snake with the head of a rooster, and sometimes
with the head of a human. @In art, the basilisk symbolized
the devil and the antichrist.

Q: Which of the following is correct about the basilisk?

(a) It killed thousands of people during the Middle Ages.
(b) Only its breath could affect weasels.

(c) It could Kill living things by looking at them.

(d) People in the Middle Ages considered it to be the devil.
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31. (g ¥

Jean-Paul Sartre was a French novelist, playwright, and
philosopher who was perhaps the most famous
existentialist of the 20th century. In his philosophical view,
man is condemned to freedom, ®a freedom from all
authority, which ©he may seek to evade, distort, and deny
but which he will have to face if he is to become a moral
being. Once an individual finally acknowledges this terrible
freedom, he has to create the meaning behind his own
existence, and he has to further commit himself to a role in
this world, has to confront his freedom. Also, according to
Sartre, @this attempt to make oneself is ultimately futile
without the approval of others.

Q: Which of the following is correct about the thought of
Sartre?

(a) People are afraid their freedom will be stolen by others.
(b) Every person must seek out political freedom.

(c) Men do not have control over their freedom and destiny.
(d) The individual needs others to find his own meaning.
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(b) The defendant could know who had accused him.
(c) Testifiers for the defendant were also likely to be accused.
(d) Testifying against the defendant was dangerous.

[oi=] playwright 547}  philosopher &7} existentialist 4&F2[X}  condemn 2% XIRCt evade Llatct
distort Z2ica|Ct  existence £ confront CHHSICH  futile &
32. (g 2xl]

The trials of the 15th century Spanish inquisition were unique 15M17] AHQI OfE A2 of2f HojA =53 0jHe
in several ways. A defendant accused of heresy was required 2 7Y moe S92 sHoF XD #H5Ql0] QiCt
to testify, and defendants did not get lawyers. ®9If one refused — PO=01S J|Esh A0|= SE2 2152900 0o 7
to testify, he was considered guilty, anybody could testify A HAX} CHE O[Tt S 11 o= =7 m|noj|7| =2
against him — relatives, criminals and other heretics, and he St ZAHS & 4 Qllon] munE 19| IEQI0| FFQIX|
was not told who his accusers were. Unfortunately, ©the ot 4 QUL EdEHE Omnol2 XA Qs Sist
suspect usually did not have any witnesses testify on his Z010| =L, ol= BOUSE 0|t FolE E2 4 QY|
behalf because they themselves would also fall under ME0[UC, HE T2 XpAle| o7t RARIX| HIZ
suspicion of being a heretic. Usually, he was not immediately U E|X| URUCH DFX|EtOR 0Tt AREe mTQle &
informed of the charges against him. Finally, the inquisitors, AR SL K& AREIEE EY s#g dioton]
specifically trained in questioning defendants in confusing or AlX|oj= @xjEls "] Q5f mmole 27|6h £Z5H AL
leading ways, could even @imprison defendants indefinitely T2 Lo UALCH
and torture them in order to extract a confession.
Q: Which of the following is correct about the trials? Q: Ct= & Aol oiet Ligat Axlst= A27?
(a) Inquisitors were supposed to torture suspects before the (e) OIEt S22 ATt TO W22 BHOF T,

trial. (b) LRI F7F 25 TU=X] Y 4 AUACK

(c) WRlS tiot= SAXSE 1LE SHE0| UL
(d) 1

[ai4] 15M17] AHQ! 0| 29| EXIS LIEHH 20|Ch the suspect usually did not ~ suspicion of being a hereticg 2™ &
RISk O|HeR S 7150l UM Mo OFRE BAUS ofX| LAUCH= AtE & 4 UCE mhebh] TnelofAl Fa/st &
==l

2 ol 32UE= 1YE 4 UTh= W82 ()7t FEoICh

[27] 24]  (a) ME2S ME Tof ot=X| F0f st=Xl= & 4 glct [Zo] #4]  15M7] AHQl Ol xHE
(b) BS HEEY Zd=0l= DLXE L 4 ULt mjuof #He|
(d) S2Ist A2 OFRL & 4 ULt 321 £
SIATEe] He
[of=l] inquisition 42|, At defendant T|1 heresy Ol testify Z5ICt heretic 0|= accuser TAQ!

on one’s behalf ~= @[5t01 charge &9/ inquisitor S XE  imprison &3t  indefinitely £7[3te2
extract 2'OHLHCE

33. [x2]
®The Harlem Renaissance of the 1920s is famous for ©1920 2| Sl 2UH|MAE= 20417 01=9] 7Ha e
producing some of the most influential American poetry, U= A, M ol 2SS EMARI o2 QES|ITt @
novels, art, and music of the 20th century. @In regard to the Shall 2|ATAC| Bl LoHRH T30 A 1900ECHe] A

AS4  Answer key



34.

Harlem Renaissance, previous social developments during the
1900s cannot be overlooked. A political movement emerged
from African-American communities all over the country that
started championing civil rights for blacks. Two major factors
were the National Association for the Advancement of Colored
People, which got its start in 1909, and black sociologist
W.E.B. DuBois, a noted historian who started speaking out
against the white establishment for its institutionalized racism.
@All of these developments encouraged African-Americans to
educate themselves and participate in politics and mainstream
culture, and Harlem was the center for this surge of activity.
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Q: What can be inferred from the passage? Q: 29 UEB0IM F2E 4 U= W27

(a) DuBois encouraged black artists to participate in political (a) FlE2t= 521 Ol AESO|A HX| 2501 &ofatztn
movements. =HICt

(b) Laws against racism were institutionalized thanks to the (o) 21520l gitish= ge 23 2ulydA HE20| M=
Harlem Renaissance. S|

(c) The purpose of Harlem Renaissance was education of (c) &l 2Hl¥AS| FXE2 Q152 WS0|AUCt
black people. (d) 3 EHMA= SIS ST MBIX HEE AZRID

(d) The Harlem Renaissance began with social changes that
helped black people.

[5HA] sl 2u|MA 9| ofo|et HHZ| thet LHEOICY, In regard to the Harlem Renaissance, ~ cannot be overlooked®} All of

these ~ mainstream culture B3 010] XI9| FAS I3t Als| 250| AI0| YHO| BaHH MBS BHSOfH Y
] 22 SUNATE AEEICHE WOl (d)7t Eol Bick

=0

SUNAZL TSRO AMS & 4 QAT M2t ALEH #Hel2

[27] 24]  (a) FEA= M=o HRHOLE ols7tS0lAl o (2o 74] &3 2dga
£ =2i8t Mol gich EE IR PSESSIppsIel
(o) & SUINAL Aut= MEA ZuE027 (& PSPNES ] P I HE= I IPN IR R
Ch= 2545 A=0|ALh HRA UiE 20 77 M, AtslERte] Hel 85
() 28 SHyA ZX2 SOl X199l gy & 2l S0l 2stol X7t & 2
& EsoIUct
[o13]] influential F&f2f Q= overlook ZHt5iCt  champion S&36ITH  sociologist AlSISIAF  noted AMEsSt
establishment &%, 7|4 x| institutionalized &&stEl  mainstream %2 surge 2435

[ZE]

Many children and young adults are at risk for becoming
juvenile delinquents, including those with mental disabilities.
As delinquent youth tend to have lower academic
achievements than non-delinquents, those with certain mental
disabilities also characteristically exhibit poor social skills and
reduced impulse control. ®Some recent research indicates
that delinquent youth with disabilities are more likely to
become involved in crime, and ®these rates increase even
more if the youth drops out of school. While studies have
shown that it is often difficult for juvenile delinquents to
reintegrate back into society and reenter school, ®delinquents
must understand just how poor their chances are for success
without school.

XI5 ZoHzt 9= ofolz meS B ools o HAUo]
B2 FAUO| B 9ol Maf QUck bl FALo| 22|
oo SHyuiCt S MAI=TL e 20| 90|, SFF
RIS Foprt s ofols HER A Jlam W2 &S
oinfz wat SRAOR HOKED, B2 U o170 ofs

=7, 80| HIBS SWE XiEE A9 W o Bk
0] Ol HIg HAL
=
=

A Yststrlrt B3

HE2X| 2otof ottt
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Q: What can be inferred from the passage? Q: 29 oM F28 4 Q= 227

(a) Children with mental disabilities cannot be integrated into (a) X1 Zoli7t U= ofo|SE stuof SEE -~ eich
school. (b) stie= YAH HI#S Ah=0] A0 S5
(b) School is important in preventing juvenile delinquency. (c) XA ozt U= MoiSE i FAE0| & =E0|
(c) Teenagers with mental disabilities are less likely to be EE
juvenile delinquents. (d) B YAESAH 7I=st XM She 22 259 S
(d) Harsh punishment of juvenile delinquents is imperative for 22 Qs Taolch,

their success.

[sh&] XI& Zoli7h = vId HAaE0] 2HX] 42 v FAALCH M2t 2MIS o 2ol 21 UCh= LHE0ICE these rates
increases even more if the youth drops out of school delinquents must understand ~ without schoolg E& st
£ oL X1 Folizt U= HIG FAESC EH7E O w26 ot ot QAT wh2kM st otof AoioF X7 H

E0] ECl= 0|22, Sturt tjdlS 2= S28 HYS stk (0)7F Zoloh

[£7] 24]  (a) St 2 X Yetsl= Ao| BlEtis W82 LR [Zo] 74 XI™ o7t A= vy Fad
L, &t Lol S8 2xle 20IM CiEX] ¢ of2l 7ix| 2 g5, AN 59, &5 AN, 2
Ak, Hzl A2 3 otw XS] s
(c) Some recent ~ in crimeS EH H|& FAHO| sluo| ER4
2 50| FCta Lot Uk
(d) 7t=8t ME2 AZEX| LRUAC
[of=l] juvenile delinquent b|& YAE  characteristically S&24 impulse 55 reintegrate XHS&6ICt
imperative Z4-%{Q|
35. [x=]
While there has been some human-to-human spread of the =& =2zt H5N1 Bl0[2{A7} ARES Ealf MEE Xo| L2 Ql
H5N1 strain of avian flu, it has been limited, inefficient and QUX|TE HeH0| 1 A2GHK| L20|cH 50| SAULCE o2 £
unsustained. For example, in 2004 in Thailand, probable H, 20043 Ef=Z0iA= OFZ ofo|et Hotel Z7|zH 2Ist
human-to-human spread in a family resulting only through Z02 JIEUIM AMS Eoff MEE =X A7 EoE
prolonged and very close contact between an ill child and Ct L5t 2006 620 WHOE QI=HIAlotlIM AlZE S35
her mother was reported. In June 2006, WHO reported HHE ZHE HIRX|E 2 Sl 715 Lo SAFEEE 4
evidence of human-to-human spread in Indonesia, though CIRUCH O2ols E75ln WP E QIZRIX} HIO|HAT| HEt
only 8 people in one large extended family were infected. - Ql= UIE, TSIRIER 0] Hlo[ATL o= & LR AR
Nonetheless, @because all influenza viruses have the S2 MYAZ|Z HA A 4 e Aoz Het S 23
ability to change, scientists are concerned that this virus St ot @O Ao| LliciH, FEE AF QUSRAUX; T
one day may one day evolve into a disease that can infect Of stk 8f7| Llof S AR CHAMS FaHoF & Z0|C,
humans and spread easily. @In such an event, our
government would have to undertake many drastic
measures in order to contain an avian flu epidemic.
Q: What will most likely be discussed next? Q: O30l Lig W8S 713 XESH A=
(a) The ways to contain the spread of avian flu (@ 2F =4 == Axlshy| fleh &
(b) The symptoms of avian flu specific to humans (b) LZHOIARE LIEF = AT =2iol B4
(c) The death toll from an avian flu epidemic (c) 2% =¢ ez QIoh AR} 4
(d) The evolution of the H5N1 strain of avian flu (d) =% =2 H5N1 #HB9| ZIst
[ah4d] 257 =Y Hiol2ae MY A=It 2R a1 HHO| X[EX0|Xl= X2, BHE Hio[2{A7t M2 27t lth=s Lol
OfX|2 282 28 27t 35 ZXIE Fsiof ottt Lot 7| miZoll, of 2 Foll= FR7 Feh =X(oll thgh ol Lt
eelek= AS FEY 4 UL
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36.

[27] 2M]  (b) B2 HSEX| LUTh [2el 4] =] =Z o2&
(c) HOIM IZISHR| Tt 7| W20l FollAf At Tg=Ho| ofgt
YK} +E Al =2 2l= glt S2H0|2l THEsdol US
(d) HE dio|2ATH M Tsde OiX2 2 ¥ A7t Hest
OilAf olof i1 UCH
[o1%]] strain H1& avian flu 2% =Z unsustained &5 g8i= prolonged &7|X2l influenza |R&d 47|
undertake 24-3iCH  epidemic TEY  contain AX[GHCt
[ZE2]
Residents across Victoria are now waiting for the arrival of HlE2|0f & Yol HEXIEL 60 S0 2 Mg H U
the bushfire season in 69 days and for the announced $1.9 ZHEIL 0K, AU, 22f me| X|do| orM JiAMe Qlsh
million from the State Government to improve the safety of SHESH 18 900028 Ex28 7|ct2|z AUt B2 0]
their towns, villages, hamlets, and even suburbs. Many are 0| AARE HE5| Ll ol =XIE Fletm UELICH
taking preemptive measures to protect themselves. Even 2o oSt we| X[Hols AFAL &F BA FRI2 S
though many of the towns and suburbs will be provided with U3t 5o 242 A= ofgte] 7 AP R Hxge=
additional means of fire prevention by government funds, M2 Z40|X|2t 022 ofw mfEct 0| Hol of Folgt
including better protection of access roads and safe places NE dZoil ASLCH B2 2HAH 8oz Sd =&
for residents, ©authorities are stressing caution this season 2 S Zheft Al 30| MZ 7HisM0| U=, 90|
x otsl=l 7o

more than in any previous season. Among some of the more

alarming developments are an extremely low rainfall this year

and the developing likelihood of an El Nifio weather pattern,

©@which would exacerbate dryness to unprecedented levels.

Q: What can be inferred from the article?

(a) The area is not financially equipped to take measures by

Q: 7IARS] LEZO0i| A

3

Lict.

(@) Ol X922 2422 FXIE F 2 XZ0| ZHH UK
itself. o}
LEEL
(b) The area is likely to have the longest bushfire season this (b) O] Xl 23 A 7[7i0| 7F& 2 ZHo|ct
year. _ (o) Ol A= M2 o Mzie o= olyEct
(c) This bushfire season is expected to be worse than (d) OftH A2 B2 oL BiAF (S0 WS Zo|c}

previous ones.
(d) This bushfire season will be shorter because of El Nifio.

CHET)

BlE2|of F0f ottt Hotes =

~ any previous season2 £ =2 1 0L miLCt o

unprecedented levelsE EH 4x80| Xef| Gi0| oA
= W& ()7t 7ty 82 FE0IC,,
(a) 29 Exgg 7Ict2|a oLt oo] M| =
g Fotn ooz o M= 52| E2
& 4 QUL
(o) A=9 = FE JtsotL, A=0| XI&E
712 =2 4 it
(d) A= R0l of MoiE Zdolct
bushfire A2 State Government &85  hamlet

authority &= exacerbate 2{StA|7|Ct

Ho| W Y4y Ay
7

= 59 ggo
252 shn
= O\O.{

A20| Hoid &=

(2ol 4] H
At

=2t
=z}

unprecedented M2 gl=

preemptive AHIEQI

goz O g Aol2t= WEOICE authorities are
Qltt, & which would exacerbate dryness to
£0| 4 =CL 0|20 23l AH=0| o &E Het

slEz|of o A= ZA| EHM

access road X2
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To whom it may concern, AR 2 st

| am writing to request a scholarship from your prestigious e Aatel YAl Q= RN= =

organization. | am a diligent honor student whose current guct M s foz 2l

financial circumstances are preventing him from fulfilling =28t 0g S9IE B SLCh A

his dream of graduating with an advanced degree in MRMEE HAH OFAIZIX L st

Physics. As you can see from my records, | was making o MFEE 7|25t oIt
65 1 Z1f,

excellent progress in my graduate studies, and | only had a Azt IE A2
X

2
ey
N

year left when | got into a serious car accident that left me XM= x=m

hospitalized for six weeks. As a result, | was released from 2 oldl M7t g2 1t 2 2l
my position as a teaching assistant. It was a great shock to 8l MI7F XS] glaol2h= A AN Mo & H
me: | now had to actually pay for the rest of my courses, o 71SlE =M B ASE £ JUEE ZEFAIZIE HIZL

and my medical bills had wiped me out. Hopefully, you will Cf, ZEAREHCt
be willing to grant me a second chance and allow me to

Albert K. Clemens 2
fulfill my dream. Thank you.

Sincerely,
Albert K. Clemens

Q: What can be inferred from the letter? Q: HXIoM =2 2+ A= A
(a) The student is expected to graduate as an honor (a) Sz 2E5Mo=2 EatA € Aotk
student. (b) 2 Sz 2u etz X6l ZC
(b) The organization offers teaching assistant scholarships, (c) Stlie 2HO=Z Qlo Zurt & 4 ik
too. (d) = 2wt 222 282 52 £ U SHEL
(c) The student cannot be a teaching assistant because of
injuries.
(d) The college allows teaching assistants to take courses
for free.
[ai&] Zu Helgs ot F22 g EH o

Mol z2m Xl2|E XAl =Xt o™t HsigE 2F6h| Sl & HXlo|ct
As aresult ~ teaching assistant@} | now had ~ my coursesZ E5H, 2&0|= O|M7IX|= = 2
HoLh Zu X2|E XA =X +YZFE Lok U 01 HIECR 0 tisfuo|Me ZunE ot s F82 52 4+ U

o Ugs 28 4 Aok

[27] 24]  (a) RSH0| =22tz 222 Sich [Ze 7d] 3z 2F HX|
(b) AN F= Yez2 EF= & + gleH, HXo| =4 Helg 2F
Zu Yolg x| RFE o 4 gloh i o 28
(c) 20| SM7IX] UK=Y 4 Qlen, B2 Feg eF ol
gotH 2UE 51X Relth= WEE glCh
[of2l] prestigious 2&2|  honor student 254  circumstance APY  advanced degree 112 SIQI(AAL 22 HIAD
hospitalize J&I5ict
PArt TIT ) voveoreeeeesseses e p.123
38. [=21% 52 nief]
Caricatures, or portraits that exaggerate or distort the MelAA, & d 252 g7 Lots 4~ UA=E st7| h
essence of a person or thing to create an easily identifiable ANZIO|LE AF2Ql 2EI2 TESHALE fZeiA T2l= =M
visual likeness, have a long and rich history in Western = MT AE0IA 2 AL 21 ZCh (a) Thomas
society. (a) Thomas Rowlandson and James Gillray were the Rowlandsonzt James Gillray= 18M|7| H=30i|lA &=t
greatest practitioners of this unique art-form in 18th-century 0] EE5t ola e EFYSH MIIIICE (b) O] & ols
Britain. (b) While they were great friends, these artists had Jh= HTISH AJOQCOLE £ AIZIO| AEIUS I HRACH
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[

very contrasting styles. (c) Rowlandson considered himself to be (c) Rowlandson2 A0 M2 Ofl&7t2tn 42kl
an artist first, and so his work was mostly inspired from the public 7| D20 19| AEL RE (i5oz82EH Hzig gt
at large, while Gillray was more interested in viciously satirizing 2 ot Gillrays Yotdoz xhilol MES Sof &
politicians and political life in general with his work. (d) xRl HAE HItE SAtoh=0l o 20| HUTE
Nowadays, caricaturists are most often found at parks, (d) 2& HelHAX 27E2 3, MNE 50| 3
boardwalks, amusement parks, and occasionally parties where 7182 OiEljAM =2 2t xH0|IQUe ZASIE we| O
they quickly sketch humorous portraits for a charge. HAELH
=] N 22 A BH 29 topicOl M7 FH2IHKS] SAlets WS Y 4 U (a), (b), ()= 25 18MI7| B=2 R
2IAHA Z7IS0l thet LIZ0IL, (d)= 2t 7H2IAX Z7ts9l S0l tiet ojofr(o|ct, 22 2 H2l7AX ZUtE tEtie
HolMe SHdE 4 oLt dtiel 0[0k7[9] (d)= 18MI712] LIER! o ST XIHARA AZEX| =it

[27] 241 (a) 18MI71S] RHS FH2l74X] 27tolCt, [Zel 74l FH2AHX =7t
(o) Zt7tel AEtY0| Ct2Cte Ligolot Thomas Rowlandsonzt James Gillray
(c) & HMelZAX Z7tel EFg thE1 ok At 2l R EY

[012] exaggerate IH&oICt distort HESICH identifiable AEE 4~ Q= likeness FAMY  practitioner ATt
viciously &&=7 satirize SXAISISICE  caricaturist SXILH7}

[=2]X S5 el

In the near future, lunar expeditions may yield more than ot B2 E5f HX|QZoF XA CHEt 20|22 TEE X2
interesting scientific data about the sphere: they may also 0|Ato] S Yot W 4 USK| B2M, T EHAlE AR s
provide a viable alternative fuel source, which could in turn st hx| H2E HEE += =, 0l F71 2 EHAIZ 0104
lead to further lunar exploration. (a) Experts have Z 4 Qltt (a) MRIIERS 0| 532t 22l Y49
estimated that the moon is a rich depository of an isotope SESt &I 0l oot Hol EY £0=2 & 0| T
called helium-3, possibly stretching meters down into the AU Hetn FHHCE (b) EHYSo| Qs ATE HE-
lunar soil. (b) Carried into these depths by solar winds, = BEXPIE S JH7t OtLjat SHLEE0IN ALY H7|ES o
helium-3 has one neutron instead of two and produces no SOLIX| 47| 2ol stA H=RO| of=dxel thy 2=t 2
radioactive waste, making it an attractive alternative to 2 QItt (0) EE-3= XF0= 01 =20, (EE 27|
fossil fuels. (c) Helium-3 is rare on earth and most often 2| oM BAZ2 YAE (d) 250! oUXIE st
found as a by-product in the maintenance of nuclear o 22 1 NASALIANS] =2 oMM, o e =Jio}
weapons. (d) Mining the moon for such efficient fuel is JHOl EXIXE7} Ol E Esol| FHoEIEE & 4 Tt
currently an agenda for NASA, and it could cause more

countries and private investors to join future lunar

exploration.

[aH&] 2o X7 £0f U= SHO| A HARZ MY 4 7| T2, olof thst ZHE0] 7|th=1 QA= WEOIT, ()= tHAl A=
2 MY 2 = SHEA HE-30) et HEE =0 UX[CH 0 AL thA| HREO| #l= SgstAl 241 T (a), (b), (d)
= 25 2 AR Q5 MER M o7 ol 23S Ux1 Jenz (s 29 S5 ofEalX| =l

[£7] 24]  (a) E0ll A= S|IEAL| Loi| Cigh LHE0]C [Ze 74]  =olM thAl X & Thsd
(o) CHAl OAX|Z MU 4 Q= O]FO0|CE gol oiEE 25-3 Ea
(d) CHAI oflAX|2] JHEroll chet Li&EolCt dE-39 7|

LIARS] b

[o1%]] expedition @& sphere 24 viable 282l exploration & depository 224 isotope ¢ 4

solar wind EHZE neutron &4Xt radioactive 2tAIS2| agenda A 2JX|
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A new device helps the blind and visually impaired see again O M22 X|= 5ol EH AFS 0|25 Hof & AS
by relying on the nerves on the tongue’s surface to send light £ gHozi AlZIEofoln 22 AIZFRIfQIS0| CiA| =
signals to the brain. (a) Numerous vision problems, including o QU SHZECE (a) LA SLHRN AR ZElot 22 &3
cataracts, glaucoma, and macular degeneration, can damage S A ZHIS2 =0 sIE T =0| 2= A2 Xj2
the eyes and limit the amount of visual data they pick up. (b) o| 2 Histettt (o) EQIZER} 22| 0| Xl M2
The device, called BrainPort, collects visual data through a 2tA9l of 7120 Q= CIXE H|CQ FiH2IE S5 A2t
small digital video camera in the center of a pair of FEE SEBICE (c) HEE =2 R3lei7tM o™ Hx(ofl
sunglasses. (c) The information bypasses the eye and travels — =2tet=d| ojuf & o Mx|= XXE Saf WHE 52
to a handheld base unit, which then sends the information to STt (d) 22iLt o] HEIL Al2le BEete ido/E
the tongue through a device resting on the tongue. (d) ol ==sk= 22X O%LIE” sio =2t Md2 Hzloh= of
However, no one is certain whether the information then | Rlof| =EEHE AQIX|0l CHaAME SHAIX| Qict
travels to the brain’s cortex dealing with vision or the cortex
dealing with touch-sensations on the tongue.
[ai&] AlZE ZoHRISO0] AIZE £ 4 UEE siFs BeffIZERl= FXlof theh tEolth X 22 B A new device ~ see
again0|2tn gtes=z 0| Fof= 0| ZX[ol et LiZ0] o|0{X[2l2ts Ae F2E 4 UCh (a)= AlZ 2X71 o™ ZuE
IIHRLEXIE 21 wggi HRlet= d# el UEolck
[27] 24] (o) HxI2l MPAet A& AHatn ACH [Zo 74] AR n¥E |
(c) HHol S5 HdYsta ok HYQIZES| I
(d) FE9 MY A=Z0i| ot LHZOIC B e B
o MY 42
[o13]] impaired 2{5l= nerve 414 bypass ?&/6lCt  handheld ZAE9| 439 cortex h=I|E sensation ZZ

A100 Answer key



